

### THREE VILLAGE CENTRAL SCHOOL DISTRICT STONY BROOK, NEW YORK

### **BOARD OF EDUCATION AGENDA MATERIALS**

DATE OF BOARD MEETING: September 16, 2020

DATE SUBMITTED: September 11, 2020

**OFFICE OF ORIGIN: District Clerk** 

**CATEGORY OF ITEM: Action** 

TITLE:

MINUTES OF JUNE 24, JUNE 29, AND JULY 8, 2020

### **Staff Recommendation:**

Be it RESOLVED that the Board of Education accept the minutes of the meeting listed, as presented.

NOT AN OFFICIAL RECORD; SUBJECT TO CHANGE

### THREE VILLAGE CENTRAL SCHOOL DISTRICT OF BROOKHAVEN AND SMITHTOWN

#### MEETING OF THE BOARD OF EDUCATION JUNE 24, 2020

Meeting of the Board of Education of the Three Village Central School District of Brookhaven and Smithtown held at the North Country Administration Center, 100 Suffolk Avenue, Stony Brook, New York 11790 on June 24, 2020 at 5:30 p.m.

Members present:

William F. Connors Jr., President Irene Gische, Vice President Deanna Bavlnka, Trustee Inger Germano, Trustee Jeffrey Kerman, Trustee Jonathan Kornreich, Trustee Vincent Vizzo, Trustee

Members absent:

Also present:

Cheryl Pedisich, Superintendent Jeffrey Carlson, Deputy Superintendent

Kevin Scanlon, Assistant Superintendent for Educational Services Gary Dabrusky, Assistant Superintendent for Human Resources

Kathleen Sampogna, District Clerk

Sarah Thornton, Student Representative to the Board

Visitors

CALL TO ORDER Mr. Connors called the meeting to order at 5:30 p.m.

MOVE INTO EXECUTIVE SESSION

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board moved immediately into Executive Session in accordance with Open Meeting Law to discuss the employment history of a particular person(s) and current litigation.

RECONVENE INTO PUBLIC SESSION The meeting reconvened into open session at 7:51 p.m. Mrs. Pedisich led the pledge of allegiance.

CHANGES IN THE MEETING AGENDA Replacement Page(s):

- Item T.1 Instructional Personnel Schedules A.5 and A.6
- Item T.2 Non- Instructional Personnel Schedule B.7, B.17b, and B.1

#### Addenda:

- S.1 Resolution Abolishing Positions and Terminating Employees with Least Seniority
- S.2 Approval of Appointment Agreement of Interim Guidance Coordinating Chairperson
- S.3 Approval of the 2020-2021 Salaries Schedule for Non-Aligned Employees Non Instructional
- S.4 Approval of the 2020-2021 Salaries Schedule for Non-Aligned Confidential Employees and District Clerk
- S.5 Approval of the 2020-2021 Superintendent and Assistant Superintendents Salaries Schedule
- S.10 Contract of Agreement Mine Everimen 2020-2021
- S.11 Contract of Agreement Jacqueline Catarelli 2020-2021
- S.12 Contract of Agreement Anita Garcia 2020-2021
- S.13 Contract of Agreement Lori Hunt 2020-2021
- S.14 Contract of Agreement Jacqueline Morreale 2020-2021
- S.15 Contract of Agreement District Clerk 2020-2021

#### Deleted:

• Item C - Appointment of Superintendent

PUBLIC PARTICIPATION

Public Comment was submitted via e-mail. Mr. Connors read submissions from Mr. Menten, Ms. Rosati, Ms. Talierco-Cohn, and Mr. Tracy.

Student Representative Report Sarah Thornton reported on student events.

ITEMS FOR BOARD DISCUSSION Mr. Komreich asked about distance learning plans and the committee process for the Reopening Task Force.

#### ITEMS FOR BOARD ACTION

Declaration of Results of the Annual Budget Vote and School Board Election Scheduled for June 9, 2020 with Vote Tally Taking Place Beginning June 16, 2020

Appointment of Election Workers for the June 9, 2020 School Budget Vote and Board Election with Vote Tally Beginning June 16, 2020 Whereas, in accordance with the Governor's Executive Order 202.26 the Board of Education held its Annual Budget Vote and School Board Election via Absentee Ballot on June 9, 2020, and in accordance with the Governor's subsequent Executive Order 202.39 ballots were tallied beginning June 16, 2020 at 5:00 p.m.,

Be it RESOLVED, that the Board of Education hereby accepts the Certificate of Elections dated June 17, 2020 and signed by the District Clerk.

On motion by Mrs. Gische, seconded by Mr. Kornreich, and carried by a 6-0-1 vote, with Dr. Kerman abstaining, the Board approved the resolution as presented.

Be it RESOLVED that the Board of Education hereby approves the appointment of the following individuals to serve as Chairperson and Election Inspectors for matters related to conducting the District's Budget Vote and School Board Election:

#### Chairperson-\$30.00 per hour:

#### Donna Pesapane

#### Election Inspectors - \$25,00 per hour:

Dianna DeAngelis	Heather Smith	Jennifer Catsoris	Madlyn Heiberger
Sherri DeCarolis	Cathy Axelsen	Alyssa Ward	Danielle Vereline
Donna Wiberly	Cari Freiss	Michele Gart	Joanne Gioffre
Joanne Whalen	Margaret Napoli	Fran Padrazo	
Sally Loria	Marie Brown	Kristine Wells	

On motion by Mr. Vizzo, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approve Resolution in Support of State and Federal Support for Public Schools to Prevent the COVID-19 Shutdown from Damaging Education Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the Board of Education approve the resolution in support for public schools to prevent the COVID-19 shutdown from damaging education In New York State.

Resolution in Support of State and Federal Support for Public Schools to Prevent the COVID-19 Shutdown from Damaging Education in New York State

Whereas, New York State has reported a \$13 billion budget deficit which has been exacerbated by declining state revenues due to the COVID-19 crisis;

Whereas, States need significant support from the federal government to help ensure the immediate continuation of important and essential services such as public education;

Whereas, the federal-state partnership is the lynchpin to responding and recovering from the COVID-19 crisis;

Whereas, the State has the primary responsibility to fund public education;

Whereas, Article XI Section 1 of the New York State Constitution provides that the "The legislature shall provide for the maintenance and support of a system of free common schools, wherein all the children of this state may be educated";

Whereas state courts have upheld that he state has the legal responsibility to provide proper funding for public schools;

Whereas, the State on average provides less than 40% of the total revenues to school districts;

Whereas, public school districts are owed over \$3.8 billion in Foundation Aid for the 2020-21 school year;

Whereas, the legislature is considering multiple proposals that will raise much needed revenue for New York State, including increasing taxes on billionaires and multimillionaires;

Now therefore be it RESOLVED that the Three Village Central School District requests that the elected leaders in the State of New York act to preserve education programs and related jobs to ensure that the COVID-19 crisis does not damage the quality of public education in our state;

RESOLVED further that the Three Village Central School District urges the State Legislature to act and immediately pass legislation that will increase revenue before the end of this legislative session:

RESOLVED further that we request the federal government to provide additional support to public education to assist states that have had revenue losses due to the COVID-19 crisis.

On motion by Mr. Vizzo, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Bids B20-004 – Commodity Warehouse Pickup; B20-005 – Driver & Traffic Safety Education Up the recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education award the following bids, as presented:

Bid Title	Awarded Vendor	Bid Number
Commodity Warehouse Pick-Up Driver Traffic Safety Education	Lombardi Trucking Turning Point Driving School, Inc.	B20-004 B20-005

On motion by Dr. Kerman, seconded by Mr. Komreich, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

#### Joint Representation

Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the Board of Education approve the attached Resolution authorizing Ingerman Smith, LLP to engage in the joint representation of Smithtown CSD, South Country CSD, and Three Village CSD with regard to the action of Sayville vs. SSEHP, and that the Board President be authorized to sign the Notice and Waiver of Conflict of Interest.

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Authorize Guercio & Guercio, LLP to File Proof of Claims Under Nassau County Supreme Court Index NO. 604469/2020

Upon recommendation of the Superintendent of Schools, be it hereby RESOLVED that the Board of Education authorize the law firm of Guercio & Guercio, LLP to file proof of claims on behalf of Three Village CSD in the Nassau County Supreme Court in the Matter of the General Assignment of the Benefit of Creditors proceeding as per the attached resolution.

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

#### Transportation Services

Upon recommendation of the Superintendent of Schools be it hereby RESOLVED that the Board of Education extend transportation contracts for the 2020-21 school year to Suffolk Transportation Service, Inc. as follows:

Contract #	Amount
1B - Large buses	\$5,025,416.20
3 - Athletic Trips	\$ 316,483.43
4 - Field Trips	\$ 147,743.60

On motion by Mrs. Gische, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

#### Min-Bus Transpiration Services

Upon recommendation of the Superintendent of Schools, be it hereby RESOLVED that the Board of Education award transportation contracts for mini-bus service for the 2020-21 school year to Suffolk Transportation Service, Inc. as follows:

Contract #	Amount
1B - School Year	\$3,612,220
2 – Summer	\$ 159,904

On motion by Mrs. Gische, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

#### Authorize Participation in Cooperative Bids

Upon recommendation of the Superintendent of Schools, be it RESOLVED that the Board of Education approve the attached resolution authorizing participation in cooperative bids for cafeteria and food supplies for the Child Nutrition Program for the 2020-2021 school year and

for Cafeteria and Food Supplies that the President of the Board of Education be authorized to execute same.

Be it further resolved that the Board of Education authorize the purchase of cafeteria and food supplies, as needed, and award the vendors for these purchases pursuant to the contracts presented through the Long Island School Nutrition Directors' Association's co-op bids, as attached.

On motion by Mrs. Gische, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Establish Health & Welfare Services Rate for 2019-2020 Upon the recommendation of the Superintendent of Schools be it resolved that the Board of Education establish the following rate for the provision of health and welfare services to out-of-district students attending non-public schools in the district for the 2019-20 school year:

\$1,333.06 per pupil

On motion by Mrs. Gische, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approval of Health and Welfare Services Contract Upon recommendation of the Superintendent of Schools be it resolved that the Board of Education approve the contract for health and welfare services for the 2019-2020 school year with the following school district:

Brentwood UFSD

4 Students

@ \$561.64 = \$2,246.56

On motion by Mrs. Gische, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approval of Extension of Contracts with Outside Providers for Special Educational Services Upon recommendation of the Superintendent of Schools be it resolved that the Board of Education approve the extension of *Consultant Services Contracts* for special educational services for the 2020-2021 school year with the following providers:

- Childhood Anxiety Solutions, LCSW, PLLC
- Eden II/Genesis Programs

On motion by Mrs. Gische, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approval of Addendum to Contract with Outside Service Provider for Special Educational Tutoring Services

Approval of

Providers for Special

Educational

Services

Contracts with Outside Service Upon recommendation of the Superintendent of Schools, be it resolved that the Board of Education approve the attached addendum to the previously approved *Consultant Services Contract* for special educational services with the following provider:

Sunshine Alternative Education Center

On motion by Mrs. Gische, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Upon recommendation of the Superintendent of Schools be it resolved that the Board of Education approve the *Consultant Services Contracts* for special educational services for the 2020-2021 school year with the following providers:

- The Speech-Language Place
- · Positive Behavior Support Consulting & Psychological Resources, P.C.
- ACLD-Adults and Children with Learning and Developmental Disabilities, Inc.

On motion by Mrs. Gische, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented

Approval of Special Education Tuition Contract Upon recommendation of the Superintendent of Schools be it resolved that the Board of Education approve the contract for instruction/services to be provided by the school listed below to Three Village Central School District students for the 2019-2020 school year.

· Little Flower Union Free School District

On motion by Mrs. Gische, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Acceptance of Donations Upon the recommendation of the Superintendent of Schools be it resolved that the Board of Education accept with gratitude the following:

- A check in the amount of \$200.00 donated by Myung-Geun Han and Young Ran Yoo to our Food Pantry to help support the needs of the Three Village community.
- A check in the amount of \$425.00 donated by The Poggi family to our Food Pantry to help support the needs of the Three Village community.
- A check in the amount of \$135.00 donated by the families of Mrs. Scali's
  6th grade students at Setauket Elementary to our Food Pantry to help
  support the needs of the Three Village community.
- A scholarship check in the amount of \$5,000.00 from Suffolk
  Transportation Service, Inc. in recognition of the girls cross-country, boys
  golf, girls swimming and boys & girls fencing Section XI championships.
  The money will be deposited into the Suffolk Transportation scholarship
  fund TE092.10.
- A check in the amount of \$1,040.00 donated by the Setauket PTA for a BOCES Cultural Arts in Education program at Setauket ES.

On motion by Mrs. Gische, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Declaration of Surplus Equipment Upon the recommendation of the Superintendent of Schools, be it resolved that the items listed below be declared surplus and disposed of in the best interest of the Three Village Central School District.

Item Description	<u>Model</u>	Serial #	Three Village#	Condition	Location
Electric Range	JBP21WH1WW	MG297373P	20081170	Poor	Gelinas-Special Ed Room
48 – Student Desks	N/A	N/A	N/A	Poor	Gelinas-Math, English, Special

On motion by Dr. Kerman, seconded by Mr. Vizzo, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approval of
Memorandum of
Agreement
Between the Three
Village Central
School District,
the Three Village
Schools
Administrators
Association and
the Employee
Named in
Confidential
Schedule "A"

Be it RESOLVED, that upon the recommendation of the Superintendent of Schools, the Board of Education hereby approves the Memorandum of Agreement with the Three Village Schools Administrators Association and the employee named in Confidential Schedule "A" and authorizes the Board President to execute such Agreement.

On motion by Mrs. Gische, seconded by Mr. Vizzo, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Resolution Abolishing Positions and Terminating Employees with Least Seniority RESOLVED, that upon the recommendation of the Superintendent of Schools, the Board of Education hereby abolishes the subsequent positions in the following Teacher job titles, for the purposes of economy and efficiency.

Job Title	No. of Positions
English Teacher	2.0
Health Teacher	1.0
Teaching Assistants	4.0

Be it further RESOLVED, the employment of the aforementioned employees having the least seniority in the District, shall be discontinued, effective July 1, 2020. The following employees are hereby excessed:

	Name	<u>Job Title</u>	FTE Excessed
	Katherine Correa Christine Solntzeff Stephanie Shay Denielle Cassata Kaitlin DiBella Noelle Russolillo Peter Ryan	English Teacher English teacher Health Teacher Teaching Assistant Teaching Assistant Teaching Assistant Teaching Assistant Teaching Assistant	1.0 1.0 1.0 1.0 1.0 1.0
	on by Mrs. Gische, seconded by I the resolution as presented.	Mr. Vizzo, and carried by a 7-0	-0 vote, the Board
the terms Adminis Chairper	VED, that the Board of Educations of the appointment Agreement trators' Association, and Lindal son at Ward Melville High Schom to execute the Agreement on the second of the second of the Agreement on the second of the second	between the Board, the Three V Bergson, as the Interim Guidanc ool, and hereby authorizes the Pi	'illage Central School e Coordinating
	on by Mrs. Gische, seconded by I the resolution as presented.	Mr. Vizzo, and carried by a 7-0	-0 vote, the Board
Educatio	VED, that upon the recommenda in hereby approves the attached for the 2020-221 school year.	tion of the Superintendent of Sc Non-aligned Employees – Non-	hools, the Board of Instructional salaries
	on by Mrs. Gische, seconded by I the resolution as presented.	Ms. Germano, and carried by a	7-0-0 vote, the Board
of Educa	SOLVED, that upon the recomm tion of the Three Village Centra ct Clerk salaries and District Tre	al School District approves the n	on-aligned Confidential
	on by Mr. Vizzo, seconded by M d the resolution as presented.	frs. Gische, and carried by a 7-0	-0 vote, the Board
Contract	SOLVED, that upon the recomm of Agreement between Confide on be approved.	nendation of the Superintendent ential Clerical, Mine Eveimen an	of Schools, the d the Board of
	on by Dr. Kerman, seconded by If the resolution as presented	Mr. Vizzo, and carried by a 7-0	-0 vote, the Board
Contract	SOLVED, that upon the recomr of Agreement between Confiden on be approved.		
On motion	on by Dr. Kerman, seconded by d the resolution as presented.	Mr. Vizzo, and carried by a 7-0	-0 vote, the Board
	SOLVED that upon the recomment between Confidential Clered.		
On motion	on by Dr. Kerman, seconded by d the resolution as presented	Mr. Vizzo, and carried by a 7-0	-0 vote, the Board
	SOLVED that upon recommend ent between the Confidential Cle d.		
	on by Dr. Kerman, seconded by d the resolution as presented	Mr. Vizzo, and carried by a 7-0	-0 vote, the Board

Contract of Agreement – Jacqueline Morreale 2020-2021

Approval of

Appointment Agreement of

Coordinating

Chairperson

Approval of the 2020-2021

Salaries Schedule

for Non-Aligned

Instructional

2020-2021

Contract of

Approval of the

Salaries Schedule

for Non-Aligned Personnel

Agreement - Mine

Evcimen 2020-2021

Contract of

Agreement -

Jacqueline Catarelli 2020-

Contract of

Agreement -

Anita Garcia

2020-2021

Contract of

Agreement - Lori

Hunt 2020-2021

2021

Employees - Non-

Interim Guidance

Be it RESOLVED that upon recommendation of the Superintendent of Schools, the Contract of Agreement between Confidential Clerical, Jacqueline Morreale and the Board of Education be approved.

On motion by Dr. Kerman, seconded by Mr. Vizzo, and carried by a 7-0-0 vote, the Board approved the resolution as presented  $\,$ 

Contract of Agreement – District Clerk 2020-2021 Be it RESOLVED that upon the recommendation of the Superintendent of Schools, the Contract of Agreement between the Board of Education of the Three Village Central School District and Kathleen Sampogna as District Clerk, be approved.

On motion by Dr. Kerman, seconded by Mr. Vizzo, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

#### Personnel Matters

Instructional

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Three Village Board of Education approve the instructional personnel items as described in the schedules listed below:

#### RETIREMENT

Name	School/ Assignment	Effective Date	Date of Hire
Cottone, Rosemary	Nassakeag/Special Education Teacher	6/30/20	10/10/83
Gregory, Glenda	Ward Melville HS/Social Worker	6/30/20	5/7/90
Hurley, Terri	Ward Melville HS/Teaching Assistant	6/30/20	9/1/01
Lynch, Mary	Academy/Psychologist	6/30/20	9/1/84
McGaley, Kevin	Gelinas JHS/Guidance Counselor	6/30/20	9/1/84
Murolo, Nancy Ellen	North Country/Assistive Technology Specialist	6/30/20	9/24/86
Nagle, Tina	Gelinas JHS/Social Studies Teacher	6/30/20	9/1/86
Peters, Toni	Arrowhead/Speech Teacher	6/30/20	9/1/85
Von Bargen, Janet	Mount/Elementary Teacher	6/30/20	9/1/96
White, Angela	Murphy JHS/Paraprofessional	6/30/20	4/25/01

#### RESIGNATIONS

Name	School/Assignment	Effective Date	Date of Hire					
Connolly, Erin	Ward Melville High School/ Assistant Principal	6/30/2020	9/1/1999					
	Ms. Connolly is resigning in order to accept the Executive Director of Student & Community Services position at North Country Administration Center.							
Tavitan, Michael	Ward Melville HS/ Science Teacher	6/30/20	8/30/17					

# APPOINTMENT TO INSTRUCTIONAL POSITIONS

Bergson, Linda

Interim Guidance Coordinating Chairperson

Queens College - BS

C.W. Post College – MS, SDA/SAS Previous Tenure – Yes Related to current employee – No

Salary: \$650 per day Effective: 7/1/20 – 6/30/21

This is an interim appointment effective 7/1/20-6/30/21. This appointment is due to the retirement of Ms. Bergson effective 6/30/20.

Connolly, Erin

Executive Director of Student & Community

Services

Lehigh University - BS LIU at C.W. Post - MS SUNY Stony Brook - SBL Previous Tenure - Yes

Related to current employee - Yes

Salary: \$175,000 Effective: 7/1/2020

This is a three-year probationary appointment with an anticipated tenure date of 7/1/2023. Ms. Connolly is the wife of Robert Connolly, a teacher at Arrowhead Elementary School. Ms. Connolly is currently an Assistant Principal in the District and has been an employee of the District since 9/1/1999.

Gold, Paul

Assistant Principal/Director of Social

Studies K-12\* SUNY Purchase – BA Dowling College – MS Dowling College - Ed.D

Previous Tenure - Yes Related to current employee - No Salary: \$158,193 + \$16,307(Coord. Chair Stipend)

Effective: 7/1/20

This is a three year probationary appointment with tenure due 7/1/23. This appointment is due to the reassignment of Erin Connolly. Dr. Gold will be assigned to Ward Melville High School for the 2020-21 school year. Dr. Gold is currently working in the District and fingerprint clearance for employment is on file.

### New Probationary Administrators:

DeMartino, Nicolette

All probationary appointments made on or after July 1, 2015 are subject to the new four-year probationary period. Effective June 1, 2020, regarding individuals beginning their probationary periods on or after June 1, 2020, provided the administrator has previously been granted tenure in an authorized administrator tenure area in the current school district, another NYS school district or BOCES, and not dismissed from such district or BOCES, he or she shall be appointed for a probationary period of three years.

In order to be eligible for tenure, an individual receiving a probationary appointment as a classroom teacher or building principal must receive annual composite or overall APPR rating of H or E in the last three of the four preceding years, and if the individual receives a rating of I in the final year of the probationary period, he or she will not be eligible for tenure at that time.

#### APPOINTMENT TO INSTRUCTIONAL POSITONS

Crowley, Kaitlyn One-year, Leave Replacement Speech Teacher

Queens College - BA Molloy College – MS Previous Tenure - No Related to current employee - No Salary Step/Level - 3/MA Effective: 9/2/20 - 6/30/21

This is a one-year, leave replacement appointment effective 9/2/20 - 6/30/21. This appointment is due to the childcare leave of absence of Jennifer Shea. Ms. Crowley will be assigned to Paul J. Gelinas Junior High School for the 2020-21 school year. Ms. Crowley is currently working in the District and fingerprint clearance for employment is on file.

Science Teacher SUNY Binghamton - BS Queens College - MA Previous Tenure - No

Related to current employee - No Salary: Step/Level - 2/MA

Effective - 9/2/20

This is a four-year, probationary appointment with an anticipated tenure date of 9/2/24. This appointment is due to the vacancy of Edward Fontana-Daguerre. Ms. DeMartino will be assigned to Gelinas Junior High School for the 2020-2021 school year. Ms. DeMartino is currently working in the District and fingerprint clearance for employment is on file.

One-year, part-time (.5) Mathematics Teacher Downer, Matthew

SUNY Stony Brook - BS, MA

Previous Tenure - No

Related to current employee - No

Salary: Step/Level  $1/MA - $63,011 \times .5 = $31,506$ 

Effective: 9/2/20 - 6/30/21

This is a one-year, part-time (.5) appointment effective 9/2/20 - 6/30/21. This appointment is due to the reassignment of Matthew Fyfe. Mr. Downer will be assigned (.5) to Gelinas Junior High School for the 2020-2021 school year. Mr. Downer is currently working in the District and fingerprint clearance for employment is on file.

Library Media Specialist Dove, Ellen

University of Miami - BS Queens College - MA Previous Tenure - Yes

Related to current employee - No Salary: Step/Level - 3/MA+60

Effective - 9/2/20

This is a four-year probationary appointment with an anticipated tenure date of 9/2/24. This appointment is due to the resignation of Kayla McNaughton. Ms. Dove will be assigned to Setauket Elementary School for the 2020-2021 school year. Fingerprint clearance for employment has been received.

Gabriele, Ashley

School Psychologist University of Delaware – BS St. John's University – MS Previous Tenure – No

Related to current employee – No Salary: Step/Level – 1/MA+60

Effective - 9/2/20

This is a four-year probationary appointment with an anticipated tenure date of 9/2/24. This appointment is due to the retirement of Mary Lynch. Ms. Gabriele will be assigned (.6) Arrowhead Elementary/(.4) Setauket Elementary Schools for the 2020-2021 school year. Fingerprint clearance for employment has been received.

Poidomani, Colleen

Music Teacher

Providence College – BA Boston University - MM Previous Tenure – No

Related to current employee - No

Salary: Step/Level 4/MA Effective - 9/2/20

This is a four-year probationary appointment with an anticipated tenure date of 9/2/24. This appointment is due to an increase in staffing. Ms. Poidomani will be assigned to Arrowhead Elementary School for the 2020-21 school year. Ms. Poidomani is currently working in the District and fingerprint clearance is on file.

Tunkel, Vinny

One-year Leave Replacement Music Teacher

Lee University - BA

Adams State University - MM Previous Tenure - No

Related to current employee – No Salary Step/Level - 4/MA Effective: 9/2/20 – 6/30/21

This is a one-year leave replacement appointment, effective 9/2/20 - 6/30/21. This appointment is due to the leave of absence of Claudia Reinhart. Mr. Tunkel will be assigned (.7) to Ward Melville High School/(.2) Arrowhead Elementary/(.1) Three Village Academy for the 2020-21 school year. Mr. Tunkel is currently working in the District and fingerprint clearance for employment is on file.

#### New Probationary Teachers:

All probationary appointments made on or after July 1, 2015 are subject to the new four-year probationary period. In order to be eligible for tenure, an individual receiving a probationary appointment as a classroom teacher or building principal must receive annual composite or overall APPR rating of H or E in the last three of the four preceding years, and if the individual receives a rating of I in the final year of the probationary period, he or she will not be eligible for tenure at that time.

APPOINTMENTS TO SUBSTITUTE TEACHER/NURSE/PARAPROFESSIONAL/ TEACHING ASSISTANT POSITIONS

### Substitute Teachers

#### Cottone, Rosemary

Ms. Cottone is retiring from her teaching position effective 6/30/2020 and has asked to be added to the substitute teacher list. This position is contingent on fingerprint clearance.

#### Nagle, Tina

Ms. Nagle is retiring from her teaching position effective 6/30/2020 and has asked to be added to the substitute teacher list. This position is contingent on fingerprint clearance.

#### Ouzounian, Marisa

Ms. Ouzounian is retiring from her teaching position effective 6/30/2020 and has asked to be added to the substitute teacher list. This position is contingent on fingerprint clearance.

#### O'Brien, Pamela

Ms. O'Brien retired from her teaching position effective 6/30/2019 and has asked to be added to the substitute teacher list. This position is contingent on fingerprint clearance.

#### Peters, Ton

Ms. Peters is retiring from her teaching position effective 6/30/2020 and has asked to be added to the substitute teacher list. This position is contingent on fingerprint clearance.

#### Schwartz, Ellen

Ms. Schwartz is retiring from her teaching position effective 6/30/2020 and has asked to be added to the substitute teacher list. This position is contingent on fingerprint clearance.

VonBargen, Janet
Ms. VonBargen is retiring from her teaching position effective 6/30/2020 and has asked to be added to the substitute teacher list. This position is contingent on fingerprint clearance.

# APPOINTMENTS TO ATHLETIC POSITIONS

			- "-							
<u>Last</u> Name	First Name	<u>Buil-</u> ding	Assign- ment	Effec- tive	<u>Step</u>	<u>Year</u>	<u>Total</u> <u>Years</u>	Stipend	Status	End Date
Junior High Ama-	Coaches Dino	Gelinas	Football	Fall	3	15	19	\$5,322.00	In	9/8/20-
tulle Baker	Brian	Murphy	7/8 Football	Fall	3	1	5	\$5,322.00	District In	11/6/20 9/8/20-
Barnett	Meghan	Murphy	7/8 Cheerlea	Fall	3 .	3	7	\$5,322.00	District In	11/6/20 9/8/20-
Carroll	Frank	Murphy	ding 7/8 Football	Fall	3	13	17	\$5,322.00	District In	11/6/20 9/8/20-
Grippa	Chris	Gelinas	7/8 Girls Cross Country	Fall	3	10	15	\$5,322.00	District In District	11/6/20 9/8/20- 11/6/20
Норреу	Michael	Gelinas	7/8 Girls Tennis 7/8	Fall	3	25	29	\$5,322.00	Retired	9/8/20- 11/6/20
Kon- czynin	Allyson	Murphy	Girls Tennis 7/8	Fall	3	3	7	\$5,322.00	In District	9/8/20- 11/6/20
Loren- zen	Jennifer	Gelinas	Field Hockey	Fall	3	17	21	\$5,322.00	In District	9/8/20- 11/6/20
Mc-	Brendan	Gelinas	7/8 Football	Fall	3	5	9	\$5,322.00	ln District	9/8/20- 11/6/20
Namara Mon- ahan	Jennifer	Murphy	7/8 Girls Cross Country 7/8	Fall	3	9	11	\$5,322.00	In District	9/8/20- 11/6/20
Neu- berger	John	Gelinas	Boys Soccer 7/8	Fall	3	4	8	\$5,322.00	In District	9/8/20- 11/6/20
Rippe	Claudia	Gelinas	Boys Cross Country	Fall	3	l	5	\$5,322.00	In District	9/8/20- 11/6/20
Schne- ttler	Garrett	Murphy	7/8 Boys Cross Country	Fall	2	2	4	\$5,163.00	In District	9/8/20- 11/6/20
Thomas	Caitlin	Gelinas	7/8 Girls Soccer 7/8	Fall	2	2	4	\$5,163.00	Out of District	9/8/20- 11/6/20
Will- iams	Louise	Gelinas	Girls Soccer 7/8	Fall	3	5	9	\$5,322.00	In District	9/8/20- 11/6/20
High Schoo	l Coaches									
Aberg	Joshua	WMHS	JV Boys Volleyb	Fall	i	2	2	\$6,724.00	Out of District	8/24/20- 10/22/20
Alex- ander	Quinn	WMHS	all Asst. Varsity Field	Fall	3	4	8	\$7,160.00	Out of District	8/24/20- 10/21/20
Berger	Danielle	WMHS	Hockey JV Cheerlea	Fall	1	2	2	\$6,724.00	Out of District	8/24/20- 11/7/20
Blunt	Haley	WMHS	ding Varsity Girls Volley-	Fall	3	1	5	\$7,920.00	Out of District	8/24/20- 10/22/20
Boltrek	Chris	WMHS	ball Varsity	Fall	3	7	11	\$10,803.00	ln District	8/24/20- 11/7/20
Brand	Amy	WMHS	Football JV Field Hockey Head	Fall	2	l	3	\$6,945.00	Out of District	8/24/20- 10/21/20
Cardella	Alex- andra	WMH\$	Varsity Cheerlea ding	Fall	l	2	2	\$6,724.00	Out of District	8/24/20- 11/7/20
Cottone	Sarah	WMHS	Asst. Asst. Var. Girls Cross Country	Fall	1	2	2	\$6,724.00	Out of District	8/24/20- 10/16/20

Crasa	Caryl	WMHS	Varsity Girls Gym-	Fall	3	25	30	\$7,920.00	Out of District	8/24/20- 10/28/20
Deluca	Ryan	WMHS	nastics Varsity Boys Cross	Fall	3	1	5	\$7,920.00	Out of District	8/24/20- 10/16/20
Diehl	John	WMHS	Country Varsity Girls	Fall	3	14	19	\$7,920.00	In District	8/24/20- 10/22/20
Feiπ- andes	Charles	WMHS	Soccer Varsity Boys Volley-	Fall	3	21	26	\$7,920.00	In District	8/24/20- 10/22/20
Gass	Georgia	WMHS	ball Varsity Cheer-	Fali	2	2	4	\$7,683.00	Out of District	8/24/20- 11/7/20
Gordon	Chris	WMHS	leading Varsity Girls Swim-	Fall	3	23	27	\$7,920.00	Out of District	8/24/20- 10/22/20
Jantzen	Leah	WMHS	ming JV Girls Volley-	Fall	2	I	3	\$6,945.00	In District	8/24/20- 10/22/20
Klouda	Christine	WMHS	ball JV Girls	Fall	3	3	7	\$7,160.00	Out Of	8/24/20- 10/7/20
La- Rochelle	Christo- pher	WMHS	Tennis Asst. Var. Girls	Fall	3	1	5	\$7,160.00	District In District	8/24/20- 10/22/20
Melfi	Louis	WMHS	Soccer Asst. Varsity Girls Volley- ball	Fall	2	I	3	\$6,945.00	Out of District	8/24/20- 10/22/20
Musc- arella	Chris	WMHS	Asst. Varsity Football	Fall	3	4	8	\$9,409.00	In District	8/24/20- 11/7/20
Nill	Robert	WMHS	Asst. Varsity Boys Cross	Fall	1	2	2	\$6,724.00	Out of District	8/24/20- 10/16/20
O'Shaug hnessey	Brian	WMHS	Asst. Varsity Boys Volley-	Fall	2	2	4	\$6,945.00	In District	8/24/20- 10/22/20
Perfetti	Jeff	WMHS	ball Asst. Var. Girls Swim-	Fall	3	8	13	\$7,160.00	Out Of District	8/24/20- 10/22/20
Petruzzi	Daniel	WMHS	ming JV Football	Fall	3	1	5	\$9,409.00	In District	8/24/20- 11/7/20
Pulaski	Joseph	WMHS	Head JV Boys	Fall	ļ	2	2	\$6,724.00	ln Distribut	8/24/20-
Sioss	Shannon	WMHS	Soccer Varsity Field	Fall	3	13	18	\$7,843.00	District In District	10/21/20 8/24/20- 10/21/20
Sorbein	Jonathan	WMHS	Hockey JV Football Asst.	Fall	1	2	2	\$8,836.00	Out of District	8/24/20- 11/7/20
Spira	Robert	WMHS	Varsity Boys	Fall	3	10	15	\$6,368.00	ln District	8/24/20- 11/7/20
Sussin	Erick	WMHS	Golf Varsity Girls	Fail	3	9	14	\$7,920.00	In District	8/24/202 0-
Youngs	Tom	WMHS	Tennis Varsity Girls Cross Country	Fall	3	15	20	\$7,920.00	In- district	10/7/20 8/24/20- 10/16/20
Athletic Co	Athletic Coordinators									
Oliver	Vincent	Murphy	Athletic Coordin ator	Sept- June			4	\$14,424.00	In- District	9/8/20- 6/4/21
Athletic Su	pervision									
Aberg	Joshua	District	Athletic Super-	2020- 2021					Out of District	\$2,500.00
Alex- ander	Quinn	District	vision Athletic Super- vision	2020- 2021					Out of District	\$2,500.00

Ama- tulle	Dino	District	Athletic Super- vision	2020- 2021	In District	\$2,500.00
Ande- rson	Cathe- rine	District	Athletic Super-	2020- 2021	In District	\$2,500.00
And- erson	Phoebe	District	vision Athletic Super-	2020- 2021	Retired	\$2,500.00
Ange- imeier	Derek	District	vision Athletic Super-	2020- 2021	in District	\$2,500.00
Anza- lone	Rick	District	vision Athletic Super-	2020- 2021	Retired	\$2,500.00
Aponte	Michelle	District	vision Athletic Super-	2020- 2021	In District	\$2,500.00
Baker	Brian	District	vision Athletic Super- vision	2020- 2021	In District	\$2,500.00
Barnett	Meghan	District	Athletic Super- vision	2020- 2021	ln District	\$2,500.00
Bene- detto	Nicole	District	Athletic Super- vision	2020- 2021	In District	\$2,500.00
Berger	Danielle	District	Athletic Super- vision	2020- 2021	Out of District	\$2,500.00
Beny	Roseann	District	Athletic Super- vision	2020- 2021	In District	\$2,500.00
Blunt	Haley	District	Athletic Super- vision	2020- 2021	Out of District	\$2,500.00
Boltrek	Chris	District	Athletic Super- vision	2020- 2021	In District	\$2,500.00
Brand	Amy	District	Athletic Super- vision	2020- 2021	Out of District	\$2,500.00
Brown	Matthew	District	Athletic Super- vision	2020- 2021	Out of District	\$2,500.00
Brun- quell	Michelle	District	Athletic Super- vision	2020- 2021	In District	\$2,500.00
Bryant	Jeffrey	District	Athletic Super- vision	2020- 2021	ln District	\$2,500.00
Buck- stein	Dennis	District	Athletic Super- vision	2020- 2021	Out of District	\$2,500.00
Buys	Megan	District	Athletic Super- vision	2020- 2021	ln District	\$2,500.00
Cald- well	Juliana	District	Athletic Super- vision	2020- 2021	in District	\$2,500.00
Capan- zano	Jared	District	Athletic Super- vision	2020- 2021	Out of District	\$2,500.00
Cardella	Alex- andra	District	Athletic Super- vision	2020- 2021	Out of District	\$2,500.00
Carroll	Frank	District	Athletic Super- vision	2020- 2021	ln District	\$2,500.00
Chacon	Enrico	District	Athletic Super- vision	2020- 2021	ln District	\$2,500.00
Chap- man	Craig	District	Athletic Super- vision	2020- 2021	In District	\$2,500.00
Cher- nakoff	Emily	District	Athletic Super- vision	2020- 2021	In District	\$2,500.00
Chim- ienti	Jennifer	District	Athletic Super- vision	2020- 2021	In District	\$2,500.00
Choon- awala	Sakina -	District	Athletic Super- vision	2020- 2021	ln District	\$2,500.00
Cifuni	Matt	District	Athletic Super- vision	2020- 2021	In District	\$2,500.00
Cohen	Scott	District	Athletic Super- vision	2020- 2021	In District	\$2,500.00

Cohen	Adam	District	Athletic Super-	2020- 2021	Out of District	\$2,500.00
Cole- man	Rick	District	vision Athletic Super-	2020- 2021	Out of District	\$2,500.00
Conn- olly	Robert	District	vision Athletic Super- vision	2020- 2021	In District	\$2,500.00
Corrie	Michael	District	Athletic Super- vision	2020- 2021	Out of District	\$2,500.00
Cotes	Allison	District	Athletic Super- vision	2020- 2021	Out of District	\$2,500.00
Cottone	Sarah	District	Athletic Super- vision	2020- 2021	Out of District	\$2,500.00
Crasa	Caryl	District	Athletic Super- vision	2020- 2021	Out of District	\$2,500.00
Cum- ings	Danielle	District	Athletic Super- vision	2020- 2021	ln District	\$2,500.00
Damis	Jillian	District	Athletic Super- vision	2020- 2021	In District	\$2,500.00
Danks	Charles	District	Athletic Super- vision	2020- 2021	In District	\$2,500.00
David	Lindsey	District	Athletic Super- vision	2020- 2021	In District	\$2,500.00
Deluca	Ryan	District	Athletic Super- vision	2020- 2021	Out of District	\$2,500.00
Del- vallez	William	District	Athletic Super- vision	2020- 2021	Out of District	\$2,500.00
DeRosa	Mike	District	Athletic Super- vision	2020- 2021	In District	\$2,500.00
Diana	Kerry	District	Athletic Super- vision	2020- 2021	ln District	\$2,500.00
Diehl	John	District	Athletic Super- vision	2020- 2021	In District	\$2,500.00
Dion	Jean Pierre	District	Athletic Super- vision	2020- 2021	In District	\$2,500.00
DiStasi	Vincent	District	Athletic Super- vision	2020- 2021	ln District	\$2,500.00
Domicik	James	District	Athletic Super- vision	2020- 2021	ln District	\$2,500.00
Driscoll	Christina	District	Athletic Super- vision	2020- 2021	ln District	\$2,500.00
Edson	Jamie	District	Athletic Super- vision	2020- 2021	Out of District	\$2,500.00
Elliot	Doug	District	Athletic Super- vision	2020- 2021	In District	\$2,500.00
Ellis	Jenna	District	Athletic Super- vision	2020- 2021	Out of District	
Ennis	Jessica	District	Athletic Super- vision	2020- 2021	ln District	\$2,500.00
Esnes	Heather	District	Athletic Super- vision	2020- 2021	In District	\$2,500.00
Esser	Ken `	District	Athletic Super- vision	2020- 2021	ln District	\$2,500.00
Fern- andes	Charles	District	Athletic Super- vision	2020- 2021	in District	\$2,500.00
Fентаго	Kurt	District	Athletic Super- vision	2020- 2021	Retired	\$2,500.00
Ferraro	Virginia	District	Athletic Super- vision	2020- 2021	In District	\$2,500.00
Flan- agan	Mike	District	Athletic Super- vision	2020- 2021	In District	\$2,500.00

Fontana- Dagu-	Romi	District	Athletic Super- vision	2020- 2021		ln District	\$2,500.00
erre Gallina	Nicholas	District	Athletic Super-	2020- 2021		Out of District	\$2,500.00
Gass	Georgia	District	vision Athletic Super-	2020- 2021		Out of District	\$2,500.00
Geon- inatti	Emiliano	District	vision Athletic Super-	2020- 2021		In District	\$2,500.00
Giann- elli	Matthew	District	vision Athletic Super-	2020- 2021		Out of District	\$2,500.00
Gilmore	Beverly	District	vision Athletic Super-	2020- 2021		In District	\$2,500.00
Gla- sheen	Rich	District	vision Athletic Super-	2020- 2021		In District	\$2,500.00
Golini	Keny- ann	District	vision Athletic Super- vision	2020- 2021		în District	\$2,500.00
Gordon	Christo- pher	District	Athletic Super- vision	2020- 2021		Out of District	\$2,500.00
Grippa	Christine	District	Athletic Super- vision	2020- 2021		ln District	\$2,500.00
Hawkins	Ryan	District	Athletic Super- vision	2020- 2021		In District	\$2,500.00
Heck	Jeff	District	Athletic Super- vision	2020- 2021		ln District	\$2,500.00
Heim- erle	Denise	District	Athletic Super- vision	2020- 2021		ln District	\$2,500.00
Hem- andez	Elise	District	Athletic Super- vision	2020- 2021		ln District	\$2,500.00
Норреу	Michael	District	Athletic Super- vision	2020- 2021		Retired	\$2,500.00
Homen- ides	Eleni	District	Athletic Super- vision	2020- 2021		In District	\$2,500.00
Howard	Cynthia	District	Athletic Super- vision	2020- 2021		In District	\$2,500.00
Hurley	Terri	District	Athletic Super- vision	2020- 2021		In District	\$2,500.00
Hutch- inson	Kristen	District	Athletic Super- vision	2020- 2021	*	Out of District	\$2,500.00
lrizany	Linda	District	Athletic Super- vision	2020- 2021		In District	\$2,500.00
Jantzen	Leah	District	Athletic Super- vision	2020- 2021		ln District	\$2,500.00
Kil- kenny	Keni	District	Athletic Super- vision	2020- 2021		ln District	\$2,500.00
Klouda	Christine	District	Athletic Super- vision	2020- 2021		Out of District	\$2,500.00
Kmiotek	Barabara	District	Athletic Super- vision	2020- 2021		Retired	\$2,500.00
Koncz- ynin	Allyson	District	Athletic Super- vision	2020- 2021		in District	\$2,500.00
Kost	Maureen	District	Athletic Super- vision	2020- 2021		ln District	\$15,000.0 0
Kow- lenko	Randi	District	Athletic Super- vision	2020- 2021	•	In District	\$2,500.00
La Lima	Jeanne	District	Athletic Super- vision	2020- 2021		In District	\$2,500.00
Lamon- ica	Maryann	District	Athletic Super- vision	2020- 2021		In District	\$2,500.00
La- Rochelle	Christo- pher	District	Athletic Super- vision	2020- 2021		In District	\$2,500.00

Lievano	Rafael	District	Athletic Super-	2020- 2021	Out o Distri	
Loren- zen	Jennifer	District	vision Athletic Super-	2020- 2021	lπ Distri	\$2,500.00 at
Maletta	Alaina	District	vision Athletic Super-	2020- 2021	ln Distri	\$2,500.00
Mc- kaney	Charlie	District	vision Athletic Super-	2020- 2021	Retire	d \$2,500.00
McNam ara	Laura	District	vision Athletic Super-	2020- 2021	ln Distr	\$2,500.00
Mc- Namara	Brendan	District	vision Athletic Super-	2020- 2021	In Distri	\$2,500.00
Melfi	Louis	District	vision Athletic Super-	2020- 2021	Out o Distri	
Menten	Susan	District	vision Athletic Super-	2020- 2021	ln Distr	\$2,500.00
Mona- han	Jennifer	District	vision Athletic Super-	2020- 2021	ln Distri	\$2,500.00 et
Mulvi- hill	Kenneth	District	vision Athletic Super-	2020- 2021	In Distr	\$2,500.00
Murphy	Christo- pher	District	vision Athletic Super-	2020- 2021	ln Distr	\$2,500.00 et
Musca- rella	Christo- pher	District	vision Athletic Super-	2020- 2021	In Distr	\$2,500.00
Musca- rella	Ronald	District	vision Athletic Super- vision	2020- 2021	In Distr	\$2,500.00 at
Negus	Jay	District	Athletic Super- vision	2020- 2021	In Distr	\$2,500.00 at
Neu- berger	John	District	Athletic Super- vision	2020- 2021	In Distr	\$2,500.00 ct
Nill	Robert	District	Athletic Super- vision	2020- 2021	Out o Distr	
Oliver	Vincent	District	Athletic Super- vision	2020- 2021	In Distr	\$2,500.00 et
O'Shau- ghnessy	Brian	District	Athletic Super- vision	2020- 2021	In Distr	\$2,500.00 et
Ouzou- nian	Marissa	District	Athletic Super- vision	2020- 2021	In Distr	\$2,500.00 et
Parkin- son	Jennifer	District	Athletic Super- vision	2020- 2021	Out o Distr	
Paterson	Debra	District	Athletic Super- vision	2020- 2021	in Distr	\$2,500.00 ct
Pelosi	Andrew	District	Athletic Super- vision	2020- 2021	In Distr	\$2,500.00 ct
Pertetti	Jeff	District	Athletic Super- vision	2020- 2021	Out o Distr	
Petruzzi	Daniel	District	Athletic Super- vision	2020- 2021	ln Distr	\$2,500.00 ct
Picci- rillo	Alex	District	Athletic Super- vision	2020- 2021	Out o Distr	
Pinard	Allison	District	Athletic Super- vision	2020- 2021	to Distr	\$2,500.00 ct
Portu- allo	Jean	District	Athletic Super- vision	2020- 2021	in Distr	\$2,500.00 ct
Pulaski	Joseph	District	Athletic Super- vision	2020- 2021	In Distr	\$2,500.00 ct
Raffetto	Carole	District	Athletic Super- vision	2020- 2021	in Distr	\$2,500.00 ct
Rettig	Rose- marie	District	Athletic Super- vision	2020- 2021	In Distr	\$2,500.00 ct

Rickert	Matthew	District	Athletic Super-	2020- 2021	Out Dis	of rict	\$2,500.00
Rippe	Claudia	District	vision Athletic Super- vision	2020- 2021	in Dis	rict	\$2,500.00
Roarty	Karen	District	Athletic Super- vision	2020- 2021	ln Dis	rict	\$2,500.00
Rosa .	Stephen	District	Athletic Super- vision	2020- 2021	Out Dis		\$2,500.00
Rosa	Lonaine	District	Athletic Super- vision	2020- 2021	ln Dis	rict	\$2,500.00
Rudiger	Kristina	District	Athletic Super- vision	2020- 2021	In Dis	rict	\$2,500.00
Salmon	Jeff	District	Athletic Super- vision	2020- 2021	Out Dis		\$2,500.00
Salmon	Jennie	District	Athletic Super- vision	2020- 2021	Out Dis		\$2,500.00
Schnet- tler	Garrett	District	Athletic Super- vision	2020- 2021	In Dis	rict	\$2,500.00
Schoen	Brian	District	Athletic Super- vision	2020- 2021	ln Dis	rict	\$2,500.00
Sema	Sharon	District	Athletic Super- vision	2020- 2021	ln Dis	rict	\$2,500.00
Shay	Steph- anie	District	Athletic Super- vision	2020- 2021	In Dis	rict	\$2,500.00
Sheikh	Rizwana	District	Athletic Super- vision	2020- 2021	In Dis	rict	\$2,500.00
Sioss	Shannon	District	Athletic Super- vision	2020- 2021	în Dis	rict	\$2,500.00
Smith	Jesse	District	Athletic Super- vision	2020- 2021	In Dis	rict	\$2,500.00
Sorbera	Jonathan	District	Athletic Super- vision	2020- 2021	Out Dis	of rict	\$2,500.00
Spira	Robert	District	Athletic Super- vision	2020- 2021	ln Dis	rict	\$2,500.00
Stecker	Jon	District	Athletic Super- vision	2020- 2021	ln Dis	rict	\$2,500.00
Still	Mike	District	Athletic Super- vision	2020- 2021	ln Dis	rict	\$2,500.00
Strub	John	District	Athletic Super- vision	2020- 2021	in Dis	nict	\$2,500.00
Sullivan	Kelly	District	Athletic Super-	2020- 2021	ln Dis	rict	\$2,500.00
Sussin	Erick	District	vision Athletic Super-	2020- 2021	ln Dis	rict	\$2,500.00
Tavitian	Michael	District	vision Athletic Super-	2020- 2021	ln Dis	trict	\$2,500.00
Thomas	Caitlin	District	vision Athletic Super-	2020- 2021		of trict	\$2,500.00
Tortorici	Gina	District	vision Athletic Super-	2020- 2021	In Dis	trict	\$2,500.00
Town- send	Virginia	District	vision Athletic Super-	2020- 2021	ln Dis	trict	\$2,500.00
Trentini	Christine	District	vision Athletic Super-	2020- 2021	In Dis	trict	\$2,500.00
Triolo	Erin	District	vision Athletic Super-	2020- 2021	in Dis	trict	\$2,500.00
Turano	Steph- anie	District	vision Athletic Super-	2020- 2021	ln Dis	trict	\$2,500.00
Valen- zano	William	District	vision Athletic Super- vision	2020- 2021	. In	trict	\$10,000.0 0

Vetro	Rocco	District	Athletic Super- vision	2020- 2021	ln District	\$2,500.00
Weiner	Claudine	District	Athletic Super- vision	2020- 2021	ln District	\$2,500.00
White	Willie	District	Athletic Super- vision	2020- 2021	Out of District	\$6,000.00
White- head	Thomas	District	Athletic Super- vision	2020- 2021	In District	\$2,500.00
Wich- elns	George	District	Athletic Super- vision	2020- 2021	Out of District	\$2,500.00
Will- iams	Louise	District	Athletic Super- vision	2020- 2021	In District	\$2,500.00
Wiviet- sky	Ethan	District	Athletic Super- vision	2020- 2021	Out of District	\$2,500.00
Wolf	Daniel	District	Athletic Super- vision	2020- 2021	In District	\$2,500.00
Wozn- icki	Lucyna	District	Athletic Super- vision	2020- 2021	ln District	\$2,500.00
Yasson	Carole	District	Athletic Super- vision	2020- 2021	in District	\$2,500.00
Youngs	Tom	District	Athletic Super- vision	2020- 2021	ln District	\$2,500.00

# APPOINTMENTS OF ANNUAL EXTRA ASSIGNMENTS

<u>Last Name</u>	<u>First</u> <u>Name</u>	Building	Assignment	<u>Effective</u>	Stipend	Not to Exceed
Warren- Barbieri	Kathy	Murphy & Gelinas	FACS Department Shopper	2020- 2021	\$2,500.00	\$2,500.00
Kostis	Dean	WMHS	Secondary Technology Lead Teacher (2nd yr)	2020- 2021	\$2,797.00	\$2,797.00
Jenkins	Nancy	Gelinas	Secondary FACS Lead (10+ yrs)	2020- 2021	\$2,445.00	\$2,445.00
Jenkins	Nancy	Murphy	Secondary FACS Lead (10+ yrs)	2020- 2021	\$2,445.00	\$2,445.00
Olsen	Walter	WMH\$	Naviance Lead Teacher (3rd yr)	2020- 2021	\$2,797.00	\$2,797.00
Jenkins	Nancy	Murphy & Gelinas	Naviance Lead Teacher (5th yr)	2020- 2021	\$2,623.00	\$2,623.00
Weik	Andrew	District- wide	Lead District Teacher for Instructional Technology	2020- 2021	\$3,844.00	\$3,844.00
Lombardo	Jeanine	District- wide	Lead District Teacher for Instructional Technology	2020- 2021	\$2,797.00	\$2,797.00
Knox	Betsy	District- wide	Lead Librarian, (10th yr)	2020- 2021	\$3,844.00	\$3,844.00
Poulos	Amy	Murphy	Guidance Lead, (7th yr)	2020- 2021	\$3,844.00	\$3,844.00
Portal- Pfeffer	Lolita	Murphy	PPS Lead,( 5th yr)	2020- 2021	\$3,844.00	\$3,844.00
Nachtigall	Dawn	Murphy	Science Lead, Transitional (2nd yr)	2020- 2021	\$2,797.00	\$2,792.00
McCaffery	Virginia	WMHS	PPS Lead, (6th yr)	2020- 2021	\$3,844.00	\$3,844.00
Pelosi	Andrew	WMH\$	Social Studies Lead (7th yr)	2020- 2021	\$3,844.00	\$3,844.00
Kula	Mamie	WMHS	In-Star Coordinator (5th	2020- 2021	\$2,180.00	\$2,180.00
Hanczor	Michelle	Gelinas	English Lead (3rd yr)	2020- 2021	\$2,797.00	\$2,797.00
Cordina	Jacqueline	Gelinas	Math Lead (2nd yr)	2020- 2021	\$2,797.00	\$2,797.00
Dattero	Anthony	Gelinas	Guidance Lead (10+yrs)	2020- 2021	\$4,890.00	\$4,890.00
Sacco	Christine	District- wide	Elementary Lead Art Teacher	2020- 2021	\$2,797.00	\$2,797.00
Hurowitz	Tanya	Arrowhead	Kindergarten Screening Coordinator	2020-	\$1,500.00	\$1,500.00
Maaiki	Nancy	Arrowhead	Lead Reading Teacher	2020- 2021	\$2,623.00	\$2,623.00
Arasa	Theresa	Minnesauke	Lead Reading Teacher	2020- 2021	\$2,623.00	\$2,623.00

Curatolo	Мола	Nassakeag	Lead Reading Teache	n'	2020- 2021	\$2,623.00	\$2,623.00
Seligson	Lisa	Setauket	Lead Reading Teache	r	2020- 2021	\$2,623.00	\$2,623.00
Prinzevalli	Rachel	Mount	Lead Reading Teache	n'	2020- 2021	\$2,623.00	\$2,623.00
Arasa	Theresa	Minnesauke	Elementary Book Roo Coordinator	วเท	2020- 2021	\$3,240.00	\$3,240.00
Brady	Judy	Setauket	Elementary Book Roo	om	2020-	\$3,240.00	\$3,240.00
Burdette	Nicole	Mount	Coordinator Elementary Book Roo	om	2021	\$3,240.00	\$3,240.00
Cohen	Jessica	Nassakeag	Coordinator Elementary Book Roo	om	2021 2020-	\$3,240.00	\$3,240.00
Walsh	Daniel	Arrowhead	Coordinator Elementary Book Roo	om	2021	\$3,240.00	\$3,240.00
Bove	Trish	Academy	Coordinator Lead Nurse		2021 2020-	\$5,000.00	\$5,000.00
Lumiroult	Brenda	District	District Teacher Ment	tor	2021 2020-	\$4,890.00	\$4,890.00
Peny	Leanne	District	District Teacher Ment	tor	2021 2020-	\$2,797.00	\$2,797.00
Alexander	Dawn	District	District-wide PPS Me	entor	2021 2020-	\$2,797.00	\$2,797.00
Alu	Scott	Nassakeag	Math AI\$ Lead		2021 2020-	\$1,749.00	\$1,749.00
Cabral	Suzanne	Arrowhead	Math AIS Lead		2021 2020-	\$1,749.00	\$1,749.00
Fizzuoglio	Phylene	Mount	Math AIS Lead		2021 2020-	\$1,749.00	\$1,749.00
Wall	Lisa	Setauket	Math AIS Lead		2021 2020-	\$1,749.00	\$1,749.00
Wilgenkamp	Paul	Minnesauke	Math AIS Lead		2021 2020-	\$1,749.00	\$1,749.00
McAuliffe	Brian	Trimioausico	Administrative Mento	\r	2021 2020-	\$200/hour	\$3,000.00
Diviney	MaryBeth	Elementary	Lead Pre-K Teacher	,-	2021 2020-	\$1,749.00	\$1,749.00
-	. *	-	Class Advisor		2021 2020-	\$3,575.00	\$3,575.00
Zeidman	Stacey	Academy			2021		
Zeidman	Stacey	Academy	Yearbook Advisor		2020- 2021	\$2,180.00	\$2,180.00
Gobetz	Brianna	Gelinas	Orchestra Co-Director		2019- 2020	\$1,770.00	\$1,770.00
Meier	Brendan	Gelinas	Orchestra Co-Director		2019- 2020	\$1,770.00	\$1,770.00
*Total stipend	for the two Or	chestra Co-Dire	ctors not to exceed \$35	540.00 (t	his is in place	of original 3-way	y split)
Gobetz	Brianna	Gelinas	Theatre Arts Co-Direct	ctor	2019- 2020	\$3,693.50	\$3,693.50
Меіег	Brendan	Gelinas	Theatre Arts Co-Direct	ctor	2019- 2020	\$3,693.50	\$3,693.50
*Total stipend	for the two Th	eatre Arts Co-D	irectors not to exceed	\$7387.00		ice of original 3-1	vay split)
Levenson	Melissa	Gelinas	Theatre Arts - Assista	int	1/6/20 -	\$4,500.00	\$4,500.00
Kostis	Dean	Gelinas	Director Theatre Arts - Set Des		3/21/20 1/6/20 -	\$2,500.00	\$2,500.00
KOSHS	Jun	Quinino	and Construction	_	3/21/20	,-,	42,000.00
Broadhurst	Douglas	Gelinas	Theatre Arts - Set Des and Construction	sign	1/6/20 - 3/21/20	\$2,500.00	\$2,500.00
Milillo	Michael	Gelinas	Theatre Arts - Lightin Sound	ng and	1/6/20 - 3/21/20	\$1,875.00	\$1,875.00
DeRosa	Mike	Gelinas	Theatre Arts - Stage Manager		1/6/20 - 3/21/20	\$1,875.00	\$1,875.00
Passarella	Alyssa	Gelinas	Theatre Arts - Costun	nes	1/6/20 - 3/21/20	\$750.00	\$750.00
			APPOINTMENTS	SOF			
			LY EXTRA ASSI		NTS		
					_		
<u>Last Name</u>	First Name	Building	Assignment E	<u>ffective</u>	Rate	Hours	Not to Exceed
Tamuk	Alexander	WMHS	Driver 9/	6/2020-	\$60/hr.		\$9,200.00
			Education 6/	30/2021	/		
			Instructor, Fall and				
			Spring 2020-				
			lecture only				
Curriculum wri	ting:						

Monahan

Nachtigall

DeMartino

Garcia

McGuire

Esnes

Jennifer

Heather

Dawn

Nicolette

Suzanne

Susan

6th to 7th Grade Puberty 6th to 7th Grade Puberty 8R Science

8R Science 8R Science

8R Science

2020-2021 2020-2021 2020-

2020-2021 2020-2021 2020-2021 2020-2021 \$50.05/hr.

\$50.05/hr.

\$50.05/hr.

\$50.05/hr.

\$50.05/hr.

\$50.05/hr. 20

12

10

22

20

20

\$600.60

\$550.50

\$1,211.10

\$1,101.00

\$1,101.00

\$1,101.00

Visser	Jillian	8R Science	2020-	\$50.05/hr.	20	\$1,101.00
Muzzonigro	Michele	Art of	2021 2020-	\$50.05/hr.	22	\$1,211.10
Baker	Brian	Animation Art of	2021 2020-	\$50.05/hr.	20	\$1,101.00
Capiello	Lisa	Animation Art of	2021 2020-	\$50.05/hr,	20	\$1,101.00
Trettner	Jennifer	Animation Art of	2021 2020-	\$50.05/hr.	20	\$1,101.00
Driscoll	Christina	Animation Elementary	2021 2020-	\$50.05/hr.	12	\$600.60
Discon	Ciristilla	Adaptive	2021	350.051111.	'-	\$000.00
		Physical Education	****	040.044	10	#550.50
Anderson	Catherine	Elementary Adaptive	2020- 2021	\$50.05/hr.	10	\$550.50
		Physical Education				
Chapman	Craig	Elementary Adaptive	2020- 2021	\$50.05/hr.	10	\$550.50
		Physical Education				
Dion	J.P.	Elementary	2020-	\$50.05/hr.	10	\$550.50
		Adaptive Physical	2021			
LaLima	Jeanne	Education Elementary	2020-	\$50.05/hr.	10	\$550.50
		Adaptive Physical	2021			
LaRochelle	Chris	Education Elementary	2020-	\$50.05/hr.	10	\$550.50
Lakochene	Chris	Adaptive	2021	\$30.03/11.	10	\$550.50
		Physical Education				
Kinsley	Taylor	Elementary Library	2020- 2021	\$50.05/hr.	12	\$600.60
Howland	Noreen	Update Elementary	2020-	\$50.05/hr.	10	\$550.50
110 (/ /ши		Library Update	2021			
Konczynin	Allyson	Elementary	2020-	\$50.05/hr.	10	\$550.50
		Library Update	2021			
Lewis	Lisn	Elementary Library	2020- 2021	\$50.05/hr.	10	\$550.50
Dove	Ellen	Update Elementary	2020-	\$50.05/hr.	10	\$550.50
		Library Update	2021			
Metrio	Jessica	English I I	2020- 2021	\$50.05/hr.	12	
Cereola	Vince	Honors English 11	2020-	\$50.05/hr.	10	\$550.50
Swain	James	Honors English 11	2021 2020-	\$50,05/hr.	10	\$550.50
Duffy	Catherine	Honors English 7H	2021 2020-	\$50.05/hr.	12	\$600.60
		Next Generation	2021			
		Learning Standards				
Gobetz	Brianna	English 7H	2021-	\$50.05/hr.	10	\$550.50
		Next Generation	2021			
		Learning Standards			•	
Keenan	Susan	English 7H Next	2020- 2021	\$50.05/hr.	10	\$550.50
		Generation Learning				
f . * * * 1.1	Laure	Standards	2020	\$\$A.08/1	10	5550.50
Leidahl	Laura	English 7H Next	2020- 2021	\$50.05/hr.	10	\$550.50
		Generation Learning				
Hanczor	Michelle	Standards English 7R	2020-	\$50.05/hr.	12	\$600.60
		Next Generation	2021			
		Learning				
Gilmore	Beverly	Standards English 7R	2020-	\$50.05/hr.	10	\$550.50
		Next Generation	2021			
		Learning Standards				
Shaw	Jacqueline	English 7R Next	2020- 2021	\$50.05/hr.	10	\$550.50
		Generation Learning				
		Standards				

Solntzeff	Christine	English 7R Next Generation Learning	2020- 2021	\$50.05/hr.	10	\$550.50
Littman	llene	Standards Fashion Merchandisin g &	2020- 2021	\$50.05/hr.	12	\$600.60
Chesney	Alyssa	Marketing Fashion Merchandisin g &	2020- 2021	\$50.05/hr.	10	\$550.50
Cowan	Kerry	Marketing Journalism	2020- 2021	\$50,05/hr.	12	\$600.60
Crispino	Lisa	Journalism	2020- 2021	\$50.05/hr.	10	\$550.50
Dilorio	Jessica	Journalism	2020- 2021	\$50.05/hr.	10	\$550.50
Kelso	Liz	Journalism	2020- 2021	\$50.05/hr.	10	\$550.50
Kost	Maureen	K-12 Physical Education Curriculum Update Based on New Physical Education	2020- 2021	\$50.05/hr.	22	\$1,211.10
Barnett	Meghan	Standards K-12 Physical Education Curriculum Update Based on New Physical Education	2020- 2021	\$50.05/hr.	20	\$1,101.00
Carroll	Frank	Standards K-12 Physical Education Curriculum Update Based on New Physical	2020- 2021	\$50.05/hr.	20	\$1,101.00
Chapman	Craig	Education Standards K-12 Physical Education Curriculum Update Based on New Physical	2020- 2021	\$50.05/hr.	20	\$1,101.00
Cumings	Danielle	Education Standards K-12 Physical Education Curriculum Update Based on New Physical Education	2020- 2021	\$50.05/hr.	20	\$1,101.00
Heck	Jeff	Standards K-12 Physical Education Curriculum Update Based on New Physical Education	2020- 2021	\$50.05/hr.	20	\$1,101.00
LaLima	Jeanne	Standards K-12 Physical Education Curriculum Update Based on New Physical Education	2020- 2021	\$50,05/hr.	20	\$1,101.00
LaRochelle	Chris	Standards K-12 Physical Education Curriculum Update Based on New Physical Education Standards	2020- 2021	\$50.05/hr.	20	\$1,101.00

Sioss	Shannon	K-12 Physical Education Curriculum Update Based on New	2020- 2021	\$50.05/hr.	20	\$1,101.00
		Physical Education				
Castoro	Marisa	Standards K-6 Executive Functioning &	2020- 2021	\$50.05/hr.	22	\$1,211.10
Beck	Christine	Social Skills K-6 Executive Functioning & Social Skills	2020- 2021	\$50.05/hr.	20	\$1,101.00
Busto	Meghan	K-6 Executive Functioning & Social Skills	2020- 2021	\$50,05/hr,	20	\$1,101.00
DeLorenzo	Heather	K-6 Executive Functioning & Social Skills	2020- 2021	\$50.05/hr.	20	\$1,101.00
Keller	Rebecca	K-6 Executive Functioning & Social Skills	2020- 2021	\$50.05/hr.	20	\$1,101.00
LaScala	Rene	K-6 Executive Functioning & Social Skills	2020- 2021	\$50.05/hr.	20	\$1,101.00
Michalski	Debra	K-6 Executive Functioning & Social Skills	2020- 2021	\$50.05/hr.	20	\$1,101.00
Portal- Pfeff <del>er</del>	Lolita	K-6 Executive Functioning & Social Skills	2020- 2021	\$50.05/hr.	20	\$1,101.00
Stevens	Jennifer	K-6 Executive Functioning & Social Skills	2020- 2021	\$50.05/hr.	20	\$1,101.00
Tarabocchia	Christina	K-6 Executive Functioning & Social Skills	2020- 2021	\$50,05/hr.	20	\$1,101.00
Matros	Nicholas	Language, Culture & Literacy of Romance	2020- 2021	\$50.05/hr.	22	\$1,211.10
Russo	Stacey	Languages Language, Culture & Literacy of Romance	2020- 2021	\$50,05/hr.	20	\$1,101.00
Pahuja	Pamila	Languages Natural Disasters	2020- 2021	\$50.05/hr.	22	\$1,211.10
Mutter	David	Elective Natural Disasters	2020- 2021	\$50.05/hr.	20	\$1,101.00
McNamara	Laura	Elective Pre-Calculus R & Calculus H	2020- 2021	\$50.05/hr.	12	\$600.60
Campau	Andrea	rre-Calculus R & Calculus H	2020- 2021	\$50.05/hr.	10	\$550.50
Hudson	Mary Beth	Pre-Calculus R & Calculus H	2020- 2021	\$50.05/hr.	10	\$550.50
Lynch	Kristin	Pre-Calculus R & Calculus H	2020- 2021	\$50.05/hr.	10	\$550.50
Tam	Aaron	Pre-Calculus R & Calculus H	2020- 2021	\$50.05/hr.	10	\$550.50
Whitman	Juliann	Pre-Calculus R & Calculus H	2020- 2021	\$50.05/hr.	10	\$550.50
Baum	Camryn	Publication Design	2020- 2021	\$50.05/hr.	12	\$600.60
Trettner	Jennifer	Publication Design	2020- 2021	\$50.05/hr.	10	\$550.50
Meier	Brendan .	Secondary Band Curriculum	2020- 2021	\$50.05/hr.	12	\$600.60
Hayes	Daniel	Secondary Band Curriculum	2020- 2021	\$50.05/hr.	10	\$550.50
Ockner	Ashley	Secondary Band Curriculum	2020- 2021	\$50.05/hr.	10	\$550.50
Cowan	Кепу	Senior Seminar - English	2020- 2021	\$50.05/hr.	12	\$600.60
Catalfamo	Tammy	Senior Seminar - English	2020- 2021	\$50.05/hr.	10	\$550.50

Crispino	Lisa	Senior Seminar -	2020- 2021	\$50.05/hr.	10	\$550.50
Dilorio	Jessica	English Senior Seminar -	2020- 2021	\$50.05/hr.	10	\$550.50
Kelso	Liz	English Senior Seminar -	2020- 2021	\$50.05/hr.	10	\$550.50
Porter	Cynthia	English Senior Seminar -	2020- 2021	\$50.05/hr.	10	\$550.50
Driscoll	Christina	English Sixth Grade Puberty	2020- 2021	\$50.05/hr.	12	\$600.60
Diana	Kerry	Sixth Grade Puberty	2020- 2021	\$50.05/ltr.	10	\$550.50
Esnes	Heather	Sixth Grade Puberty	2020- 2021	\$50.05/hr.	10	\$550.50
Monahan	Jennifer	Sixth Grade Puberty	2020- 2021	\$50.05/hr.	10	\$550.50
Turano	Stephanie	Sixth Grade	2020-	\$50.05/hr.	10	\$550.50
Zucchero	Debra Ann	Puberty Sixth Grade	2021 2020-	\$50.05/hr.	10	\$550.50
Kost	Maureen	Puberty Stop the Bleed	2021 2020-	\$50.05/hr,	12	\$600.60
Howard	Cynthia	Stop the Bleed	2021 2020-	\$50,05/hr.	10	\$550.50
Rudiger	Kristina	Stop the Bleed	2021 2020-	\$50.05/hr.	01	\$550.50
		,	2021			
PD Courses:						
Harvey	Brian	"We Video"- Producing Videos to Help Enhance Classroom	2020- 2021	\$77.76/hr.	9	\$699,84
Jantzen	Michael	Learning Becoming Familiar With Calendar	2020- 2021	\$77.76/hr.	3	\$233.28
Chow	Allison	Breaking Up with Moodle; It's Not You, It's Google	2020- 2021	\$77.76/hr.	15	\$1,166.40
Kinsley	Taylor	Classroom Effective Online Resources for 3-6	2020- 2021	\$77.76/hr.	15	\$699.84
Kinsley	Taylor	Effective Online Resources for K-2	2020- 2021	\$77.76/hr.	15	\$1,166.40
Rubenstrunk	Deidre	Evaluating Technology Integration	2020- 2021	\$77.76/hr.	6	\$466.56
Varacchi	Gina	Flipping to Flipgrig!	2020- 2021	\$77.76/hr.	6	\$466.56
Rubenstrunk	Deidre	Flipping the Faculty Meeting: Screencasts for Administrator	2020- 2021	\$77.76/hr.	6	\$466.56
Lombardo	Jeanine	s Fun with Pear Deck: Making Google Slides Interactive!	2020- 2021	\$77.76/hr.	6	\$233.28
Bloom	Cluissa	G Suite Foundations for Teaching Assistants	2020- 2021	\$77,76/hr.	15	\$1,166.40
Rubenstrunk	Deidre	Google Educator Level 1 Certification for Administrator	2020- 2021	\$77.76/hr.	15	\$1,166.40
Bloom	Chrissa	s Google Forms	2020-	\$77.76/hr.	6	\$466.56
Varacchi	Gina	Hyperdoc,	2021 2020-	\$77.76/hr.	6	\$466.56
Varacchi	Gina .	Part 2 Hyperdocs,	2021 2020-	\$77.76/lur.	6	\$466.56
Busto	Meghan	the Beginning Introduction to Sign Language	2021 2020- 2021	\$77.76/hr.	4.5	\$349.92

Prestia	Krista		Introduction to Sign	2020- 2021	\$77.76/hr.	4.5	\$349.92
Lombardo	Jeanine		Language Nearpod: Empower, Engage,	2020- 2021	\$77.76/hr.	6	\$1,166.40
Cowan	Kenry		Collaborate Poetry: Reading and	2020- 2021	\$77.76/hr.	15	\$1,166.40
Rubenstrunk	Deidre		writing Shared Drives for School/Depart	2020- 2021	\$77.76/hr.	6	\$466.56
_			ment Origanization				
Cowan	Kerry		Teaching and Writing	2020- 2021	\$77.76/hr.	15	\$1,166.40
Knox	Elizabeth		Translation or Transiiton of Practice	2020- 2021	\$77.76/hr.	9	\$699.84
Cowan	Keny		Writing and Reading Beyond the	2020- 2021	\$77.76/hr.	15	\$1,166.40
Boltrek	Christophe	Academy	Page AIS Services -	2020-	\$57.89/hr.	10	\$578.90
Catalfamo	r Tammy	Academy	Social Studies AIS Services -	2021 2020-	\$57.89/hr.	10	\$578.90
Crispino	Lisa	Academy	English AIS Services -	2021 2020-	\$57.89/hr.	10	\$578.90
·	Christine		English AIS - English	2021 2020-	\$57.89/hr.	10	
DiFede		Academy	ŭ	2021			\$578.90
Hartman	Bill	Academy	AIS Services - Science	2020- 2021	\$57.89/hr.	10	\$578.90
Petruzzi	Jeanne	Academy	AIS Services - Math	2020- 2021	\$57.89/hr.	10	\$578.90
Zeidman	Stacey	Academy	AIS-Services - Special Ed.	2020- 2021	\$57.89/hr.	20	\$1,157.80
Goldmacher	Jacqueline	Murphy	Science Olympind- Regionals	2/29/2020	\$300/day	l day	\$300.00
Crowley	Kaitlin	Nassakeag	Speech Language Pathologist Collaboration	2019- 2020	\$49.56/hr.	10	\$495.60
Doepp	Sarah		TCI Bring Science Alive Introductory	2020- 2021	\$77.76/hr.	3	\$233.28
Gustafson	Eric		Training TCI Bring Science Alive Introductory	2020- 2021	\$77,76/hr.	3	\$233.28
Doepp	Sarah		Training TCI Bring Science Alive Training: Intro and Deeper Dive All in	2020- 2021	\$77.76/hr.	3	\$233.28
Gustafson	Eric		One TCl Bring Science Alive Training: Intro and Deeper Dive All in	2020- 2021	\$77.76/hr.	3	\$233.28
Doepp	Sarah		One TCI Bring Science Alive Training:	2020- 2021	\$77.76/hr.	6	\$466.56
Gustafson	Eric		Deeper Dive TCI Bring Science Alive Training:	2020- 2021	\$77.76/hr.	6	\$466.56
Beck	Christine		Deeper Dive TCI Bring Science Alive Introductory	2020- 2021	\$50.05/hr.	l	\$50.05
Berman	Erin		Training TCI Bring Science Alive Introductory	2020- 2021	\$50.05/hr.	l	\$50.05
Brady	Judy		Training TCI Bring Science Alive Introductory	2020- 2021	\$50.05/hr.	i	\$50.05
Соссо	Debra		Training TCI Bring Science Alive Introductory Training	2020- 2021	\$50.05/hr.	1	\$50.05
			· ····································				

DeSantis	Christina	TCI Bring Science Alive	2020- 2021	\$50.05/hr.	1	\$50.05
Gorski	Kara	Introductory Training TCI Bring Science Alive	2020- 2021	\$50.05/hr.	1	\$50.05
Неппапп	Lorin	Introductory Training TCI Bring Science Alive	2020- 2021	\$50.05/hr.	ī	\$50.05
Hudecek	Јо-Алп	Introductory Training TCI Bring Science Alive	2020- 2021	\$50.05/hr.	, I	\$50.05
Kinsley	Taylor	Introductory Training TCI Bring Science Alive	2020- 2021	\$50.05/hr.	ı	\$50.05
Lussa	Brenda	Introductory Training TCI Bring Science Alive Introductory	2020- 2021	\$50.05/hr.	ı	\$50.05
Maltaghati	Jaclyn	Training TCl Bring Science Alive Introductory	2020- 2021	\$50.05/hr.	ı	\$50.05
Severino	Dawn	Training TCI Bring Science Alive Introductory	2020- 2021	\$50.05/hr.	i	\$50.05
Zambujeiro	Megan	Training TCI Bring Science Alive Introductory	2020- 2021	\$50.05/hr.	1	\$50.05
Ciccarelli	Kristin	Training TCI Bring Science Alive Introductory	2020- 2021	\$50,05/hr.	1	\$50.05
DaVanzo	Matthew	Training TCI Bring Science Alive Introductory	2020- 2021	\$50.05/hr.	ı	\$50.05
Dowling	Sean	Training TCI Bring Science Alive Introductory	2020- 2021	\$50.05/hr.	ı	\$50.05
Hugues	Jason	Training TCl Bring Science Alive Introductory	2020- 2021	\$50,05/hr.	t	\$50.05
Hunter	Kathryn	Training TCI Bring Science Alive Introductory	2020- 2021	\$50.05/hr.	ı	\$50.05
Jarrett	Laurie	Training TCl Bring Science Alive Introductory	2020- 2021	\$50.05/hr.	i	\$50.05
Kiriluk	Deborah	Training TCI Bring Science Alive Introductory Training	2020- 2021	\$50.05/hr.	İ	\$50.05
Lewis	Lisa	Training TCl Bring Science Alive Introductory Training	2020- 2021	\$50.05/hr.	1	\$50.05
McCrary	Denise	TCI Bring Science Alive Introductory Training	2020- 2021	\$50,05/hr.	1	\$50.05
Nani	Meryi	TCI Bring Science Alive Introductory Training	2020- 2021	\$50.05/hr.	1	\$50.05
Napolitano	Ellen	TCI Bring Science Alive Introductory Training	2020- 2021	\$50,05/hr.	I	\$50.05
Starr	Brian	TCl Bring Science Alive Introductory Training	2020- 2021	\$50.05/hr.	I	\$50.05
Voltrer	Sandi	TCI Bring Science Alive Introductory Training	2020- 2021	\$50.05/hr.	ľ	\$50.05
Wonderland	Katherine	TCI Bring Science Alive Introductory Training	2020- 2021	\$50.05/hr.	1	\$50.05

Baldante	Stefanie	TCl Bring Science Alive Introductory	2020- 2021	\$50.05/hr.	ı	\$50.05
Betz	Jennifer	Training TCI Bring Science Alive Introductory	2020- 2021	\$50.05/hr.	i	\$50.05
Conion	Toni	Training TCI Bring Science Alive Introductory	2020- 2021	\$50.05/hr.	ı	\$50.05
Hegarty	Alexandria	Training TCl Bring Science Alive	2020- 2021	\$50.05/hr.	i	\$50.05
Hegarty	Lorraine	Training TCI Bring Science Alive Introductory	2020- 2021	\$50.05/hr.	1	\$50.05
Hinde	Corinne	Training TCI Bring Science Alive Introductory	2020- 2021	\$50.05/hr.	1	\$50.05
Lukralle	Deborah	Training TCI Bring Science Alive Introductory	2020- 2021	\$50.05/hr.	1	\$50.05
Morseman	Janet	Training TCI Bring Science Alive Introductory	2020- 2021	\$50.05/hr.	1	\$50.05
Rotunno	Robert	Training TCI Bring Science Alive Introductory	2020- 2021	\$50.05/hr.	I	\$50.05
Rovegno	Brianna	Training TCI Bring Science Alive Introductory	2020- 2021	\$50.05/hr.	ı	\$50.05
Tardo	Danielle .	Training TCI Bring Science Alive Introductory	2020- 2021	\$50.05/hr.	ı	\$50.05
Varacchi	Gina	Training TCI Bring Science Alive Introductory	2020- 2021	\$50.05/hr.	ı	\$50.05
Archer	Susan	Training TCl Bring Science Alive Training: Intro & Deeper	2020- 2021	\$50.05/hr.	3	\$150.15
Bonifacio	Debra	Dive TCI Bring Science Alive Training: Intro & Deeper	2020- 2021	\$50.05/hr.	3	\$150.15
Cimini	Michelle	Dive TCI Bring Science Alive Training: Intro & Deeper	2020- 2021	\$50.05/hr.	3	\$150.15
Frole	Jennifer	Dive TCI Bring Science Alive Training: Intro & Deeper	2020- 2021	\$50.05/hr.	3	\$150.15
Gallagher	Alexandra	Dive TCI Bring Science Alive Training: Intro & Deeper	2020- 2021	\$50.05/hr.	3	\$150.15
Hanneman	Patricía	Dive TCI Bring Science Alive Training: Intro & Deeper	2020- 2021	\$50.05/hr.	3	\$150.15
Hobbes	Patrick	Dive TCI Bring Science Alive Training: Intro & Deeper	2020- 2021	\$50.05/hr.	3	\$150.15
Konczynin	Alyson	Dive TCI Bring Science Alive Training: Intro & Deeper Dive	2020- 2021	\$50.05/hr.	3	\$150.15
		DITE				

Lange	Darlene	TCI Bring Science Alive Training: Intro & Deeper	2020- 2021	\$50.05/hr.	3	\$150.15
McGrath	Alyson	Dive TCI Bring Science Alive Training: Intro & Deeper	2020- 2021	\$50.05/hr,	3	\$150.15
Negus	Amanda	Dive TCI Bring Science Alive Training: Intro & Deeper	2020- 2021	\$50.05/hr.	3	\$150.15
Theofield	Kristin	Dive TCI Bring Science Alive Training: Intro & Deeper	2020- 2021	\$50.05/hr.	3	\$150.15
Vecchio	Jennifer	Dive TCl Bring Science Alive Training: Intro & Deeper Dive	2020- 2021	\$50.05/hr.	3	\$150.15
Beck	Christine	TCI Bring Science Alive Training: Deeper Dive	2020- 2021	\$50.05/hr.	2	\$100.10
Berman	Erin	TCI Bring Science Alive Training: Deeper Dive	2020- 2021	\$50.05/hr.	2	\$100.10
Bmdy	Judy	TCl Bring Science Alive Training: Deeper Dive	2020- 2021	\$50.05/hr.	2	\$100.10
Cocco	Debra	TCI Bring Science Alive Tmining: Deeper Dive	2020- 2021	\$50.05/hr.	2	\$100.10
Gorski	Kara ,	TCI Bring Science Alive Training: Deeper Dive	2020- 2021	\$50,05/hr.	2	\$100.10
Herrmann	Lorin	TCI Bring Science Alive Training: Deeper Dive	2020- 2021	\$50.05/hr.	2	\$100.10
Hudecek	Jo-Ann	TCI Bring Science Alive Training: Deeper Dive	2020- 2021	\$50.05/hr.	2	\$100.10
Kinsley	Taylor	TCI Bring Science Alive Training: Deeper Dive	2020- 2021	\$50.05/hr.	2	\$100.10
Lussa	Brenda	TCI Bring Science Alive Training:	2020- 2021	\$50.05/lir.	2	\$100.10
Maltaghati	Jaclyn	Deeper Dive TCI Bring Science Alive Training: Deeper Dive	2020- 2021	\$50,05/hr.	2	\$100.10
Severino	Dawn	TCI Bring Science Alive Training: Deeper Dive	2020- 2021	\$50.05/hr.	2	\$100.10
Zambujeiro	Megan	TCl Bring Science Alive Training: Deeper Dive	2020- 2021	\$50.05/hr.	2	\$100.10
Ciccarelli	Kristin	TCI Bring Science Alive Training: Deeper Dive	2020- 2021	\$50.05/hr.	2	\$100.10
DaVanzo	Matthew	TCI Bring Science Alive Training: Deeper Dive	2020- 2021	\$50.05/hr.	2	\$100.10
Dowling	Sean	TCI Bring Science Alive Training: Deeper Dive	2020- 2021	\$50.05/hr.	2	\$100.10
Hugues	Jason	TCI Bring Science Alive Training: Deeper Dive	2020- 2021	\$50.05/hr.	2 .	\$100.10

Hunter	Kathryn	TCI Bring Science Alive Training:	2020- 2021	\$50.05/hr.	2	\$100.10
Jarrett	Laurie	Deeper Dive TCI Bring Science Alive Training:	2020- 2021	\$50,05/hr.	2	\$100,10
Kiriluk	Deborah	Deeper Dive TCI Bring Science Alive Training:	2020- 2021	\$50,05/hr.	2	\$100.10
Lewis	Lisa	Deeper Dive TCI Bring Science Alive Training:	2020- 2021	\$50.05/hr.	2	\$100.10
МсСту	Denise	Deeper Dive TCI Bring Science Alive Training:	2020- 2021	\$50.05/hr.	2	\$100.10
Nani	Meryl	Deeper Dive TCI Bring Science Alive Training:	2020- 2021	\$50.05/hr.	2	\$100.10
Napolitano	Ellen	Deeper Dive TCI Bring Science Alive Training:	2020- 2021	\$50,05/hr.	2	\$100.10
Stair	Brian	Deeper Dive TCI Bring Science Alive Training:	2020- 2021	\$50.05/hr.	2	\$100.10
Vohrer	Sandi	Deeper Dive TCI Bring Science Alive Training:	2020- 2021	\$50.05/hr.	2	\$100.10
Wonderland	Katherine	Deeper Dive TCl Bring Science Alive Training:	2020- 2021	\$50.05/hr.	2	\$100.10
Baldante	Stefanie	Deeper Dive TCI Bring Science Alive Training:	2020- 2021	\$50.05/hr.	2	\$100.10
Betz	Jennifer	Deeper Dive TCI Bring Science Alive Training:	2020- 2021	\$50.05/hr.	2	\$100.10
Conlon	Toni	Deeper Dive TCI Bring Science Alive Training:	2020- 2021	\$50.05/hr.	2	\$100.10
DeSantis	Christina	Deeper Dive TCI Bring Science Alive Training:	2020- 2021	\$50.05/hr.	2	\$100.10
Hegarty	Alexandria	Deeper Dive TCI Bring Science Alive Training:	2020- 2021	\$50.05/hr.	2	\$100.10
Hegarty	Lorraine	Deeper Dive TCi Bring Science Alive Training:	2020- 2021	\$50.05/hr.	2	\$100.10
Hinde	Corinne	Deeper Dive TCI Bring Science Alive Training:	2020- 2021	\$50,05/hr.	2	\$100,10
Lukralle	Deborah	Deeper Dive TCI Bring Science Alive Training:	2020- 2021	\$50.05/hr.	2	\$100.10
Morseman	Janet	Deeper Dive TCI Bring Science Alive Training:	2020- 2021	\$50.05/hr.	2	\$100.10
Rotunno	Robert	Deeper Dive TCI Bring Science Alive Training:	2020- 2021	\$50.05/hr.	2	\$100.10
Rovegno	Brianna	Deeper Dive TCI Bring Science Alive Training:	2020- 2021	\$50.05/hr.	2	\$100.10
Tardo	Danielle	Deeper Dive TCI Bring Science Alive Training:	2020- 2021	\$50.05/hr.	2	\$100.10
Varacchi	Gina	Deeper Dive TC! Bring Science Alive Training: Deeper Dive	2020- 2021	\$50.05/hr.	2	\$100.10

# APPOINTMENTS OF 2019-2020 SUMMER ASSIGNMENTS

Last Name	First Name	Building	Assignment	<u>Effective</u>	Rate	<u>Hours</u>	Not to Exceed
Rennard	Gina	WMHS	Summer Work- Health Office Preparation	Summer 2020	1.5 x contractual rate	35	Excecu
Bove	Patricia	Minnesauke	Summer Work- Health Office Preparation	Summer 2020	l.5 x contractual rate	35	
Higgins	Maureen	Mount	Summer Work- Health Office Preparation	Summer 2020	1.5 x contractual rate	35	
Feldman	Nan	Nassakaeg	Summer Work- Health Office Preparation	Summer 2020	1.5 x contractual	35	
Homer	Sama	District- wide	Summer Work- Health Office Preparation	Summer 2020	1.5 x contractual	35	
Long	Ann Marie	Gelinas	Summer Work- Health Office Preparation	Summer 2020	1.5 x contractual rate	35	
Trentini	Christine	Murphy	Summer Work- Health Office Preparation	Summer 2020	1.5 x contractual rate	35	
Gonzalez	Denise	WMHS	Summer Work- Health Office Preparation	Summer 2020	1.5 x contractual	35	
Berming- ham	Beth	District- wide	Summer Work- Health Office Preparation	Summer 2020	1.5 x contractual	35	
Минау	Jayne	District- wide	Summer Work- Health Office Preparation	Summer 2020	1.5 x contractual rate	35	
Rakowsky	Debbi	WMHS	Summer Social Work	Summer 2020	1/200 salary per diem	15 days	

#### Pupil Personnel Services - Summer Staffing 2020

All general and special education teachers to be appointed as substitutes during the summer in order to attend CSE and CPSE meetings in July and August.

PPS Administrators'/Teachers' Salary - A2250-1500-0000

Psych Services Instructional Salary - A2820-1500-00

Social Worker Salary - A2825-1500-0000

\*\* Codes for guidance come from Ms. Pedisich's office and ell codes come from Mr. Scanlon's office.

### Guidance Counselors

Daterro	Anthony	6/29/2020- 8/28/2020
Treder	Brian	6/29/2020- 8/28/2020
McGaley	Kevin	6/29/2020- 8/28/2020
Eisenhart	Lori	6/29/2020- 8/28/2020
Poulos	Amy	6/29/2020- 8/28/2020
Zeller	Joan	6/29/2020- 8/28/2020
Diehl	John	6/29/2020- 8/28/2020
Mirabella	Christine	6/29/2020- 8/28/2020
Anziano	Erin	6/29/2020- 8/28/2020
Sheppard	Jennifer	6/29/2020- 8/28/2020
Dinkel	Allison	6/29/2020- 8/28/2020
Olsen	Walter	6/29/2020- 8/28/2020
Sheridan	James	6/29/2020- 8/28/2020

Ryan         Darlene         6/29/2020-82/202020-82/202020-82/202020-82/202020-82/202020202020-82/20202020-82/202020202020202020-82/2020202020202020202020202020202020202	Jantzen	Leah	6/29/2020- 8/28/2020
	Ryan	Darlene	
Mathan	Ennis	Jessica	
Megara   Michelle	Indelicato	Nicole	
8/28/2020           Psychologists           Saias         Heather         6/29/2020-8/28/2020           Lambert         Michelle         6/29/2020-8/28/2020           Portal-Peffer         Lolita         6/29/2020-8/28/2020           Salazar         Jose         6/29/2020-8/28/2020           Stevens         Jennifer         6/29/2020-8/28/2020           McCabe-Fitch         Kelly         6/29/2020-8/28/2020           Murphy         Nina         6/29/2020-8/28/2020           Murphy         Nina         6/29/2020-8/28/2020           Nickerson         Nicole         6/29/2020-8/28/2020           Scocial Workers         Lennon         Sherrill         6/29/2020-8/28/2020           Roberts         Pamela         6/29/2020-8/28/2020           Virga         Michelle         6/29/2020-8/28/2020           Virga         Michelle         6/29/2020-8/28/2020           Woodruff         Leia         6/29/2020-8/28/2020           Woodruff         Leia         6/29/2020-8/28/2020           Sheiffele         Kristine         6/29/2020-8/28/2020           Herrschaft         Alison         8/28/2020           Speech Pathologists         Campo         Angela         <	Jayne	Nathan	
Salas         Heather         6/29/2020-8788/2020           Lambert         Michelle         6/29/2020-8788/2020           Portal-Pefefer         Lolita         6/29/2020-8788/2020           Salazar         Jose         6/29/2020-8788/2020           Stevens         Jennifer         6/29/2020-8788/2020           McCabe-Fitch         Kelly         6/29/2020-8788/2020           Murphy         Nina         6/29/2020-8788/2020           Murphy         Nina         6/29/2020-8788/2020           Nickerson         Nicole         6/29/2020-8788/2020           Social Workers         Lennoa         6/29/2020-8788/2020           Roberts         Pamela         6/29/2020-8788/2020           Virga         Michelle         6/29/2020-8788/2020           Virga         Michelle         6/29/2020-8788/2020           Porgione         Judy         6/29/2020-8788/2020           Rickmers         Tina Marie         6/29/2020-8788/2020           Sheiffele         Kristine         6/29/2020-8788/2020           Speech Pathologists         Campo         Angela         6/29/2020-8788/2020           Kriegel         Lisa         6/29/2020-8788/2020           Washing- Nicole         6/29/2020-8788/2020	Megara	Michelle	
SZ28/2020   SZ28			/ mamooo
Portal-   Lolita	Salas	Heather	
Pfeffer         \$1/28/2020           Salazar         Jose         6/29/2020-8/28/2020           Stevens         Jennifer         6/29/2020-8/28/2020           McCabe-Fitch         8/28/2020           Sullivan         Kelly         6/29/2020-8/28/2020           Murphy         Nina         6/29/2020-8/28/2020           Nickerson         Nicole         6/29/2020-8/28/2020           Social Workers         Lennon         Sherrill         6/29/2020-8/28/2020           Roberts         Pamela         6/29/2020-8/28/2020           Virga         Michelle         6/29/2020-8/28/2020           Virga         Michelle         6/29/2020-8/28/2020           Woodruff         Leia         6/29/2020-8/28/2020           Rickmers         Tina Marie         6/29/2020-8/28/2020           Sheiffele         Kristine         6/29/2020-8/28/2020           Herrschaft         Alison         6/29/2020-8/28/2020           Speech Pathologists         Campo         Angela         6/29/2020-8/28/2020           Kriegel         Lisa         6/29/2020-8/28/2020           Kriegel         Lisa         6/29/2020-8/28/2020           Washing-ton         Nicole         6/29/2020-8/28/2020           Blumen-thal<	Lambert	Michelle	
Stevens         Jennifer         8/28/2020           McCabe-Fitch         Kelly         6/29/2020-8/28/2020           Sullivan         Kelly         6/29/2020-8/28/2020           Murphy         Nina         6/29/2020-8/28/2020           Nickerson         Nicole         6/29/2020-8/28/2020           Social Workers         Lennon         Sherrill           Lennon         Sherrill         6/29/2020-8/28/2020           Roberts         Pamela         6/29/2020-8/28/2020           Virga         Michelle         6/29/2020-8/28/2020           Virga         Michelle         6/29/2020-8/28/2020           Woodruff         Leia         6/29/2020-8/28/2020           Rickmers         Tina Marie         6/29/2020-8/28/2020           Sheiffele         Kristine         6/29/2020-8/28/2020           Speech Pathologists         Campo         Angela         6/29/2020-8/28/2020           DcMarco         Marisa         6/29/2020-8/28/2020           Kriegel         Lisa         6/29/2020-8/28/2020           Washing-ton         Nicole         6/29/2020-8/28/2020           Blumen-thal         Theresa         6/29/2020-8/28/2020           Tauby         Catherine         6/29/2020-8/28/2020 <td></td> <td>Lolita</td> <td></td>		Lolita	
McCabe-Fitch         Kelly         6/29/2020-8/28/2020           Sullivan         Kelly         6/29/2020-8/28/2020           Murphy         Nina         6/29/2020-8/28/2020           Nickerson         Nicole         6/29/2020-8/28/2020           Social Workers         Lennon         Sherrill           Roberts         Pamela         6/29/2020-8/28/2020           Virga         Michelle         6/29/2020-8/28/2020           Virga         Michelle         6/29/2020-8/28/2020           Forgione         Judy         6/29/2020-8/28/2020           Woodruff         Leia         6/29/2020-8/28/2020           Rickmers         Tina Marie         6/29/2020-8/28/2020           Sheiffele         Kristine         6/29/2020-8/28/2020           Speech Pathologists         Campo         Angela         6/29/2020-8/28/2020           Kriegel         Lisa         6/29/2020-8/28/2020           Kriegel         Lisa         6/29/2020-8/28/2020           Washing- Nicole         6/29/2020-8/28/2020           Blumen- thai         Theresa         6/29/2020-8/28/2020           Tauby         Catherine         6/29/2020-8/28/2020	Salazar	Jose	
Fitch         8/28/2020           Sullivan         Kelly         6/29/2020-8/28/2020           Murphy         Nina         6/29/2020-8/28/2020           Nickerson         Nicole         6/29/2020-8/28/2020           Social Workers         Lennon         Sherrill         6/29/2020-8/28/2020           Roberts         Pamela         6/29/2020-8/28/2020           Virga         Michelle         6/29/2020-8/28/2020           Forgione         Judy         6/29/2020-8/28/2020           Woodruff         Leia         6/29/2020-8/28/2020           Rickmers         Tina Marie         6/29/2020-8/28/2020           Sheiffele         Kristine         6/29/2020-8/28/2020           Herrschaft         Alison         6/29/2020-8/28/2020           Speech Pathologists         Campo         Angela         6/29/2020-8/28/2020           DeMarco         Marisa         6/29/2020-8/28/2020           Kriegel         Lisa         6/29/2020-8/28/2020           Washing-         Nicole         6/29/2020-8/28/2020           Blumen-         Theresa         6/29/2020-8/28/2020           Heck         Melissa         6/29/2020-8/28/2020           Tauby         Catherine	Stevens	Jennifer	
Murphy         Nina         8/28/2020           Murphy         Nina         6/29/2020-8/28/2020           Nickerson         Nicole         6/29/2020-8/28/2020           Social Workers         ****           Lennon         Sherrill         6/29/2020-8/28/2020           Roberts         Pamela         6/29/2020-8/28/2020           Virga         Michelle         6/29/2020-8/28/2020           Forgione         Judy         6/29/2020-8/28/2020           Woodruff         Leia         6/29/2020-8/28/2020           Rickmers         Tina Marie         6/29/2020-8/28/2020           Sheiffele         Kristine         6/29/2020-8/28/2020           Herrschaft         Alison         6/29/2020-8/28/2020           Speech Pathologists         ***           Campo         Angela         6/29/2020-8/28/2020           Kriegel         Lisa         6/29/2020-8/28/2020           Kriegel         Lisa         6/29/2020-8/28/2020           Washing-         Nicole         6/29/2020-8/28/2020           Blumen-         Theresa         6/29/2020-8/28/2020           Heck         Melissa         6/29/2020-8/28/2020           Tauby         Catherine         6/29/2020-8/28/2020		Kelly	
Speech Pathologists   Campo   Marisa   Speech Pathologists   Campo   Marisa   Speech Pathologists   Campo   Marisa   Speech   Cappa   Cappa   Speech	Sullivan	Kelly	
Social Workers	Murphy	Nina	
Lennon         Sherrill         6/29/2020-8/28/2020           Roberts         Pamela         6/29/2020-8/28/2020           Virga         Michelle         6/29/2020-8/28/2020           Forgione         Judy         6/29/2020-8/28/2020           Woodruff         Leia         6/29/2020-8/28/2020           Rickmers         Tina Marie         6/29/2020-8/28/2020           Sheiffele         Kristine         6/29/2020-8/28/2020           Sheiffele         Kristine         6/29/2020-8/28/2020           Speech Pathologists         Campo         Angela         6/29/2020-8/28/2020           DeMarco         Marisa         6/29/2020-8/28/2020           Kriegel         Lisa         6/29/2020-8/28/2020           Washing- ton         Nicole         6/29/2020-8/28/2020           Blumen- thai         Theresa         6/29/2020-8/28/2020           Heck         Melissa         6/29/2020-8/28/2020           Tauby         Catherine         6/29/2020-8/28/2020	Nickerson	Nicole	
Lennon         Sherrill         6/29/2020-8/28/2020           Roberts         Pamela         6/29/2020-8/28/2020           Virga         Michelle         6/29/2020-8/28/2020           Forgione         Judy         6/29/2020-8/28/2020           Woodruff         Leia         6/29/2020-8/28/2020           Rickmers         Tina Marie         6/29/2020-8/28/2020           Sheiffele         Kristine         6/29/2020-8/28/2020           Sheiffele         Kristine         6/29/2020-8/28/2020           Speech Pathologists         Campo         Angela         6/29/2020-8/28/2020           DeMarco         Marisa         6/29/2020-8/28/2020           Kriegel         Lisa         6/29/2020-8/28/2020           Washing- ton         Nicole         6/29/2020-8/28/2020           Blumen- thai         Theresa         6/29/2020-8/28/2020           Heck         Melissa         6/29/2020-8/28/2020           Tauby         Catherine         6/29/2020-8/28/2020			
Roberts         Pamela         6/29/2020-8/28/2020           Virga         Michelle         6/29/2020-8/28/2020           Forgione         Judy         6/29/2020-8/28/2020           Woodruff         Leia         6/29/2020-8/28/2020           Rickmers         Tina Marie         6/29/2020-8/28/2020           Sheiffele         Kristine         6/29/2020-8/28/2020           Hemschaft         Alison         6/29/2020-8/28/2020           Speech Pathologists         Campo         Angela         6/29/2020-8/28/2020           DeMarco         Marisa         6/29/2020-8/28/2020           Kriegel         Lisa         6/29/2020-8/28/2020           Washing- ton         Nicole         6/29/2020-8/28/2020           Blumen- thal         Theresa         6/29/2020-8/28/2020           Heck         Melissa         6/29/2020-8/28/2020           Tauby         Catherine         6/29/2020-8/28/2020	Social Work	ers	
Virga         Michelle         6/29/2020-8/28/2020           Forgione         Judy         6/29/2020-8/28/2020           Woodruff         Leia         6/29/2020-8/28/2020           Rickmers         Tina Marie         6/29/2020-8/28/2020           Sheiffele         Kristine         6/29/2020-8/28/2020           Henschaft         Alison         6/29/2020-8/28/2020           Speech Pathologists         Campo         Angela         6/29/2020-8/28/2020           DeMarco         Marisa         6/29/2020-8/28/2020           Kriegel         Lisa         6/29/2020-8/28/2020           Washing-ton         Nicole         6/29/2020-8/28/2020           Blumen-thal         Theresa         6/29/2020-8/28/2020           Heck         Melissa         6/29/2020-8/28/2020           Tauby         Catherine         6/29/2020-8/28/2020	• •		
Forgione         Judy         6/29/2020-8/28/2020           Woodruff         Leia         6/29/2020-8/28/2020           Rickmers         Tina Marie         6/29/2020-8/28/2020           Sheiffele         Kristine         6/29/2020-8/28/2020           Henschaft         Alison         6/29/2020-8/28/2020           Speech Pathologists         Campo         Angela         6/29/2020-8/28/2020           DeMarco         Marisa         6/29/2020-8/28/2020           Kriegel         Lisa         6/29/2020-8/28/2020           Washing-ton         Nicole         6/29/2020-8/28/2020           Blumen-thal         Theresa         6/29/2020-8/28/2020           Heck         Melissa         6/29/2020-8/28/2020           Tauby         Catherine         6/29/2020-8/28/2020	Lennon	Sherrill	8/28/2020 6/29/2020-
Woodruff         Leia         6/29/2020-8/28/2020           Rickmers         Tina Marie         6/29/2020-8/28/2020           Sheiffele         Kristine         6/29/2020-8/28/2020           Hentschaft         Alison         6/29/2020-8/28/2020           Speech Pathologists         Campo         Angela         6/29/2020-8/28/2020           DeMarco         Marisa         6/29/2020-8/28/2020           Kriegel         Lisa         6/29/2020-8/28/2020           Washing-ton         Nicole         6/29/2020-8/28/2020           Blumen-thai         Theresa         6/29/2020-8/28/2020           Heck         Melissa         6/29/2020-8/28/2020           Tauby         Catherine         6/29/2020-8/28/2020	Lennon	Sherrill Pamela	8/28/2020 6/29/2020- 8/28/2020 6/29/2020-
Rickmers         Tina Marie         6/29/2020-8/28/2020           Sheiffele         Kristine         6/29/2020-8/28/2020           Herrschaft         Alison         6/29/2020-8/28/2020           Speech Pathologists         Campo         Angela         6/29/2020-8/28/2020           DeMarco         Marisa         6/29/2020-8/28/2020           Kriegel         Lisa         6/29/2020-8/28/2020           Washing-ton         Nicole         6/29/2020-8/28/2020           Blumen-thal         Theresa         6/29/2020-8/28/2020           Heck         Melissa         6/29/2020-8/28/2020           Tauby         Catherine         6/29/2020-8/28/2020	Lennon Roberts Virga	Sherrill Pamela Michelle	8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020-
Sheiffele         Kristine         6/29/2020-8/28/2020           Herrschaft         Alison         6/29/2020-8/28/2020           Speech Pathologists         Campo Angela 6/29/2020-8/28/2020           DeMarco         Marisa 6/29/2020-8/28/2020           Kriegel         Lisa 6/29/2020-8/28/2020           Washing-ton         Nicole 6/29/2020-8/28/2020           Blumenthal         Theresa 6/29/2020-8/28/2020           Heck         Melissa 6/29/2020-8/28/2020           Tauby         Catherine         6/29/2020-	Lennon Roberts Virga Forgione	Sherrill Pamela Michelle Judy	8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020-
Herrschaft         Alison         6/29/2020-8/28/2020           Speech Pathologists         Campo Angela 6/29/2020-8/28/2020           DeMarco         Marisa 6/29/2020-8/28/2020           Kriegel         Lisa 6/29/2020-8/28/2020           Washing- ton 8/28/2020         Nicole 6/29/2020-8/28/2020           Blumenthal Theresa that Melissa 6/29/2020-8/28/2020         6/29/2020-8/28/2020           Tauby         Catherine 6/29/2020-8/28/2020	Lennon Roberts Virga Forgione Woodruff	Sherrill Pamela Michelle Judy Leia	8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020
Speech Pathologists   Campo   Angela   6/29/2020-8/28/2020     DeMarco   Marisa   6/29/2020-8/28/2020     Kriegel   Lisa   6/29/2020-8/28/2020     Washing-	Lennon Roberts Virga Forgione Woodruff Rickmers	Sherrill Pamela Michelle Judy Leia Tina Marie	8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020
Campo         Angela         6/29/2020-8/28/2020           DeMarco         Marisa         6/29/2020-8/28/2020           Kriegel         Lisa         6/29/2020-8/28/2020           Washing- ton         Nicole         6/29/2020- 8/28/2020           Blumen- thai         Theresa         6/29/2020- 8/28/2020           Heck         Melissa         6/29/2020- 8/28/2020           Tauby         Catherine         6/29/2020-	Lennon Roberts Virga Forgione Woodruff Rickmers Sheiffele	Sherrill Pamela Michelle Judy Leia Tina Marie Kristine	8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020
B/28/2020           DeMarco         Marisa         6/29/2020-8/28/2020           Kriegel         Lisa         6/29/2020-8/28/2020           Washing-ton         Nicole         6/29/2020-8/28/2020           Blumenthal         Theresa         6/29/2020-8/28/2020           Heck         Melissa         6/29/2020-8/28/2020           Tauby         Catherine         6/29/2020-	Lennon Roberts Virga Forgione Woodruff Rickmers Sheiffele	Sherrill Pamela Michelle Judy Leia Tina Marie Kristine	8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020-
R/28/2020   Kriegel   Lisa   6/29/2020-8/28/2020	Lennon Roberts Virga Forgione Woodruff Rickmers Sheiffele Henschaft	Sherrill Pamela Michelle Judy Leia Tina Marie Kristine Alison	8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020-
Washing-ton         Nicole         6/29/2020-           Blumenthal         Theresa         6/29/2020-           thai         8/28/2020           Heck         Melissa         6/29/2020-           Tauby         Catherine         6/29/2020-	Lennon Roberts Virga Forgione Woodruff Rickmers Sheiffele Henschaft Speech Patho	Sherrill  Pamela  Michelle  Judy  Leia  Tina Marie  Kristine  Alison	8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020
ton 8/28/2020  Blumenthal Theresa 6/29/2020- thal 8/28/2020  Heck Melissa 6/29/2020- 8/28/2020  Tauby Catherine 6/29/2020-	Lennon Roberts Virga Forgione Woodruff Rickmers Sheiffele Herrschaft Speech Pathe Campo	Sherrill Pamela Michelle Judy Leia Tina Marie Kristine Alison	8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020
thal 8/28/2020  Heck Melissa 6/29/2020- 8/28/2020  Tauby Catherine 6/29/2020-	Lennon Roberts Virga Forgione Woodruff Rickmers Sheiffele Herrschaft Speech Pathe Campo DeMarco	Sherrill Pamela Michelle Judy Leia Tina Marie Kristine Alison Ologists Angela Marisa	8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020
Tauby         Catherine         6/29/2020-	Lennon Roberts Virga Forgione Woodruff Rickmers Sheiffele Herrschaft Speech Paths Campo DeMarco Kriegel Washing-	Sherrill Pamela Michelle Judy Leia Tina Marie Kristine Alison clogists Angela Marisa Lisa	8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020
	Lennon Roberts Virga Forgione Woodruff Rickmers Sheiffele Herrschaft Speech Paths Campo DeMarco Kriegel Washington Blumen-	Sherrill Pamela Michelle Judy Leia Tina Marie Kristine Alison Dlogists Angela Marisa Lisa Nicole	8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020
	Lennon Roberts Virga Forgione Woodruff Rickmers Sheiffele Herrschaft Speech Pathe Campo DeMarco Kriegel Washing-ton Blumen-thal	Sherrill Pamela Michelle Judy Leia Tina Marie Kristine Alison blogists Angela Marisa Lisa Nicole Theresa	8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020 6/29/2020- 8/28/2020

Levenberg	Lauri			6/29/2020-		
Broome	Tara			8/28/2020 6/29/2020-		
McCrave	Terri			8/28/2020 6/29/2020-		
				8/28/2020		
Juvet	Tracey			6/29/2020- 8/28/2020		
Gonzalez	Mary			6/29/2020- 8/28/2020		
Woods	Sandy			6/29/2020- 8/28/2020		
Rimmer	Kerri Ann			6/29/2020- 8/28/2020		
Sementilli	Angela			6/29/2020- 8/28/2020		
Fenigstein	Kathryn			6/29/2020- 8/28/2020		
Mulham	Corinne			6/29/2020- 8/28/2020		
Carey	Robin			6/29/2020- 8/28/2020		
Crowley	Kaitlyn			6/29/2020- 8/28/2020		
Guidance Co Bergson	ordinating Chai Linda	rperson		6/29/2020-		
Coordinating	Chairperson fo	r Special Educa	tion	8/28/2020 6/29/2020-		
Reyes	Maureen			8/28/2020 6/29/2020-		
				8/28/2020		
2020 Summe	r Enrichment P	rogram				
Carpenter	Mary	Mount	Assistant	7/20/2020- 7/31/2020	\$15/hr	\$600.00
Conlon	Toni	Mount	Sweet Tooth	7/20/2020- 7/31/2020	\$40/hr	\$1,200.00
Cooper	Jenna	Mount	Science FUNdamentals: The Innovation	7/20/2020- 7/31/2020	\$25/hr	\$750.00
Geedman	Lauren	Mount	Lab Dr. Suess	7/20/2020-	\$25/hr	\$750.00
Kain	Bonnie	Mount	Assistant	7/31/2020 7/20/2020-	\$15/hr	\$600.00
Massi-	Kim	Mount	Multimedia	7/31/2020 7/20/2020-	\$35/hr	\$1,050.00
Impelli- zzeri			Arts & Crafts	7/31/2020		
Matzelle	Denise	Mount	On-Site Supervisor	7/20/2020- 7/31/2020	\$45/lu	\$1,800.00
Rhodes	Debbie	Mount	Fun Food Crafts	7/20/2020- 7/31/2020	\$25/hr	\$750.00
Seydel	Therese	Mount	Assistant	7/20/2020- 7/31/2020	\$15/hr	\$600.00
McNamara	Laura	WMHS	Summer Work - Math	Summer 2020	2020-2021 Contractual Daily Rate	6 Days
Cadolino	Joanna	WMHS	Summer Work - ELA	Summer 2020	2020-2021 Contractual Daily Rate	6 Days
Kost	Maureen	WMHS	Summer Work - Phys Ed	Summer 2020	2020-2021 Contractual Daily Rate	10 Days
Kula	Mamie	WMHS	Summer Work - Science	Summer 2020	2020-2021 Contractual Daily Rate	6 Days
Trettuer						

Hanczor	Michelle	Gelinas	Summer Work - ELA	Summer 2020	2020-2021 Contractual Daily Rate		3 Days
Schuc- hman	Peter	Gelinas	Summer Work - Science	Summer 2020	2020-2021 Contractual Daily Rate		3 Days
Cordina	Jacqueline	Gelinas	Summer Work - Math	Summer 2020	2020-2021 Contractual Daily Rate		3 Days
Duffy	Catherine	Murphy	Summer Work - ELA	Summer 2020	2020-2021 Contractual Daily Rate		3 Days
Nachtigall	Dawn	Murphy	Summer Work - Science	Summer 2020	2020-2021 Contractual Daily Rate		'3 Days
Vetro	Rocco	Murphy	Summer Work - Math	Summer 2020	2020-2021 Contractual Daily Rate		3 Days
Pollera	Anthony	North Country	Summer Work - Music	Summer 2020	2020-2021 Contractual Daily Rate		15 Days
Kilkenny	Kerri	Elementary	Summer Work - Health/PE	Summer 2020	2020-2021 Contractual Daily Rate		5 Days
Weik	Andy	North Country	Summer Work - IT	Summer 2020	2020-2021 Contractual Daily Rate		4 Days
Lamiroult	Brenda	Districtwide	Substitute	2020-2021	\$77.76/hr	7	\$538.93
Peny	Leanne	Districtwide	Collegial Circle Substitute	2020-2021	\$77.76/hr	7	\$538.93
Alexander	Dawn	Districtwide	Collegial Circle New Teacher Orientation & Preparation	Summer 2020	2020-2021 Contractual Daily Rate		3 Days
Lamiroult	Brenda	Districtwide	New Teacher Orientation, Substitute Orientation & Preparation	Summer 2020	2020-2021 Contractual Daily Rate		4 Days
Репу	Leanne	Districtwide	New Teacher Orientation, Substitute Orientation & Preparation	Summer 2020	2020-2021 Contractual Daily Rate		4 Days
Diehl	John	WMHS	ACT/SAT/SAT II Test Coordinator	2020-2021	\$50/hr	150	\$7,500.00
Mirabella	Christine	WMHS	SAT/ACT Test Coordinator	2020-2021	\$50/hr	150	\$7,500.00
Tortorici	Gina	Mount	Summer Jumpstart	2020-2021	\$57.89	32	\$1,852.48
Russo	Stacey	Ward	Summer	2020-2021	\$57.89	18	\$1,042.02
Crispino	Lisa	Melville Academy	Jumpstart Summer Credit Recovery- English	7/1/20- 7/31/20	\$57.89/hr.	64	\$3,704.96
DeRosa	Michael	Academy	Summer Credit Recovery- Math	7/1/20- 7/31/20	\$57.89/hr.	32	\$1,852.48
DiFede	Christine	Academy	Summer Credit Recovery- Earth Science	7/1/20- 7/31/20	\$57.89/hr.	48	\$2,778.72
Kane	Allison	Academy	Summer Credit Recovery- SS/History	7/1/20- 7/31/20	\$57.89/hr,	32	\$1,852.48
Muscarella	Christine	Academy	Summer Credit Recovery- PE/Health	7/1/20- 7/31/20	\$57.89/hr.	.16	\$926.24
Oliver	Vincent	Academy	Summer Credit Recovery- History	7/1/20- 7/31/20	\$57.89/hr.	32	\$1,852.48
Petruzzi	Jeanne	Academy	Summer Credit Recovery- Math	7/1/20- 7/31/20	\$57.89/hr.	32	\$1,852.48

Saputo   Claudia   Academy   Summer Credit   7/1/20-   \$57.89/hr.   16   Recovery-   7/31/20   Spanish	\$926.24 \$2,778.72 4 days 4 days
Zeidman   Stacey   Academy   Summer Credit   7/1/20-   \$57.89/hr.   48   Recovery-   7/31/20   Special   Education	4 days
planning, 2020 Daily scheduling, and Contractual transition for Rate Summer 2020 Zeidman Stacey Academy Intakes, Summer 2020-Daily planning, 2020 Daily	·
scheduling, and Contractual transition for Rate Summer 2020  Zeidman Stacey Academy Intakes, Summer 2020-2021 planning, 2020 Daily	4 days
Zeidman Stacey Academy Intakes, Summer 2020-2021 planning, 2020 Daily	4 days
transition for Rate Summer 2020	
Summer ESY Program 2020	
Anderson Melissa Arrowhead Teacher 7/6/20- \$300/day	
8/14/20 Corbett Janine Arrowhead Teacher 7/6/20- \$300/day	
8/14/20 Crowley Kaitlyn Arrowhead S/L 7/6/20- \$300/day	
8/14/20  Donahue Kate Arrowhead Teacher 7/6/20- \$300/day	
8/14/20 Fenigstein Kathryn Arrowhead S/L 7/6/20- \$300/day	
8/14/20  Kossack Danielle Arrowhead S/L 7/6/20- \$300/day	
Schwartz Danielle Arrowhead Teacher 7/6/20- \$300/day	
8/14/20 Hegarty Alex Arrowhead RR Teacher 7/6/20- \$50.00/hour	
8/14/20 March Lee Ann Arrowhead RR Teacher 7/6/20- \$50.00/hour	
8/14/20 Propper Kim Arrowhead RR Teacher 7/6/20- \$50.00/hour	
8/14/20 Bisceglia Katherine Arrowhead TA 7/6/20- \$19.00/hr	
8/14/20 McHugh Karen Arrowhead TA 7/6/20- \$19.00/hr	
8/14/20  Ryan Peter Arrowhead TA 7/6/20- \$19.00/hr	
8/14/20 Scaglione Fran Arrowhead TA 7/6/20- \$19.00/hr	
8/14/20 Thomas Caitlin Arrowhead TA 7/6/20- \$19.00/hr	
8/14/20	
8/14/20	
8/14/20	
Ziffero Laura Arrowhead TA 7/6/20- \$19.00/hr 8/14/20	
Zoder Regina Arrowhead TA 7/6/20- \$19.00/hr 8/14/20	
Substitutes  LaScala Renee Arrowhead Principal 7/6/20- \$325.00/day	
8/14/20 LaCapria Melissa Arrowhead Principal 7/6/20- \$325.00/day	
8/14/20 Murphy Chris Arrowhead Principal 7/6/20- \$325.00/day	
8/14/20 Royes Maureen Arrowhead Principal 7/6/20- \$325.00/day	
8/14/20  Zeidman Stacey Arrowhead Principal 7/6/20- \$325.00/day	
8/14/20  Kutchma Andrew Teacher \$300/day	
DeSantis Christine Arrowhead TA 7/2/18- 14.62/hr.	
8/10/18 Endres Lisa Arrowhead TA 7/2/18- 14.62/hr.	
8/10/18 Haff Nicole Arrowhead TA 7/2/18- 14.62/hr.	
8/10/18 McHugh Karen Airowhead TA 7/6/20- 14.62/hr.	
8/14/20 Mergolino Josephine Arrowhead TA 7/2/18- 14.62/hr.	
8/10/18  Rupe Allison Arrowhead TA 7/2/18- 14.62/hr.	
8/10/18  Rakowsky Debbi WMHS Summer Social 7/1/2020 — 1/200 Salary	15 days
Work 8/31/2020 - p. diem	

On motion by Mrs. Gische, seconded by Mr. Vizzo, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

#### Non-Instructional

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Three Village Board of Education approve the instructional personnel items as described in the schedules listed below:

<u>Name</u>	School/ Assignment	Effective Date	Years of Service
Aupperiee, Lawrence	District-wide/ Assistant Plant Facilities Administrator	8/31/2020	23 yrs. 11.5 mos.
Davis, Adria	Murphy Junior High School/ Office Assistant	6/30/2020	21 yrs. & 2 mos.
Esposito, Diana	Mount Elementary School/ Office Assistant	6/29/2020	24 yrs. & 8 mos.
Goldman, Patricia	Arrowhead Elementary School/ Senior Stenographer	6/29/2020	27 yrs. 1 mo.
Hiler, Joette	Office of Human Resources/ Senior Office Assistant	6/29/2020	16 yrs. & 9 mos.
Jordan, Lorraine	District Registrar/ Principal Office Assistant	6/29/2020	25 yrs. & 10 mos.
Koch, Susan	Minnesauke Elementary School/ Office Assistant	6/30/2020	26 yrs. & 9 mos.
Koepplin, Margaret	Office of Educational Services/ Principal Office Assistant (Confidential)	6/29/2020	12 yrs. & 1 mos.
Massano, Rosemarie	Ward Meiville High School/ Custodial Worker I	6/29/2020	42 yrs, & 2 mos.
Milano, Michael	Nassakeag Elementary/ Custodial Worker II	6/29/2020	36 yrs. & 9 mos.
Minnigan, Ann	Minnesauke Elementary School/ Senior Stenographer	6/29/2020	26 yrs. & 4 mos.
Szczepaniak, Kevin	Ward Melville High School/ Custodial Worker I	6/29/20	34 yrs. & 5 mos.

#### RESIGNATIONS

<u>Name</u>	School/ Assignment	Effective Date	Length of Service
Governale, Christine	Continuing Education Supervisor/ North Country	7/1/2020	2 yrs.
Ingrassia, Andrea	Setauket Elementary School/ School Monitor	6/30/2020	1 yr. & 8 mos.
Marino, Claudia	Setauket Elementary School/ Special Education Aide	6/30/2020	1 yr. & 4 mos.

#### APPOINTMENTS TO NON-INSTRUCTIONAL POSITIONS

#### Clerical

Bishop, Samantha 12 month Office Assistant (Step 6/Level 1)

Setauket Elementary School Replacing: Deb Weissman Annual Salary: \$43,992 (prorated) Effective: August 3, 2020

Fingerprint clearance has been received and is on file.

### CHANGES OF STATUS

#### Clericals

Gonsalves, Theresa

From: Senior Account Clerk (Step 12/Level 5) Office of Child Nutrition To: Principal Office Assistant (Step 14/Level 6)

District Registrar

Replacing: Lorraine Jordan (retired) Annual Salary: \$72,262 Effective: July 1, 2020

From: Principal Office Assistant Hunt, Lori

Office of Executive Director of Human Resources & Secondary Curriculum To: Principal Office Assistant (Confidential) Office of the Assistant Superintendent for Educational Services

Replacing: Margaret Koepplin (retired) Annual Salary: \$87,574

Annual Stipend: \$7,000 Effective: July 1, 2020

Koyles, Luann From: Account Clerk (Step 11/Level 4)

To: Senior Account Clerk (Step 11/Level 5)

**Business Office** 

Annual Salary: \$60,345 (prorated)

Effective: June 10, 2020

#### SALARY ADJUSTMENTS

Stipends for Cook, Assistant Cooks, Lead Food Service Workers, Security Supervisor and Lead Monitors

Name	Position/ Assignment	<u>Effective</u>	Stipend Amount
Deedy, Jessica	Heat Cook/ Ward Melville HS	7/01/20	\$10,000 annually
Kuffner, Susan Layden, Scan	Cook/ Ward Melville HS Assistant Cook/ Ward Melville HS	7/01/20 7/01/20	\$3,600 annually \$2,700 annually
Pallotta, Jane	Assistant Cook/ Ward Melville High School	7/01/20	\$2,700 annually
Ciaravino, Nicole	Lead Food Service Worker/ Murphy JHS	7/01/20	\$1,500 annually
Daume Marilyn	Lead Food Service Worker/ Arrowhead ES	7/01/20	\$1,500 annually
Geedman, Judith	Lead Food Service Worker/ Mount ES	7/01/20	\$1,500 annually
Gerogianis, Denise	Lead Food Service Worker/ Setauket ES	7/01/20	\$1,500 annually
Gross, Nicole	Lead Food Service Worker/ Gelinas JHS	7/01/20	\$1,500 annually
Schoulder, Barbara	Lead Food Service Worker/ Minnesauke ES	7/01/2	\$1,500 annually
Wapaus, Judy	Lead Food Service Worker/ Nassakeag ES	7/01/20	\$1,50 annually
Feehan, Deborah	Lead Monitor/ Nassakeag ES	7/01/20	\$2.50 hourly
Holmes, Jill	Lead Monitor/ Setauket ES	7/01/20	\$2.50 hourly
Klotz, Margaret	Lead Monitor/ Minnesauke ES	7/01/20	\$2.50 hourly
Lucido, Barbara	Lead Monitor/ Arrowhead ES	7/01/20	\$2.50 hourly
Sharkey, Donna	Lead Monitor/ Mount ES	7/01/20	\$2.50 hourly
Keough, Terrence	Patrol Supervisor/ District-wide	7/01/20	\$5,000 annually
Mailins, Robert	In-Building Security Supervisor/ Ward Melville High School	7/01/20	\$5,000 annually
Tucci, Anthony	Security Supervisor/ District-wide	7/01/20	\$5,000 annually

# APPOINTMENTS TO NON-INSTRUCTIONAL SUBSTITUTE POSITIONS

Clericals

Esposito, Diana Salary - \$14.00/hr. Effective: 6/29/20

Finperprint clearance has been received and is on file.

Hiler, Joette Salary - \$14.00 Effective: 6/29/20

Fingerprint clearance has been received and is on file.

Jordan, Lorraine Salary - \$35.10 Effective: 6/29/20

This recommendation is for substituting for the purpose of training Ms. Jordan's replacement. Fingerprint clearance has been received and is on file.

Koch, Susan Salary - \$14.00/hr. Effective: 6/30/20

Fingerprint clearance has been received and is on file.

Koepplin, Margaret Salary - \$14.00/hr. Effective: 6/29/20

Fingerprint clearance has been received and is on file.

<u>Custodial</u>

Charpin, Alex Salary - \$14.00/hr.

Effective: 6/22/20-9/4/2020

Mr. Charpin will be an IT summer intern. Fingerprint clearance has been received and is on file. He is the son of Tammy Dalton, teacher at WMHS. Hourly rate is subject to change after the BOE Reorg. on 7/8/2020.

Masrour, Elyas

Salary - \$14.00/hr.

Effective: 6/22/20- 9/4/2020

Mr. Masrour will be an IT summer intern. He is a current WMHS student and as such, fingerprinting is not needed. Hourly rate is subject to change after the BOE Reorg. on 7/8/2020.

Oestreicher, Salinger

Salary - \$14.00/hr.

Effective: 6/22/20-9/4/2020

Mr. Oestreicher will be an IT summer intern. Fingerprint clearance has been received and is on file. Mr. Oestreicher is the son of Tammy Dalton, teacher at WMHS. Hourly rate is subject to change after the BOE Reorg. 7/8/2020.

Ingrassia, Andrea

Salary - \$14.00/hr. Effective: 7/1/2020

Ms. Ingrassia resigned from her School Monitor position effective 6/30/2020 and has asked to be added to the substitute Monitor/Special Education Aide list. Fingerprint clearance is on file.

# APPOINTMENTS OF HOURLY EXTRA ASSIGNMENTS

Last Name	<u>First</u> Name	Building	Assignment	Effective	Rate	<u>Hours</u>	Not to Exceed
Lardaro*	Isabella	Nassakeag	Emergency Child Care Program	3/30/2020	\$15.09/hr		
Lorenzen*	Hannah	Nassakeag	Emergency Child Care Program	3/30/2020	\$15.09/hr		
Zebrowski*	James	Nassakeag	Emergency Child Care Program	3/30/2020	\$15.09/hr		

\*The above were emergency approved by the Superintendent to work in the Emergency Child Care Program with an effective date of 3/30/2020. Ms. Lardaro and Ms. Lorenzen have previously worked in the Summer recreation program, and Mr. Zebrowski is currently a monitor.

DeAngelis	Diana	North Country	Election Worker- Budget Vote	6/9- 6/12/20	\$25.00/hr	TBD	TBD
Freiss	Caroline	North Country	Election Worker- Budget Vote	6/9- 6/12/20	\$25.00/hr	TBD	TBD
Wiberly	Donna	North Country	Election Worker- Budget Vote	6/9- 6/12/20	\$25.00/hr	TBD	TBD

#### 2020-2021 Adult/Continuing Education

Garcia	Anita	WMHS	Program/Trip Coordinator	2020-2021	\$13,500.00	\$13,500.00
Ninia	Lynn	WMHS	Registrar- Fall	2020-2021	\$500.00	\$500.00
Ninia	Lynn	WMHS	Registrar- Spring	2020-2021	\$500.00	\$500.00

# SUMMER RECREATION PROGRAM RETURNING STAFF

Last Name	First Name	Building	Effective	Salary	Assign- ment	Position	<u>Fingerprints</u>
Acosta	Susan	Mount	7/6/20- 8/14/20	\$14.00	Half Day	Monitor/ Aide	District Employee
Agostino	Summer	Minnesauke/ Setauket	7/6/20- 8/14/20	\$12.00	Full Day	Counselor	Current WM Student
Anderson	Rachel	Minnesauke/ Setauket	7/6/20- 8/14/20	\$15.00	Full Day	Counselor	Fingerprinted
Aprahamian	Christine	Minnesauke/ Setauket/ Mount	7/6/20- 8/14/20	\$50.00	Substitute	Nurse	Fingerprinted
Ausset	Alison	Mount	7/6/20- 8/14/20	\$15.50	Half Day	Monitor/ Aide	District Employee
Axelsen	Margaret	Mount .	7/6/20- 8/14/20	\$13.50	Half Day	Counselor	Fingerprinted
Basso	Raymond	Minnesauke/ Setauket	7/6/20- 8/14/20	\$17.00	Full Day	Lead Counselor	Fingerprinted
Beck	Jack	Minnesauke/ Setauket/ Mount	7/6/20- 8/14/20	\$12.50	Substitute	Substitute	Fingerprinted
Betz	Catherine	Minnesauke/ Setauket	7/6/20- 8/14/20	\$13.50	Full Day	Counselor	Fingerprinted
Bhella	Cole	Mount	7/6/20- 8/14/20	\$13.00	Half Day	Counselor	Graduating 2020

Bonventure	Samantha	Minnesauke/	7/6/20-	\$16.00	Full Day	Lead Counselor	Graduating 2020
Caselli	Jake	Setauket Minnesauke/	8/14/20 7/6/20-	\$14.50	Substitute	Substitute	Fingerprinted
		Setauket/ Mount	8/14/20				
Cavanagh	Samantha	Minnesauke/ Setauket	7/6/20- 8/14/20	\$14.50	Full Day	Counselor	Fingerprinted
Ciardullo	Jessica	Minnesauke/ Setauket	7/6/20- 8/14/20	\$16.50	Full Day	Lead Counselor	Fingerprinted
Cohen	Alexa	Mount	7/6/20- 8/14/20	\$13.00	Half Day	Counselor	Fingerprinted
Coleman	Rick	Minnesauke/ Setauket	7/6/20- 8/14/20	\$16.00	Full Day	Lead Counselor	Fingerprinted
DeGennaro	Dineen .	Minnesauke/ Setauket/ Mount	7/6/20- 8/14/20	\$50.00	Substitute	Nurse	District Employee
Delligatti	Anna	Minnesauke/ Setauket	7/6/20- 8/14/20	\$16.00	Full Day	Lead Counselor (Sports)	Fingerprinted
Dion	Jean-Pierre	Minnesauke/ Setauket/ Mount	7/6/20- 8/14/20	\$40.00	Full Day/Half Day	Supervisor	Fingerprinted
Donovan	Ashley	Minnesauke/ Setauket/ Mount	7/6/20- 8/14/20	\$13.50	Substitute	Substitute	Fingerprinted
Downes	Olivia	Minnesauke/ Setauket	7/6/20- 8/14/20	\$12.00	Full Day	Counselor	Current WM Student
Dreyer	Brendan	Minnesauke/ Setauket	7/6/20- 8/14/20	\$13.00	Full Day	Counselor	Graduating 2020
Driscoll	Christina	Minnesauke/ Setauket/	7/6/20- 8/14/20	\$50.00	Full/Half	Director	District Employee
Gaete	Ariel	Mount Minnesauke/ Setauket/	7/6/20- 8/14/20	\$13.00	Substitute	Substitute	Fingerprinted
Gallo	Alexandra	Mount Minnesauke/ Setauket	7/6/20- 8/14/20	\$13.50	Full Day	Counselor	Fingerprinted
Gliganic	Alix	Minnesauke/ Setauket	7/6/20- 8/14/20	\$12.00	Full Day	Counselor	Current WM Student
Gressin	Jacob	Minnesauke/ Setauket	7/6/20- 8/14/20	\$16.00	Full Day	Counselor	Current WM Student
Heyder	Thomas	Minnesauke/ Setauket	7/6/20- 8/14/20	\$13.00	Full Day	Counselor	Fingerprinted
Kaplan	Steven	Minnesauke/ Setauket	7/6/20- 8/14/20	\$12.00	Full Day	Counselor	Current WM Student
Kellennan	Alexandra	Minnesauke/	7/6/20-	\$13.50	Full Day	Counselor	Fingerprinted
Kenny	Christopher	Setauket Minnesauke/	8/14/20 7/6/20-	\$14.50	Full Day	Counselor	Fingerprinted
Koester	James	Setauket Mount	8/14/20 7/6/20-	\$13.00	Half Day	Counselor	Fingerprinted
Kowalenko	Randi	Minnesauke/	8/14/20 7/6/20-	\$19.00	Full Day	TA	District Employee
Larkin	Amelia	Setauket Minnesauke/	8/14/20 7/6/20-	\$12.00	Full Day	Counselor	Current WM
LaRosa	Cassidy	Setauket Minnesauke/	8/14/20 7/6/20-	\$13.50	Full Day	Counselor	Student Fingerprinted
Lemer	Sarah	Setauket Minnesauke/	8/14/20 7/6/20-	\$13.00	Substitute	Substitute	Fingerprinted
	1217	Setauket/ Mount	8/14/20	£12.60	11-16 D	C	Commet NBA
Liguori	Jillian	Mount	7/6/20- 8/14/20	\$12.50	Half Day	Counselor	Current WM Student
Litka	Kayleen	Mount	7/6/20- 8/14/20	\$13.50	Half Day	Counselor	Fingerprinted
Liucci	Daniel	Minnesauke/ Setauket/ Mount	7/6/20- 8/14/20	\$13.50	Substitute	Substitute	Fingerprinted
Liucci	Kerri	Minnesauke/ Setauket/	7/6/20- 8/14/20	\$13.50	Substitute	Substitute	Fingerprinted
Liucci	Nicole	Mount Minnesauke/ Setauket/	7/6/20- 8/14/20	\$13.50	Substitute	Substitute	Fingerprinted
Lorenzen	Hannah	Mount Mount	7/6/20- 8/14/20	\$13.50	Half Day	Counselor	Fingerprinted
Marcellino	AlexaRose	Mount	7/6/20-	\$13.00	Half Day	Counselor	Graduating 2020
Marsh	Michael	Mount	8/14/20 7/6/20-	\$13.00	Half Day	Counselor	Graduating
Mayemick	Susanne	Minnesauke/	8/14/20 7/6/20-	\$50.00	Full Day	Nurse	2020 District
Messina	Claire	Setauket Mount	8/14/20 7/6/20-	\$13.50	Half Day	Counselor	Employee Fingerprinted
Miller	Emily	Minnesauke/	8/14/20 7/6/20-	\$14.00	Fuli Day	Counselor	Fingerprinted
Mingrone	Ava	Setauket Mount	8/14/20 7/6/20-	\$12.00	Half Day	Counselor	Current WM
Mond	Jenna	Minnesauke/	8/14/20 7/6/20-	\$16.00	Full Day	Counselor	Student Current WM
Morseman	Janet	Setauket Minnesauke/ Setauket	8/14/20 7/6/20- 8/14/20	\$19.00	Full Day	TA	Student District Employee
		· · ·					

Munisteri	Philip	Minnesauke/ Setauket	7/6/20- 8/14/20	\$16.00	Full Day	Lead Counselor	Fingerprinted
Nardella	Alexis	Minnesauke/ Setauket	7/6/20- 8/14/20	\$12.00	Full Day	Counselor	Current WM Student
Peterson	Jessica	Minnesauke/ Setauket	7/6/20- 8/14/20	\$13.00	Full Day	Counselor	Fingerprinted
Pollett	Megan Ann	Minnesauke/ Setauket/ Mount	7/6/20- 8/14/20	\$13.00	Substitute	Substitute	District Employee
Quinn	Kelly	Mount	7/6/20- 8/14/20	\$16.50	Half Day	Counselor	Fingerprinted
Quinn	Kristin	Minnesauke/ Setauket	7/6/20- 8/14/20	\$12,00	Full Day	Lead Counselor (Sports)	Graduating 2020
Rahner	Emilee	Minnesauke/ Setauket	7/6/20- 8/14/20	\$17.00	Full Day	Lead Counselor	Fingerprinted
Reyes	Margaret	Minnesauke/ Setauket	7/6/20- 8/14/20	\$16.50	Full Day	Lead Counselor	Fingerprinted
Reyes	Haley	Minnesauke/ Setauket	7/6/20- 8/14/20	\$16.50	Full Day	Lead Counselor	Fingerprinted
Rezende	Tiffany	Minnesauke/ Setauket	7/6/20- 8/14/20	\$17.00	Full Day	Lead Counselor	District Employee
Richards	Alexandra	Minnesauke/ Setauket	7/6/20- 8/14/20	\$13.00	Full Day	Counselor	Fingerprinted
Rojas	Serena	Minnesauke/ Setauket	7/6/20- 8/14/20	\$13.50	Full Day	Counselor	Fingerprinted
Romeo	Louis	Mount	7/6/20- 8/14/20	\$13.00	Half Day	Counselor	Graduating 2020
Schriffen	Kevin	Mount	7/6/20- 8/14/20	\$12.00	Half Day	Counselor	Current WM Student
Scomillio	Kristin	Minnesauke/ Setauket	7/6/20- 8/14/20	\$16.50	Full Day	Lead Counselor	Fingerprinted
Shay	Stephanie	Minnesauke/ Setauket/ Mount	7/6/20- 8/14/20	\$40.00	Fuil Day/Haif Day	Supervisor	Fingerprinted
Slack	Nathan	Minnesauke/ Setauket	7/6/20- 8/14/20	\$13.00	Full Day	Counselor	Graduating 2020
Slack	Jake	Minnesauke/ Setauket	7/6/20- 8/14/20	\$12.00	Full Day	Counselor	Current WM Student
Small	James	Minnesauke/ Setauket/ Mount	7/6/20- 8/14/20	\$13.00	Substitute	Substitute	Fingerprinted
Smitheimer	Emily	Minnesauke/ Setauket	7/6/20- 8/14/20	\$13.50	Full Day	Counselor	Fingerprinted
Sobel	Hannah	Minnesauke/ Setauket	7/6/20- 8/14/20	\$13.50	Full Day	Counselor	Fingerprinted
Stiles	Adam	Minnesauke/ Setauket	7/6/20- 8/14/20	\$17.00	Full Day	Lead Counselor	Fingerprinted
Trentini	Christine	Mount	7/6/20- 8/14/20	\$50.00	Half Day	Nurse	District Employee
Valente	Amanda	Minnesauke/ Setauket	7/6/20- 8/14/20	\$13.50	Full Day	Counselor	Fingerprinted
Virnelli- Gonzalez	Denise	Minnesauke/ Setauket/ Mount	7/6/20- 8/14/20	\$50.00	Substitute	Nurse	District Employee
Viscosi	Andrew	Minnesauke/ Sctauket	7/6/20- 8/14/20	\$15.00	Full Day	Counselor	Fingerprinted
Viscosi	Matt	Minnesauke/ Setauket	7/6/20- 8/14/20	\$13.50	Full Day	Counselor	Fingerprinted
Vitberg	Zehava	Minnesauke/ Setauket/ Mount	7/6/20- 8/14/20	\$40.00	Full Day/Half Day	Supervisor	Fingerprinted
Wall	Robert	Minnesauke/ Setauket/ Mount	7/6/20- 8/14/20	\$15.00	Substitute	Substitute	Fingerprinted

Mount
\*Hourly rate is subject to change at the 7/8/20 BOE Reorganization meeting.

## SUMMER ESY PROGRAM APPOINTMENTS

Last Name	First Name	Building	<u>Effective</u>	<u>Title</u>	Rate
Boswell	Jeanne	Arrowhead	7/6/20-8/14/20	SEA	\$17.00/hr
Bostwick	Justine	Arrowhead	7/6/20-8/14/20	SEA	\$17.00/hr
Castro	Marilyn	Arrowhead	7/6/20-8/14/20	SEA	\$17.00/hr
Dean	Virginia	Arrowhead	7/6/20-8/14/20	SEA	\$17.00/hr
Devlin	Ryan	Arrowhead	7/6/20-8/14/20	SEA	\$17.00/hr
Goode	Karen	Arrowhead	7/6/20-8/14/20	SEA	\$17.00/hr
Loguercio	Julia	Arrowhead	7/6/20-8/14/20	SEA	\$17.00/hr
McInemey	Bryce	Arrowhead	7/6/20-8/14/20	SEA	\$17.00/hr
Miller	Emily	Arrowhead	7/6/20-8/14/20	SEA	\$17.00/hr
Scarth	Donna	Arrowhead	7/6/20-8/14/20	SEA	\$17.00/hr
Seydel	Theresa	Arrowhead	7/6/20-8/14/20	SEA	\$17.00/hr

#### Substitute List

Constantino	Stacey	Arrowhead	7/6/20-8/14/20	SEA	\$13.00/hr
Huber	Collette	Arrowhead	7/6/20-8/14/20	SEA	\$13.00/hr
Huber	Collette	Arrowhead	7/6/20-8/14/20	SEA	\$13.00/hr

<sup>\*</sup>Hourly rates are subject to change at the 7/8/20 BOE Reorganization meeting.

On motion by Mrs. Gische, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Recommendations of Committee on Special Education, Sub-Committee and Accommodation 504 Plan Meetings of: February 13, 24, 28, March 4, 5, 11, 12, 25, April 3, 15, 16, 17, 20, 21, 22, 23, 24, 29, 30, May 1, 4, 5, 6, 7, 8, 12, 13, 14, 15, 18, 19, 20, 22, 27, 28, 29, June 1, 3, 4, 5, 9, 11, and 12, 2020

Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education, through the administration, arrange for the provision of the appropriate special education programs and services for students enumerated in the report of the Committee on Special Education.

On motion by Mrs. Gische, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Recommendations of Committee on Preschool Special Education Meetings of: March 10, May 5, 12, 14, 19, 26, June 2 and 9, 2020 Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education, through the administration, arrange for the provision of the appropriate special education programs and services for students enumerated in the report of the Committee on Preschool Special Education.

On motion by Mrs. Gische, seconded by Dr. Kerman, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

PUBLIC PARTICIPATION There was no Public Participation at this time.

MOVE INTO EXECUTIVE SESSION On motion by Mrs. Gische, seconded by Mr. Vizzo, and carried by a 7-0-0 vote, the Board moved into Executive Session at 8:30 pm in accordance with Open Meeting Law to discuss personnel matters.

Respectfully submitted,

Kathleen Sampogna District Clerk

# THREE VILLAGE CENTRAL SCHOOL DISTRICT OF BROOKHAVEN AND SMITHTOWN

#### MEETING OF THE BOARD OF EDUCATION JUNE 29, 2020

Meeting of the Board of Education of the Three Village Central School District of Brookhaven and Smithtown held at the North Country Administration Center, 100 Suffolk Avenue, Stony Brook, New York 11790 on June 29, 2020 at 6:00 p.m.

Members present:

William F. Connors Jr., President Irene Gische, Vice President Deanna Bavlnka, Trustee Inger Germano, Trustee Jeffrey Kerman, Trustee Jonathan Kornreich, Trustee Vincent Vizzo, Trustee

Members absent:

Also present:

Cheryl Pedisich, Superintendent Jeffrey Carlson, Deputy Superintendent

Kevin Scanlon, Assistant Superintendent for Educational Services Gary Dabrusky, Assistant Superintendent for Human Resources

Kathleen Sampogna, District Clerk

Sarah Thornton, Student Representative to the Board

Visitors

CALL TO ORDER Mr. Connors called the meeting to order at 6:02 p.m.

CHANGES IN THE MEETING AGENDA There were no Changes to the Meeting Agenda.

PUBLIC PARTICIPATION

Mr. Connors read e-mail correspondence submitted for Public Comment.

ITEMS FOR BOARD ACTION

Reappointment of Superintendent RESOLVED that the Board of Education hereby approves an Agreement with Cheryl Pedisich for employment as Superintendent of Schools for the period of July 1, 2020 through August 31, 2021, and authorizes the President of the Board of Education to execute said Agreement on behalf of the Board of Education.

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approval of the 2020-2021 Superintendent, Deputy Superintendent.

Be it RESOLVED, that upon the recommendation of the Superintendent of Schools, the Board of Education of the Three Village Central School District approve the Superintendent, Deputy Superintendent, Assistant Superintendents, and Executive Director of Human Resources & Secondary Curriculum salaries schedule.

Deputy Superintendent, Assistant Superintendents, and Executive Director of Human Resources & Secondary Curriculum Salaries Schedule

On motion by Mrs. Gische, seconded by Mr. Vizzo, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Contract – Deputy Superintendent 2020-2021 Be it RESOLVED that upon the recommendation of the Superintendent of Schools, the contract between Jeffrey Carlson, Deputy Superintendent and the Board of Education of the Three Village Central School District be approved, effective July 1, 2020 through June 30, 2021.

On motion by Mr. Vizzo, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

#### Minutes of June 29, 2020

Contract -Assistant Superintendent for Educational Services 2020-2021

Be it RESOLVED, that upon the recommendation of the Superintendent of Schools, the contract between Kevin Scanlon, Assistant Superintendent for Educational Services and the Board of Education of the Three Village Central School District be approved, effective July 1, 2020 through June 30, 2021.

On motion by Mr. Vizzo, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

On motion by Mr. Vizzo, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Contract -Assistant Superintendent for Human Resources 2020-2021

Be it RESOLVED that upon the recommendation of the Superintendent of Schools, the contract between Dr. Gary Dabrusky, Assistant Superintendent for Human Resources and the Board of Education of the Three Village Central School District be approved, effective July 1, 2020 through June 30, 2021.

On motion by Mr. Vizzo, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Contract --Executive Director of Human Resources & Secondary Curriculum 2020-2021

Be it RESOLVED, that upon the recommendation of the Superintendent of Schools, the Contract of Agreement between the Board of Education of the Three Village Central School District and Alan Baum, Executive Director of Human Resources & Secondary Curriculum, 2020-2021, be approved

On motion by Mr. Vizzo, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

PUBLIC PARTICIPATION There was no Public Participation at this time.

ADJOURNMENT

There being no further business to be conducted, motion was made by Dr. Kerman, seconded by Mrs. Gische, and carried by a 7-0-0 vote to adjourn the meeting at 6:30 p.m.

Respectfully submitted,

Kathleen Sampogna District Clerk

# THREE VILLAGE CENTRAL SCHOOL DISTRICT OF BROOKHAVEN AND SMITHTOWN

# MEETING OF THE BOARD OF EDUCATION JULY 8, 2020

Meeting of the Board of Education of the Three Village Central School District of Brookhaven and Smithtown held at the North Country Administration Center, 100 Suffolk Avenue, Stony Brook, New York 11790 on July 8, 2020. at 5:30 p.m.

Members present:

William F. Connors Jr., President Irene Gische, Vice President Deanna Bavlnka, Trustee Inger Germano, Trustee Jeffrey Kerman, Trustee Jonathan Kornreich, Trustee Vincent Vizzo, Trustee

Also present:

Cheryl Pedisich, Superintendent

Jeffrey Carlson, Assistant Superintendent for Business Services Kevin Scanlon, Assistant Superintendent for Educational Services Gary Dabrusky, Assistant Superintendent for Human Resources

Kathleen Sampogna, District Clerk

CALL TO ORDER

Mr. Connors called the meeting to order at 5:30 p.m.

MOVE INTO EXECUTIVE SESSION

On motion by Mrs. Gische, seconded by Ms. Bavlnka, and carried by a 7-0-0 vote, the Board moved immediately into Executive Session in accordance with Open Meeting Law to discuss the employment history of a particular person(s).

RECONVENE INTO PUBLIC SESSION The meeting reconvened into open session at 7:30 p.m. Mrs. Pedisich led the pledge of allegiance.

CHANGES IN THE MEETING AGENDA Replacement Page(s):

- Item W Appointment of School Physicians and School Medical Inspector; Approval of 2020-2021 Examination and Fee Schedule
- Item AA Statement of Assurances and Disclosure of Interest by Board of Education
- Item KKK Approval of the Amended 2020-2021 Salaries Schedule for Non-Aligned Employees – Non-Instructional

ADMINISTRATION OF OATHS

Administration of Oath of Office to Newly Elected Board Members Kathy Sampogna, District Clerk, administered the Oath of Office to Board Members Elect Inger Germano, Irene Gische, and Jeffrey Kerman.

Nomination and Election of President of the Board of Education 2020-2021 and Administration of the Oath of Office to President Mr. Connors requested nominations in accordance with Board of Education Policy for the office of President of the Board of Education and presided over the election.

Mrs. Gische nominated Ms. Germano for the office of President and Dr. Kerman seconded the nomination. No other nominations were made.

On motion by Mrs. Gische, seconded by Dr. Kerman, and carried by a 7-0-0 vote, the Board voted to accept Ms. Germano as Board President for the 2020-2021 school year.

Mrs. Sampogna administered the Oath of Office to Ms. Germano.

Nomination and Election of Vice-President of the Board of Education 2020-2021 and Administration of the Oath of Office to Vice-President Ms. Germano requested nominations in accordance with Board of Education Policy for the office of Vice-President of the Board of Education and presided over the election.

Dr. Kerman nominated Mrs. Gische for the office for Vice-President and Ms. Bavlnka seconded the nomination. No other nominations were made.

On motion by Dr. Kerman, seconded by Ms. Bavinka, and carried by a 7-0-0 vote, the Board voted to accept Mrs. Gische as Board Vice President for the 2020-2021 school year.

Mrs. Sampogna administered the Oath of Office to Mrs. Gische.

Nomination and Election of District Clerk Pro- Tem 2020-2021 and Administration of the Oath of Office to District Clerk Pro-Tem
APPOINTMENT OF OFFICERS
Appointment of District Clerk 2020-2021 and Administration of Oath of Office to

Ms. Germano requested nominations for the office of District Clerk Pro-Tem and presided over the election.

Ms. Germano nominated Ms. Bavlnka as District Clerk Pro-Tem and Mrs. Gische seconded the nomination. No other nominations were made.

On motion by Ms. Germano, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board voted to accept Ms. Bavinka as District Clerk Pro-Tem for the 2020-2021 school year.

Mrs. Sampogna administered the Oath of Office to Ms. Bavlnka.

# T

of District Clerk

Be it RESOLVED that the Board of Education appoint Kathleen Sampogna as District Clerk of the Board of Education for the 2020-2021 school year.

On motion by Mrs. Gische, seconded by Dr. Kerman, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Appointment of District Treasurer 2020-2021

Upon recommendation of the Superintendent of Schools be it hereby RESOLVED that the Board of Education appoint Kerry Reilly to serve as District Treasurer for the fiscal year ending June 30, 2021.

On motion by Mr. Komreich, seconded by Dr. Kerman, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Appointment of Deputy District Treasurer 2020-2021

Upon recommendation of the Superintendent of Schools be it hereby RESOLVED that the Board of Education appoint the Secretary to the Superintendent to serve as Deputy District Treasurer for the fiscal year ending June 30, 2021, and no additional compensation.

On motion by Mr. Kornreich, seconded by Dr. Kerman, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Appointment of District Claims Auditor 2020-2021

Upon recommendation of the Superintendent of Schools be it hereby RESOLVED that the Board of Education appoint Cerini & Associates, LLP, to serve as Claims Auditor for the fiscal year ending June 30, 2021 at an annual rate of \$31,740, as put forward in their submitted proposal dated May 21, 2020.

On motion by Mr. Kornreich, seconded by Dr. Kerman, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Appointment of DASA Coordinator 2020-2021

Upon recommendation of the Superintendent of Schools, be it RESOLVED that the Board of Education approve the appointment of Erin Connolly, as the District DASA Coordinator, and a principal and a social worker/psychologist from each building as Building DASA Coordinators for the 20202021 school year.

On motion by Mr. Kornreich, seconded by Dr. Kerman, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

#### OTHER APPOINTMENTS

School District Appointees 2020-2021

Upon recommendation of the Superintendent of Schools be it resolved that the Board of Education approve the designation of the following individuals as school district appointees for the 2020-2021 school year:

•		
Position	Officer	Compensation
Purchasing Agent	Christine Governale	At no additional cost
<u>WMHS</u>		
Allied Accounts Treasurer and Signatory Designated Additional Signatory	Leanne Perry Building Principal	\$8,521.00 per year At no additional cost
Gelinas IHS		
Allied Accounts Treasurer and Signatory Designated Additional Signatory	Leanne Perry Building Principal	\$3,084.00 per year At no additional cost
Murphy JHS Allied Accounts Treasurer and Signatory Designated Additional Signatory	Beverly Gilmore Building Principal	\$3,084.00 per year At no additional cost
Elementary Allied Accounts Signatory	Kerry Reilly	At no additional cost

Superintendent or

Asst. Superintendent for

At no additional cost

Certification of Payroll

**Business Services** Records Management Officer Natalie Ruvolo At no additional cost Records Access Officer District Clerk At no additional cost At no additional cost Records Appeal Officer Superintendent On motion by Mr. Kornreich, seconded by Mr. Vizzo, and carried by a 7-0-0 vote, the Board approved the resolution as presented. Upon recommendation of the Superintendent of Schools be it hereby RESOLVED that the Appointment of Board of Education appoint the firm of Nawrocki Smith, LLP, CPAs, to serve as the Internal Internal Auditor 2020-2021 Auditor for the fiscal year ending June 30, 2021, pursuant to Section 2116(b) of the NY State Education Law and Section 170.12 of the Commissioner's Regulations, as per the attached engagement letter. On motion by Mr. Kornreich, seconded by Mr. Vizzo, and carried by a 7-0-0 vote, the Board approved the resolution as presented. Appointment of Be it hereby RESOLVED that upon recommendation of the Superintendent of Schools, the Board of Education appoint the firm of EFPR Group, CPAs PLLC at a fee of \$43,000 to Independent conduct an audit of the operations of the Three Village Central School District in compliance Auditor with all federal, state and GASB regulations and pronouncements pertaining thereto, and to provide all reports required by said entities, as per their proposal dated June 2, 2020, for the fiscal year ending June 30, 2020. On motion by Mr. Kornreich, seconded by Mr. Vizzo, and carried by a 7-0-0 vote, the Board approved the resolution as presented. Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Appointment of Auditor for Education appoint the firm of R.S. Abrams & Co., LLP to serve as Auditor for the preparation of the Annual Financial Statements for the year ending June 30, 2020, as per the attached Preparation of proposal, and that the President of the Board of Education be authorized to execute same. Annual Financial Statements On motion by Mr. Komreich, seconded by Mr. Vizzo, and carried by a 7-0-0 vote, the Board approved the resolution as presented. Upon recommendation of the Superintendent of Schools, be it RESOLVED that Wright Risk Appointment of Claims Management Company, LLC be appointed as claims administrator for the district's self-insured workers' compensation program at a cost of \$28,428.47 for the 2020-2021 school year, as per Administrator for the attached agreement. Workers' Compensation On motion by Mr. Komreich, seconded by Mr. Vizzo, and carried by a 7-0-0 vote, the Board Self-Insured approved the resolution as presented. Program Upon recommendation of the Superintendent of Schools be it RESOLVED that Jeffrey Carlson Appointment of be appointed as the district representative for the Suffolk School Employees Health Plan for the District 2020-2021 school year. Representative for the Suffolk School On motion by Mr. Kornreich, seconded by Mr. Vizzo, and carried by a 7-0-0 vote, the Board Employees Health Plan 2020-2021 approved the resolution as presented. Upon recommendation of the Superintendent of Schools, be it RESOLVED that the Board of Appointment of Education appoint the firm of Island Compliance Corporation to provide professional services Security for district-wide security management for the period beginning July 1, 2020 through June 30, Management Consultant 2021. On motion by Mr. Komreich, seconded by Mr. Vizzo, and carried by a 7-0-0 vote, the Board approved the resolution as presented. Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Appointment of State Aid Education appoint the firm of School Aid Specialists, LLC to assist the district in maximizing state aid in all areas of Special Education Funding and facilitating the preparation and Specialist

Appointment of Data Protection Officer 2020-2021 Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the Board of Education approve the appointment of Deidre Rubenstrunk, as the Data Protection Officer for the 2020-2021 school year.

submission of various forms and schedules relating to state aid. The cost for these services is \$70,230, insignificant when considered with the revenue realized, with no additional fees.

On motion by Mr. Komreich, seconded by Mr. Vizzo, and carried by a 7-0-0 vote, the Board

approved the resolution as presented.

Appointment of Board of Registration 2020-2021 Be it RESOLVED that the Board of Education hereby designates the following qualified voters of the District to serve as members of the Board of Registration for the 2020-2021 school year:

- Donna Pesapane
- Fran Padrazo
- Lisa Brellis
- Barbara Lynch
- Agatha Meadows
- Blake Edwards

On motion by Mr. Komreich, seconded by Mr. Vizzo, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

#### Appointment of Title IX Officer

Be it RESOLVED that upon the recommendation of the Superintendent of Schools, the appointment of Dr. Gary Dabrusky as Title IX Officer be approved effective July 1, 2020 through June 30, 2021.

On motion by Mr. Kornreich, seconded by Mr. Vizzo, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Appointment of Section 504 Compliance Officer Be it RESOLVED that upon recommendation of the Superintendent of Schools, the appointment of Kevin Scanlon as §504 Compliance Officer be approved effective July 1, 2020 through June 30, 2021.

On motion by Mr. Kornreich, seconded by Mr. Vizzo, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Appointment of Substance Use Related Services Coordinator Be it RESOLVED that upon recommendation of the Superintendent of Schools the appointment of Alison Herrschaft as Substance Use Related Services Coordinator be approved effective July 1, 2020 through June 30, 2021.

On motion by Mr. Kornreich, seconded by Mr. Vizzo, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Appointment of School Physicians and School Medical Inspector; Approval of 2020-2021 Examination Fee Schedule Upon recommendation of the Superintendent of Schools, be it RESOLVED that the Board of Education approve the attached list of school physicians and their assignments and the 2020-2021 examination and fee schedule.

It is further RESOLVED that the Board of Education approve the appointment of Dr. Howard Sussman, 1 Alilah Place, Miller Place, NY 11764, as School Medical Inspector, effective September 1, 2020 through June 30, 2021.

#### 2020-2021 Physicians & Physician Assistants

Vincent Sparandeo 2 William Street	Hayley Queller, M.D., P.C. 23 Chestnut Street	James Dragone, M.D. 4 Old Field Place
East Setauket NY 11733	Port Jefferson Station NY 11776	East Setauket NY 11733
Dr. Dimos Kanakoudas	Scot Gressin, P.A.	Philip Schrank, M.D. P.C.
3400 Nesconset Hwy.	6 Julia Circle	5 Schooner Cove
Suite 102	Setauket NY 11733	East Setauket NY 11733
Setauket NY 11733		
Howard Sussman, M.D.	Brian McGinley, M.D.*	Frederick Caston, M.D.
1 Alilah Place	18 Caterham Lane	7 Alicia Court
Miller Place NY 11764	Setauket NY 11733	Stony Brook NY 11790
Kamalpret Butar, M.M.	Sports Medicine of Stony	Mansoor Movaghar, M.D.*
4 Samuel Court	Book Orthopaedic	Stony Brook Opthamology
Syosset NY 11791	Associates at Stony Brook	33 Research Way, Suite 13
•	Brian Cruikshank, M.D.	East Setauket NY 11733
	James Paci, M.D.	

<sup>\*</sup>Dr. Philip Schrank and Dr. Haley Queller also serve as Chief Medical Officers for concussion clearance only.

Angelo Rizzi, RPA-C

<sup>\*\*</sup>Dr. Mansoor Movaghar will serve as school physician for vision screening. This appointment is conditional upon receipt of background and fingerprint clearance. Denial of fingerprint clearance or conditional clearance from the Commissioner of Education shall result in immediate termination of employment.

#### 2020-2021 Examination and Fee Schedule

Chief School Physician Fee Physician to Committee on Special Education Fee School Medical Inspector Fee	\$15,000 \$2,500.00 \$200.00 per meeting \$250.00 - \$325.00 (depending on length of visit and length of report)
Student physical examination:	
Individual	\$15.50
Group	\$10.00
Review of private physician examination	\$7.00
Review of Concussion Clearance/Return to	\$7.00
play	
Work permit examination:	
Individual	\$15.50
Group	\$8.00
Employee physical examination fee	\$45.00
Emergency treatment at football games:	
Physicians	\$200.00 per game
Physician Assistants	\$150.00 per game
•	

#### ASSIGNMENTS OF SCHOOL PHYSICIANS

Arrowhead Elementary School	To Be Determined
Minnesauke Elementary School	To Be Determined
W. S. Mount Elementary School	To Be Determined
Nassakeag Elementary School	To Be Determined
Setauket Elementary School	To Be Determined
P.J. Gelinas Junior High School	To Be Determined
R.C. Murphy Junior High School	To Be Determined
Ward Melville High School	To Be Determined

Chief School Physician Physician to Committee on Special Education	Howard Sussman Howard Sussman
Physician to Committee on Pre-School Education	Howard Sussman
School Medical Inspector	Howard Sussman

On motion by Mr. Kornreich, seconded by Mr. Vizzo, and carried by a 7-0-0 vote, the Board approved the resolution as presented

Appointment of Committees on Special Education 2020-2021

Upon recommendation of the Superintendent of Schools, be it RESOLVED that the Board of Education approve the list.

Committees on Special Education - 2020/2021

The Committee on Special Education will be composed of:

Dawn Mason, Executive Director of Pupil Personnel Services - (LEA) Laurance Marino, Assistant Director of Pupil Personnel Services - (LEA)

James Geis, Supervisor of PPS - (LEA)

Maureen Reyes, Coordinating Chairperson of Special Education – (LEA) Lolita Portal-Pfeffer, Psychologist – (LEA)

Lauren Rebore, Psychologist - (LEA)

Jose Salazar, Psychologist - (LEA) Heather Salas, Psychologist - (LEA)

Lauri Levenberg, Speech/Language Pathologist - (LEA) Elizabeth Forese, Special Education Teacher - SEIST - (LEA)

Dawn Alexander, Special Education Teacher - (LEA)

Psychologists

Daniel Volk Michelle Lambert Lolita Portal-Pfeffer Kelly Sullivan Jose Salazar Heather Salas Lauren Rebore Ashley Gabriele Laurance Marino Nicole Nickerson Kelly McCabe-Fitch Jennifer Stevens

Nina Murphy

Parent Members CSE K-12 (with notice)

Debra Saunders

Gia Brennan Sandra Miller Ann Fitzmaurice David Okrent

Karen Roughley

Physician Dr. Howard Sussman

Parent of the Child, Special Education Teacher and/or Related Service Provider of such Student, Regular Education Teacher, of such Student (if student is or may be participating in regular education)

whenever appropriate, the student with a disability

Districtwide Subcommittees on Special Education - 2020/2021

District-wide building subcommittees on special education will be chaired by:

James Geis, Heather Salas, Laurance Marino, Maureen Reyes, Lauri Levenberg, Lolita Portal-Pfeffer, Liz Forese, Heather DeLorenzo, Rene LaScala, Eleni Homenides, Chris Murphy, Jill Williams, Jose Salazar, Daniel Volk, Virginia McCaffrey, Dawn Mason, Jennifer Stevens

Building Subcommittees on Special Education - 2020/2021

Subcommittees on Special Education will be composed of:

#### Arrowhead Elementary School

James Geis, Chairperson

Dawn Mason, Chairperson

Maureen Reyes, Chairperson

Laurance Marino, Chairperson

Lauri Levenberg, Chairperson

Eleni Homenides, Chairperson (Alternates: Jill Williams, Chris Murphy, Rene LaScala, Heather DeLorenzo)

Jennifer Stevens, Psychologist (Alternates: Michelle Lambert, Lauren Rebore, Kelly Sullivan, Laurance Marino, Jose Salazar, Daniel Volk, Heather Salas, Kelly McCabe, Lolita Portal-Pfeffer, Nicole Nickerson, Ashley Gabriele, Nina Murphy)

Parent of the Child, Special Education Teacher and/or Related Service Provider of such Student, Regular Education Teacher of such Student (if student is or may be participating in regular education), whenever appropriate, the student with a disability

#### Mount Elementary School

James Geis, Chairperson

Dawn Mason, Chairperson

Maureen Reyes, Chairperson

Laurance Marino, Chairperson

Lauri Levenberg, Chairperson

Jill Williams, Chairperson (Alternates: Eleni Homenides, Chris Murphy, Rene LaScala, Heather DeLorenzo)

Lauren Rebore, Psychologist (Alternates: Nicole Nickerson, Michelle Lambert, Kelly Sullivan, Laurance Marino, Jose Salazar, Daniel Volk, Heather Salas, Kelly McCabe, Lolita Portal-Pfeffer, Ashley Gabriele, Jennifer Stevens, Nina Murphy)

Parent of the Child, Special Education Teacher and/or Related Service Provider of such Student, Regular Education Teacher of such Student (if student is or may be participating in regular education), Whenever appropriate, the student with a disability

## Minnesauke Elementary School

James Geis, Chairperson

Dawn Mason, Chairperson

Maureen Reyes, Chairperson

Laurance Marino, Chairperson

Lauri Levenberg, Chairperson

Heather DeLorenzo, Chairperson (Alternates: Jill Williams, Chris Murphy, Rene LaScala, Eleni Homenides)

Michelle Lambert, Psychologist (Alternates: Nina Murphy, Nicole Nickerson, Kelly Sullivan, Laurance Marino, Jose Salazar, Daniel Volk, Heather Salas, Kelly McCabe, Lolita Portal-Pfeffer, Ashley Gabriele, Jennifer Stevens, Lauren Rebore)

Parent of the Child, Special Education Teacher and/or Related Service Provider of such Student, Regular Education Teacher of such Student (if student is or may be participating in regular education), Whenever appropriate, the student with a disability

## Nassakeag Elementary School

James Geis, Chairperson

Dawn Mason, Chairperson

Maureen Reyes, Chairperson

Laurance Marino, Chairperson

Lauri Levenberg, Chairperson

Rene LaScala, Chairperson (Alternates: Jill Williams, Chris Murphy, Eleni Homenides, Heather DeLorenzo)

Kelly McCabe, Psychologist (Alternates: Michelle Lambert, Lauren Rebore, Kelly Sullivan, Laurance Marino, Jose Salazar, Daniel Volk, Heather Salas, Nicole Nickerson, Lolita Portal-Pfeffer, Ashley Gabriele, Jennifer Stevens, Nina Murphy)

Parent of the Child, Special Education Teacher and/or Related Service Provider of such Student, Regular Education Teacher of such Student (if student is or may be participating in regular education), Whenever appropriate, the student with a disability

#### Setauket Elementary School

James Geis, Chairperson

Dawn Mason, Chairperson

Maureen Reyes, Chairperson

Laurance Marino, Chairperson

Lauri Levenberg, Chairperson

Eleni Homenides, Chairperson (Alternates: Jill Williams, Chris Murphy, Rene LaScala, Heather DeLorenzo)

Nicole Nickerson, Psychologist (Alternates: Michelle Lambert, Lauren Rebore, Kelly Sullivan, Laurance Marino, Jose Salazar, Daniel Volk, Heather Salas, Kelly McCabe, Lolita Portal-Pfeffer, Ashley Gabriele, Jennifer Stevens, Nina Murphy)

Parent of the Child, Special Education Teacher and/or Related Service Provider of such Student, Regular Education Teacher of such Student (if student is or may be participating in regular education). Whenever appropriate, the student with a disability

#### Gelinas Junior High School

James Geis, Chairperson

Dawn Mason, Chairperson

Maureen Reyes, Chairperson

Laurance Marino, Chairperson

Lauri Levenberg, Chairperson

Daniel Volk, Chairperson/Psychologist

Alternate Psychologists: Michelle Lambert, Lauren Rebore, Kelly Sullivan, Laurance Marino, Jose Salazar, Heather Salas, Ashley Gabriele, Lolita Portal-Pfeffer, Nicole Nickerson, Jennifer Stevens, Nina Murphy

Parent of the Child, Special Education Teacher and/or Related Service Provider of such Student, Regular Education Teacher of such Student (if student is or may be participating in regular education). Whenever appropriate, the student with a disability

#### Murphy Junior High School

James Geis, Chairperson

Dawn Mason, Chairperson

Maureen Reyes, Chairperson

Lauri Levenberg, Chairperson

Laurance Marino, Chairperson

Lolita Portal-Pfeffer, Chairperson/Psychologist

Alternates Psychologists: Michelle Lambert, Lauren Rebore, Kelly Sullivan, Laurance Marino, Jose Salazar, Daniel Volk, Heather Salas, Kelly McCabe, Nicole Nickerson, Jennifer Stevens, Nina Murohy

Parent of the Child, Special Education Teacher and/or Related Service Provider of such Student, Regular Education Teacher of such Student (if student is or may be participating in regular education). Whenever appropriate, the student with a disability

#### Ward Melville High School

James Geis, Chairperson

Laurance Marino, Chairperson

Dawn Mason, Chairperson

Mary Lynch, Chairperson

Virginia McCaffrey, Chairperson (Alternates: Heather Salas, Maureen Reyes, Liz Forese) Jose Salazar, Chairperson/Psychologist (Alternates: Heather Salas, Laurance Marino, Lolita Portal-Pfeffer, Mary Lynch, Kelly McCabe)

Heather Salas, Chairperson/Psychologist (Alternates: Jose Salazar, Laurance Marino, Lolita Portal-Pfeffer)

Alternate Psychologists: Kelly Sullivan, Nina Murphy

Parent of the Child, Special Education Teacher and/or Related Service Provider of such Student, Regular Education Teacher of such Student (if student is or may be participating in regular education), Whenever appropriate, the student with a disability

#### Three Village Academy

James Geis, Chairperson (Alternate: Maureen Reyes, Laurance Marino)

Jose Salazar, Chairperson/Psychologist (Alternates: Heather Salas, Laurance Marino, Lolita Portal-Pfeffer)

Parent of the Child, Special Education Teacher and/or Related Service Provider of such Student, Regular Education Teacher of such Student (if student is or may be participating in regular education), Whenever appropriate, the student with a disability

#### Committees on Preschool Special Education 2020/2021

The Committee on Preschool Education will be composed of the following:

#### Chairpersons

Lauri Levenberg, Chairperson (Alternates: James Geis, Maureen Reyes, Rene LaScala, Dawn Alexander)

James Geis, Chairperson

Rene LaScala, Special Education Teacher

Maureen Reyes, Coordinating Chairperson for Special Education

Parent of the Child

Parent Members - CPSE

Eva Carceles

Tricia Sangiorgi

Marilyn Eilenberger

Jennifer Harmon

Special Education Teacher or Related Service Provider of such student

Regular Education Teacher of such student (if student is or may be participating in regular education)

If applicable, a certified or licensed professional designated by the agency charged with the responsibility for the child in the "birth to two" system must attend

A professional who participated in the evaluation of the child or a professional employed by the district who is knowledgeable about evaluations

Whenever appropriate, the student with a disability

An appropriate, certified/licensed professional from the municipality

On motion by Mr. Kornreich, seconded by Mr. Vizzo, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

#### Appointment of Unemployment Insurance Services 2020-2021

Be it RESOLVED that upon the recommendation of the Superintendent of Schools the appointment of Industrial U.I. Services be approved as unemployment representatives specializing in unemployment insurance cost control, effective July 1, 2020 through June 30, 2021. Fee for services rendered is \$5,800 per annum, to be billed quarterly at the rate of \$1,450 per quarter.

On motion by Mr. Komreich, seconded by Mr. Vizzo, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

#### ITEMS FOR BOARD DISCUSSION

There were no Items for Board Discussion.

INFORMATION ITEMS TO THE BOARD

Policy -- 0110 -

Be it RESOLVED that the Board of Education accept the Policy delineated below:

toney - orro -
Sexual
Harassment,
0110.1 - Sexual
Harassment of
Students, 0110.2 -
Sexual
Harassment of
Employees,
5100 - Student
Attendance,
5300 - Code of
Conduct, 5500 -
Student Records,
and 8635-
Information, Data
Privacy, Security
Breach, and
Notification

Policy#	Policy Title
0110	Sexual Harassment
0110.1	Sexual Harassment of Students
0110.2	Sexual Harassment of Employees
5100	Student Attendance
5300	Code of Conduct
5500	Student Records
8635	Information, Data Privacy, Security Breach, and Notification

On motion by Mr. Kornreich, seconded by Mr. Connors, and carried by a 7-0-0 vote, the Board approved the Policies listed as final.

DESIGNATIONS AND AUTHORIZATIONS

Statement of Assurances and Disclosure of Interest by Board of Education Members RESOLVED, that the following Board of Education Members for the 2020-2021 school year have submitted their fully executed Statements of Assurance and attest for the public record that they do not have any prohibited conflicts of interest under §806 of the General Municipal Law and the Three Village Board of Education Policies 2160 School District Officer and Employee Code of Ethics, 2160-R Code of Ethics Regulation and 2170 Board Member Conflict of Interest:

Deanna Bavlnka William F. Connors, Jr. Inger Germano Irene Gische Jeffrey Kerman Jonathan Kornreich Vincent Vizzo

and be it further

RESOLVED, that the following Board Members have provided their statements of any interests attached and to be recorded in the official minutes of the meeting.

William F. Connors, Jr. Jeffrey Kerman

and be it further

**3VSAGE** 

RESOLVED, that the District's attorney, Guercio & Guercio, has determined that there is no pecuniary relationship, and their income/personal/business relationship will not affect their position on the Board, therefore there is no conflict of interest.

On motion by Mr. Kornreich, seconded by Mr. Vizzo, and carried by a 7-0-0 vote, the Board approved the Resolution as presented.

Designation of Board Member Liaison and Standing Subcommittee Positions 2020-2021 Be it RESOLVED that the Board member liaison positions be as follows for the 2020-2021 school year:

Arrowhead Elementary School	Deanna Bavlnka
Minnesauke Elementary School	Bill Connors
Mount Elementary School	Deanna Bavinka
Nassakeag Elementary School	Vinny Vizzo
Setauket Elementary School	Inger Germano
Gelinas Junior High School	Irene Gische
Murphy Junior High School	Jonathan Kornreich
Ward Melville High School	Jeff Kerman
PTA Council	Board Trustees to attend on a rotational basis
SEPTA	Board Trustees to attend on a rotational basis

Be it further RESOLVED that the Board establish the following standing subcommittees of the Board for the 2020-2021 school year:

Board Trustees to attend on a rotational basis

	<u>Chairperson</u>	<u>Trustee 1</u>	Trustee 2
Audit Committee	Jonathan Kornreich	Jeffrey Kerman	Bill Connors
Facilities Committee	Jeff Kerman	Vincent Vizzo	Bill Connors
Policy Committee	Irene Gische	Deanna Bavlnka	Inger Germano

On motion by Mr. Konnreich, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Designation of Banks as Depositories for School District Funds for 2020-2021 Fiscal Year Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve the designation of the following banks as depositories for school district funds for the 2020-2021 fiscal year:

- J.P. Morgan Chase Bank
- Capital One
- · Flushing Bank
- Sterling National Bank

On motion by Mr. Kornreich, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Designation of Official Newspapers 2020-2021 Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education designate the following newspapers as official newspapers for the district for the purpose of filing legal notices for the 2020-2021 school year:

- Newsday
- The Village Times Herald
- · Long Island Business News

On motion by Mr. Komreich, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Designation of Authorized Signatures on Checks 2020-2021 Upon recommendation of the Superintendent of Schools be it RESOLVED that the District Treasurer be designated as the authorized signature on checks; in the absence of the District Treasurer, the Deputy District Treasurer be designated as the authorized signature on checks and further, that all checks in excess of \$15,000 except payroll checks, be co-signed by the Superintendent or, in his/her absence, the Superintendent's designee, the Assistant Superintendent for Educational Services for the 2020-2021 school year. The second signatory cannot be a direct supervisor of the first signatory, and the second signature must be an actual signature, not a computer generated signature.

On motion by Mr. Kornreich, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Designation of Time and Place of Board of Education Meetings 2020-2021 Be it RESOLVED that the Board of Education conduct its meetings at the North Country Administration Center, Board of Education Meeting Room as indicated on the list titled "Three Village Central School District Board of Education Meetings and Budget Meetings 2020-2021 School Year".

Dates of the scheduled meetings and any subsequent special meetings shall be published in accordance with Policy 2340 – Notice of Meetings.

The opening time of the meetings is typically 6:00 pm. It is customary to expect that the Board of Education will adjourn immediately into Executive Session to conduct confidential business under §105 of the Open Meetings Law, with the public meeting expected to reconvene at 7:30 pm.

On motion by Mr. Kornreich, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Renewal of School Board Memberships Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve memberships in the following organizations for the 2020-2021 school year.

Association/Organization	Estimated Annual Fee
Nassau-Suffolk School Boards Association	\$4,225.00
New York State School Boards Association	\$12,971.00
National School Boards Association	\$4,165.00
SCOPE	\$3,264.00

On motion by Mr. Kornreich, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Establishment of Petty Cash Funds 2020-2021 Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve the establishment of petty cash funds for the 2020-2021 school year, as follows:

•	Administration .	Cheryl Pedisich Superintendent	\$100.00
•	Board of Education	Kathleen Sampogna District Clerk	\$100.00
•	Three Village Academy	Gus Hueber Principal	\$100.00

On motion by Mr. Kornreich, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Renewal of Participation in the Annual School Breakfast and Lunch Programs and the Free and Reduced Breakfast and Lunch Programs Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education renew participation in the National School Breakfast and Lunch Programs, as well as the Free and Reduced Price Lunch Policy and Income Eligibility Guidelines for the 2020-2021 school year, and that the President of the Board of Education be authorized to execute all agreements relating thereto.

Upon recommendation of the Superintendent of Schools, be it further resolved that the Board of Education adopt an elementary school lunch price of \$2.90 and a secondary school lunch price of \$3.40 for the 2020-2021 school year, representing a 15¢ increase from the 2019-2020 school year.

On motion by Mr. Kornreich, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approval of Contract with Emma S. Clark Library for Library Services Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve an agreement between the Three Village Central School District and the Emma S. Clark Memorial Library for the provision of free library services effective August 1, 2020 through July 31, 2021; and be it further RESOLVED that the President of the Board of Education be authorized to execute said agreement.

On motion by Mr. Kornreich, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Authorization to Designate Impartial Hearing Officer 2020-2021 Upon the recommendation of the Superintendent of Schools e it RESOLVED that the Board of Education authorize its president, or in the absence of the president, the vice president, to act on is behalf between scheduled meetings to appoint an Impartial Hearing Officer who is the next individual on the rotational list, as designated by the New York State Education Department.

On motion by Mr. Konnreich, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approval of Impartial Hearing Officers 2020-2021 Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the Board of Education adopt the roster of eligible hearing officers identified by the New York State Education Department.

Last Name	First Name
Kestenbaum	Elise
Lassinger	Dora
Lazan	Michael
Lederman	Nancy
Lucasey	Jean
Lushing	Susan
Marsico	Richard
McKeever	James
Millman	Tina
	James
Monk	Christine
Moore	Leah
Murphy	John
Naun	
Nisely	Robert
Noe	Mary
Peters	Gary
Peters	Kenneth
Peyser	Helene
Reichel	Heidi
Richmond	Susan
Ritzenberg	Kenneth
Roth	Roslyn
Schad	Jerome
Schiro ·	Jeffrey
Schneider	Judith
Silver	Marjorie
Tessler	Craig
Venezia	Arthur
Walsh	James
Walsh	Marion
Wanderman	Carl
Washington	Denise
Wolman	Mindy
Ziev	Joel
Albert	Peter
Almeleh	Lynn
Barbour	Susan
Bilik	James
Brandenburg	Wendy
Brandow	Regina
Briglio	Robert
Cohen	Diane
Cutler-Igoe	Ellen
Daniel	Audrey
Dewan	Debra
Ebenstein	Barbara J
Farago	John
Feinberg	Rona
Finkelstein	Sharyn
Flame	Lana
Lianic	7-0110

On motion by Mr. Komreich, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Authorization to Sign STAC Forms and Reports Upon recommendation of the Superintendent of Schools, be it RESOLVED that the Board of Education authorizes the Assistant Superintendent for Educational Services to sign STAC forms and reports, and that the Executive Director for Pupil Personnel Services be designated as an alternate authorizing signatory for the 2020-2021 school year.

On motion by Mr. Kornreich, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Acceptance of Policies 6240 -Investments; 6700 -Purchasing; 6710 -Purchasing Authority; and 8332 - Use Of District Owned Cellular Telephones The policies enumerated below have been adopted by the Board of Education for District use.

- 6240 Investments
- 6700 Purchasing
- 6710 Purchasing Authority
- 8332 Use of District Owned Cell Phones

On motion by Mr. Komreich, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Renewal of OMNI 403(B) Services Agreement Upon recommendation of the Superintendent of Schools be it hereby RESOLVED that the Board of Education approve the Renewal of the OMNI 403(b)/457(b) Services Agreement for the 2020-2021 school year. The annual administrative fee will remain unchanged at \$1,500 for all P3 (Preferred Provider Program) participants and \$36 for each non-P3 participant.

On motion by Mr. Kornreich, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Job Titles Requiring Use of a District Cell Phone Upon recommendation of the Superintendent of Schools be it RESOLVED that the following job titles be approved for use of a district cell phone in order to administer responsibilities of the position:

Network Administrator
Transportation Coordinator
Asst. Plant & Facilities Administrator
Plant & Facilities Administrator
Drug & Alcohol Counselor
(2) Security

Head Groundsman
Safety & Security Coordinator
(3) Maintenance Mechanics
Head Maintenance
Elementary Guidance Counselor
Social Worker

On motion by Mr. Kornreich, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

#### ITEMS FOR BOARD ACTION

Authorization for Destruction of Cast Ballots Whereas, on May 21, 2019, the Three Village Central School District conducted its Annual Budget Vote and Election; and

Whereas, the District Clerk is currently in possession of all cast ballots resulting from such Annual Budget Vote and election; and

Whereas, the Record Retention and Disposition Schedule ED-1 provides for the destruction of such ballots after one (1) year from the date of the Annual Budget Vote and Election; and

Whereas, at least one (1) year has elapsed from the date of the Annual Budget Vote and Election held on May 21, 2019, and no proceeding has been commenced with regard to such Annual Budget Vote and Election;

Now, Therefore, be it RESOLVED that the Board of Education of the Three Village Central School District hereby orders the destruction of all cast ballots resulting from the May 21, 2019 Annual Budget Vote and Election.

On motion by Mrs. Gische, seconded by Dr. Kerman, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Authorization for Destruction of Unused Ballots Whereas, on May 21, 2019, the Three Village Central School District conducted its Annual Budget Vote and Election; and

Whereas, the District Clerk is currently in possession of the unused, defective, void and/or spoiled ballots resulting from such Annual Budget Vote and election; and

Whereas, Education Law Section 2034(6) provides for the destruction of such unused, defective, void and/or spoiled ballots when a period of six (6) moths has elapsed from the date of the Annual Budget Vote and Election; and

Whereas, at least one (6) months has elapsed from the date of the Annual Budget Vote and Election held on May 21, 2019, and no proceeding has been commenced with regard to such Annual Budget Vote and Election;

Now, Therefore, be it RESOLVED that the Board of Education of the Three Village Central School District hereby orders the destruction of all unused, defective, void and/or spoiled ballots resulting from the May 21, 2019 Annual Budget Vote and Election.

On motion by Mrs. Gische, seconded by Dr. Kerman, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approval of District-Wide School Safety Plan Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the Board of Education approve the District-Wide School Safety Plan, as revised on July 1, 2020 and appoint Jack Blaum as the Chief Emergency Officer.

On motion by Mr. Vizzo, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Acceptance of Donations Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education accept with gratitude the following:

- A check in the amount of \$2,500.00 donated by Judie Anderson to the WMHS Scholarship Fund (TE092.11).
- A check in the amount of \$406.00 to the Food Pantry from the following families:
  - · Peter Bernstein & Cathleen Barnhart
  - · Rafi & Elysa Blumenthal
  - Susan & Steve Bennett
  - Renee Navarrete
  - The Mitrani Family
  - Ken & Roberta Walpert
  - The Klein Family
  - The Scheer Family
  - The Zames Family
  - The Lowenstein FamilyThe Rochelson Family
  - The Engelman/Sahm Family

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approval of Special Education Tuition Contracts Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve the contract for instruction/services to be provided by the schools listed below to Three Village Central School District students for the 2020-2021 school year.

- NYSAHRC Inc. Suffolk Chapter
- The Center for Developmental Disabilities, Inc.
- DDI -- Developmental Disabilities Institute
- Green Chimneys

On motion by Mrs. Gische, seconded by Mr. Kornreich, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approval of Contract with Outside Service Provider for Special Educational Tutoring Services Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve the *Consultant Services Contract* for special educational services for the 2020-2021 school year with the following provider:

- · Syosset Home Tutoring
- Long Island Tutorial Services

On motion by Mrs. Gische, seconded by Mr. Komreich, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approval of Contract with Outside Service Provider for Special Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve the *Consultant Services Contract* for special educational services for the 2020-2021 school year with the following providers:

Educational Services

- Beyond Boundaries Autism Specialists Applied Behavior Analysis, PLLC
- Beyond Boundaries Therapeutic Services, SLP, OT, PT, LMSW, Psychology, Audiology, PLLC

On motion by Mrs. Gische, seconded by Mr. Kornreich, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

SEQRA Determination in Connection with 2020-2021 Capital Improvement Projects Whereas, the Board of Education of the THREE VILLAGE CSD (Board of Education) is considering improvements at the Ward Melville High School, located at 380 Old Town Road, Setauket, New York 11733 and;

Whereas, the proposed project includes

Projects @ Ward Melville High School (SED #58-02-01-06-0-009-049)

- Replacement of existing natural grass softball & baseball fields with synthetic purf
- Replacement of existing run generator with a new full building emergency generator. New gas line to operate generator

Whereas, pursuant to 6 NYCRR §617.5(a), "Actions or classes of actions identified in subdivision (c) of this section are not subject to review under this Part, except as otherwise provided in this section. These actions have been determined not to have a significant impact on the environment or are otherwise precluded from environmental review under Environmental Consideration Law, Article 8. The actions identified in subdivision (c) of this section apply to all agencies"; and

Whereas, pursuant to 6 NYCRR §§617.5(c) (1)&(2), the "maintenance or repair involving no substantial changes in as existing structure or facility", replacement, rehabilitation or reconstruction of a structure of facility, in kind, on the same site, including upgrading buildings to meet building or fire codes...", are Type Il actions.

Therefore, be it RESOLVED, that the Board of Education, after review of the proposed action, 6NYCRR §617.5, and the opinion provided by John A Grillo Architect PC, hereby determines that the proposed projects are Type il Actions pursuant to 6 NYCRR §617.5(c) (1) & (2) of the implementing regulations of the State Environmental Quality Review Act, and will, therefore, by definition, have no significant adverse impact on the environment.

On motion by Mrs. Gische, seconded by Mr. Vizzo, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Appointment of Construction Manager

Approve

Settlement Agreement of Sayville Union

Free School District v. Suffolk

Action

School Employees Health Plan Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the Board of Education appoint School Construction Consultants, Inc. to provide construction management services for the following projects: Nassakeag parking lot addition, Setauket Fuel Tank Replacement, Gelinas Site Work, and Ward Melville HS Toilet Renovations for an approximate fee of \$71,000, in accordance with pricing included in the Nassau BOCES Shared Services Agreement.

On motion by Mrs. Gische, seconded by Mr. Connors, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the Board of Education approve the following resolution:

Be it RESOLVED that the Board of Education of the Three Village Central School District hereby authorizes settlement of the action titled "Saville Union Free School District v. Suffolk School Employees Health Plan, et. al.," venued in Suffolk County Supreme Court, Index No. 613601-2015, in accordance with the terms of the Settlement Agreement and Release between the parties; and,

Be it further RESOLVED that the Board of Education herby authorizes the Board President to execute any and all documents necessary to effectuate said settlement.

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Appointment of Affordable Care Act Compliance Consulting Services 2020-2021 Be it RESOLVED that upon the recommendation of the Superintendent of Schools, the appointment of Seneca Consulting Group be approved as Affordable Care Act compliance audit consultants engaged to perform a compliance audit pertaining to District responsibilities of the Affordable Care Act. Appointment is effective July 1, 2020 through June 30, 2021. Fee for services rendered is \$9,500 per annum.

On motion by Mrs. Gische, seconded by Mr. Connors, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Appointment of Superintendent's Hearing Officers Upon recommendation of the Superintendent of Schools be it hereby RESOLVED that the Board of Education approve the appointment of the following individuals to serve as Superintendent's Hearing Officers effective July 1, 2020 through June 30, 2021.

- Alan Baum, Executive Director of Human Resources and Secondary Curriculum, will serve at no additional compensation
- Jody Feiner will serve at a fee of \$300.00 per hearing, up to 2 hours, and \$100.00 for each additional hour.

On motion by Mr. Komreich, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approval of District Committees/ Task Forces 2020-2021 Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the Board of Education hereby approve the formation of the committees on the attached list.

Name of Committee	<u>Description</u>	State Mandated Y/N	Committee Composition Requirement Y/N	Number of Tenchers / Staff	<u>Number</u> of Admin.	Number of Parents/ Community Rep.	Frequency of Meetings (Yearly)
Alternative Education	Sub-committee of CDC – created to design and guide the alternative	N	N	17	12	29	3
Anti-Racīsm	school program Review and recommend procedures and programs related to anti- racism.	N	N	9	12	9	4 (more as needed)
Bully Prevention	Committee created in an effort to provide for district-wide efforts to address bully prevention, DASA, and PBIS, share resources, provide updates on other relevant issues, i.e. transgender, and explore new concerns that may arise.	N `	N	12	6	4	2
Calendar Committee	Committee established to develop recommend- dation to the Board of Education for the district calendar	N	N	8	8	2	
Code of Conduct	Committee developed in respect to Education Law, sections 11(1) and (2) and enforced. Such a code shall be developed and reviewed in collaboration with student, teacher, administrator, and parent organizations, school safety personnel and other school personnel.	Υ	Y		9		I

CTE Committee	Sub-Committee of Program Review. Propose Career and Technical Education	N	N	10	6	0	5
Curriculum Development (CDC)	Programs Board Policy and Regulations (4200) requires the review of all course proposals and curriculum writing	N	N	14	12	0	5
Emergency Management Team	projects. District-wide team that addresses policies and procedures for response to emergency situations, evacuation, lockdown, lockout, post-intervention, etc.	Y	Y	2	13	4 * police and fire personne 1	4 and as needed
Grading	Reviews all grading issues and makes recommen- dations to the BOE.	N	N	10	13	0	Ad Hec
HIV/AIDS Advisory	Under the 2019-20 Physical Education and Health Standards from NYSED, districts are required to have a committee on	Y .	Y	4* *includin g I nurse (rec.)	3	4* *Bd. Member *Parent *Religio us leader *Student (rec.)	5
Interview	HIV and AIDS. Advisory Committee for required staff and administrative positions	И	N	TBD	TBD	0	Ad Hoc
Math Committee	recommends a math program based upon the NYS Standards and Three Village curriculum for grades K-6.	N	N	ДŰ	TBD	0 .	4
Professional Development	The committee plans and approves professional development activities and prepares the Professional Development Plan, which provides the necessary guidance to fulfill the requirements of NYS Commissioner's Regulations 80-3.6(b), 100 2(dd)	Υ	Y	9	II	1	4
Professional Development Steering	100.2(dd). Plans and implements program, workshops, and activities for Superintendent' s Conference and Professional Development Days.	N	N	5	8	0	4

							_
Program Review	Reviews and recommends programmatic changes as addressed in BOE policy 0350.	N	N	11	11	0	3
Program Review Elementary	Reviews and recommends elementary educational programmatic changes addressed in BOE policy 0350.	N	N	5	6	0	2
Program Review Secondary	Reviews and recommends secondary educational programmatic changes as addressed in BOE policy 0350.	N	N	6	5	0	2
Reading Committee	Sub-Committee of Program Review. Determine the necessity to update reading in the secondary level and potentially recommend a	N	N	15	7	0	5
Reopening Committee- Governance Task Force	new program. Committee required by the Governor and NYSED in order to plan for reopening schools after the COVID-19 crisis. *Subcom- mittees are divided among ten core operational areas. The composition of the sub- committees includes 53 staff, 26 administrators, 13 community members, and 2 Board of Education Trustees.	Y	<b>Y</b>	1*	15*	3*	As needed
Response to Intervention	Established to address requirements under Commis- sioner's Regulations 100.2 (ee) and Board Policy 4325	N	N	13	10	0	6
Scheduling Timeline	Plans all educational and secondary dates for marking periods, progress reports, and report cards.	N	N	2	6	0	2
School Safety Team  *requires the inclusion of a Board Member	Responsible for policies and procedures related to district-wide safety.	N	N	17	12	5	3-4
Site-Based Management District Level	Required under NYSED regulation – oversees the management of schools.	Y	Y				,

Smart Schools	Prepares recommen- dations with regard to the Smart School	Y	Y	12	3	4	2
Sustainability	Bond Act. Review and recommend procedures and programs related to sustainability	N	N	9	12	9	4 (more as needed)
Technology	sustamazinty The District Technology Committee meets to plan, discuss and promote the use of technology throughout the district, primarily to support student learning and enhance teaching.	Y	Y	9		ı	4
Wellness	The goal of the committee is to advocate for the health and well-being of the students, staff and community	N	N	10	6	7	5

On motion by Mrs. Gische, seconded by Ms. Bavlnka, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Professional Development Plan Update 2020-2021 Upon the Recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education adopt the plan.

On motion by Mr. Kornreich, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approval of the 2020-2021 Athletic Trainer & Assistant Athletic Trainer Salaries Schedule Be it RESOLVED that upon recommendation of the Superintendent of Schools the Board of Education of the Three Village Central School District approve the attached non-aligned Athletic Trainer and Assistant Athletic Trainer salaries schedule for the 2020-2021 school year.

On motion by Mr. Vizzo, seconded by Ms. Bavlnka, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approval of the 2020-2021 Schedule for the MESTRACT Salaries Schedule Be it RESOLVED that upon recommendation of the Superintendent of Schools, the Board of Education of the Three Village Central School District approves the attached MESTRACT salaries schedule for the 2020-2021 school year.

On motion by Mrs. Gische, seconded by Mr. Komreich, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approval of the 2020-2021 Schedule for Non-Aligned Substitute Nurses Per Diem Rate Be it RESOLVED, that upon the recommendation of the Superintendent of Schools, the Board of Education of the Three Village Central School District approves the attached non-aligned Substitute Nurses per diem rate schedule for the 2020-2021 school year.

On motion by Mrs. Gische, seconded by Mr. Kornreich, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Authorization to Assign Employees to One to One Supervision, Chaperone Services and Class Coverage 2020-2021 Be it RESOLVED, that upon the recommendation of the Superintendent of Schools, the Board of Education hereby authorizes Building Principals to assign district employees to perform one on one supervision, chaperone services, and class coverage (teacher and teaching assistants with teaching certification only), as required, at a contractual rate within the Board of Education's budgetary appropriation for such services.

On motion by Mrs. Gische, seconded by Mr. Kornreich, and carried by a 7-0-0 vote, the Board approved the resolution as presented..

Contract of Agreement – Athletic Trainer 2019-2020 Be it RESOLVED, that upon recommendation of the Superintendent of Schools, the Contract of Agreement between the Three Village Central School District Athletic Trainer and the Board of Education of the Three Village Central School District, be approved.

On motion by Mrs. Gische, seconded by Mr. Kornreich, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Contract of Agreement -Assistant Athletic Trainer Be it RESOLVED, that upon the recommendation of the Superintendent of Schools, the Contract of Agreement between the Three Village Central School District Assistant Athletic Trainer and the Board of Education of the Three Village Central School District, be approved.

On motion by Mrs. Gische, seconded by Mr. Komreich, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approval of the Amended 2020-2021 Salaries Schedule for Non-Aligned Employees – Non-Instructional RESOLVED, that upon the recommendation of the Superintendent of Schools, the Board of Education hereby approves the attached Amended Non-Aligned Employees-Non-Instructional salaries schedule for the 2020-2021 school year.

On motion by Mrs. Gische, seconded by Mr. Kornreich, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Resolution Abolishing Positions and Terminating Employees with Least Seniority RESOLVED, that upon recommendation of the Superintendent of Schools, the Board of Education hereby abolishes the subsequent positions in the following Teacher job titles, for the purposes of economy and efficiency

Job Title	No. of Positions
Teaching Assistant	1.0
Special Education Aide	11 //

Be it further RESOLVED, the employment of the aforementioned employees having the least seniority in the District, shall be discontinued, effective July 1, 2020. The following employees are hereby excessed:

Name	<u>Job Title</u>	FTE Excessed
Jennifer Sanchez	Teaching Assistant	1.0
Marianne Couto	Special Education Aide	1.0
Elizabeth Palamara	Special Education Aide	1.0
Lyndsay Carpenter	Special Education Aide	1.0
Jeanine Amurata	Special Education Aide	1.0
Brittney Doell	Special Education Aide	1.0
Elena Catanese	Special Education Aide	1.0
Laurie Messina	Special Education Aide	1.0
Neala Molow	Special Education Aide	1.0
Margie Scarfogliero	Special Education Aide	1.0
Diana Lasak	Special Education Aide	1.0
Donna Scarth	Special Education Aide	1.0

On motion by Mrs. Gische, seconded by Mr. Vizzo, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Resolution Recalling Excessed Teacher and Teaching Assistant Be it RESOLVED that upon the recommendation of the Superintendent of Schools, the Board of Education recalls the following employees, to wit:

Name	Job Title
Christine Solntzeff	Teacher
Tennifer Sanchez	Teaching Assistant

Ms. Solntzeff was excessed at the July 8, 2020 Board of Education meeting. Ms. Solntzeff is being recalled to a one-year leave replacement teacher position, effective September 2, 2020. Ms. Sanchez was excessed at the July 8, 2020 Board of Education meeting. Ms. Sanchez is being recalled to a one year leave replacement teaching assistant position, effective September 2, 2020.

On motion by Mr. Kornreich, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Memorandum of Agreement – MESTRACT Teacher Be it RESOLVED, that upon the recommendation of the Superintendent of Schools, the Contract of Agreement between the MESTRACT Teacher and the Board of Education of Three Village Central School District, be approved.

On motion by Ms. Bavlnka, seconded by Mr. Vizzo, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Memorandum of Agreement – MESTRACT Be it RESOLVED, that upon the recommendation of the Superintendent of Schools, the Contract of Agreement between the MESTRACT Account Clerk Typist and the Board of Education of Three Village Central School District, be approved.

Account Clerk Typist 2020-2021

On motion by Ms. Bavinka, seconded by Mr. Vizzo, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Personnel Matters

Instructional

Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve the instructional personnel items described in the schedule below:

#### LEAVE OF ABSENCE

Name School/ Assignment Effective Reason Tenured

Liguori, Gelinas JHS/ Teaching 2020-2021 Unpaid No Christine Assistant

APPOINTMENT TO INSTRUCTIONAL POSITIONS

Booker, Karen Part-Time Permanent Substitute Teacher

80% Position

St. Joseph's College – BA, MS Previous Tenure – Yes Related to current employee – No

Salary: Step 6 Level BA - \$63,854 x .8 = \$51,083

Effective - 9/2/20 - 6/25/21

This is a permanent part-time (not to exceed 4 days per week) appointment, effective 9/2/20 - 6/25/21. This appointment is due to the shortage of available substitute teachers in the District. Ms. Booker will be assigned to Minnesauke Elementary School for the 2020-2021 school year. Fingerprint clearance is on file.

Dolan, Jennifer Part-time Permanent Substitute Teacher

80% Position

SUNY at Cortland – BS College of New Rochelle - MA Previous Tenure – No

Related to current employee - No

Salary: Step 6 Level BA - \$63,854 x .8 = \$51,083

Effective - 9/2/20 - 6/25/21

This is a permanent part-time (not to exceed 4 days per week) appointment, effective 9/2/20 - 6/25/21. This appointment is due to the shortage of available substitute teachers in the District. Ms. Dolan will be assigned District-wide for the 2020-2021 school year. Fingerprint clearance is on file.

Fitzsimons, Judith Part-time Permanent Substitute Teacher

80% Position

St. John's University - BA, MS

Previous Tenure - No

Related to current employee - No

Salary: Step 6 Level BA -  $$63,854 \times .8 = $51,083$ 

Effective - 9/2/20 - 6/25/21

This is a permanent part-time (not to exceed 4 days per week) appointment, effective 9/2/20 - 6/25/21. This appointment is due to the shortage of available substitute teachers in the District. Ms. Fitzsimons will be assigned to Nassakeag Elementary School for the 2020-2021 school year. Fingerprint clearance is on file.

Flaiz, Christine Part-Time Permanent Substitute Teacher

80% Position

Quinnipiac University, BA, MA

Previous Tenure - No

Related to current employee - No

Salary: Step 2 Level BA - \$57,702 x .8 = \$46,162

Effective - 9/2/20 - 6/25/21

This is a permanent part-time (not to exceed 4 days per week) appointment, effective 8/28/19 - 6/26/20. This appointment is due to the shortage of available substitute teachers in the District. Ms. Flaiz will be assigned to Arrowhead Elementary School for the 2020-2021 school year. Ms. Flaiz is currently working in the District and fingerprint clearance is on file.

Lardaro, Susan Part-time Permanent Substitute Teacher

80% Position

SUNY Stony Brook – BA Dowling College - MA

Previous Tenure - No

Related to current employee - No

Salary: Step 6 Level BA -  $$63,854 \times .8 = $51,083$ 

Effective - 9/2/20 - 6/25/21

This is a permanent part-time (not to exceed 4 days per week) appointment, effective 9/2/20 -6/25/21. This appointment is due to the shortage of available substitute teachers in the District. Ms. Lardaro will be assigned to Mount Elementary School for the 2020-2021 school year. Fingerprint clearance is on file.

Mahnken, Ruth

Registered Nurse

50% Position

SUNY Farmingdale - AS Previous Tenure - No

Related to current employee - No

Salary Step/Level -12/NURSE -\$60,679 x .5 =

\$30,390

Effective: 9/2/20 - 6/25/21

This is a continuing appointment, effective 9/2/20 to 6/25/21. Ms. Mahnken will be assigned (.5) to The Laurel Hill School for the 2020-21 school year. Ms. Mahnken is currently working in the District and fingerprint clearance for employment is on file.

Murphy, Kristin

Part-Time Permanent Substitute Teacher

80% Position

SUNY Stony Brook - BA Long Island University - MA Previous Tenure - No

Related to current employee - No

Salary: Step 2 Level BA -  $$57,702 \times .8 = $46,162$ 

Effective - 9/2/20 - 6/25/21

This is a permanent part-time (not to exceed 4 days per week) appointment, effective 9/2/20 -6/25/21. This appointment is due to the shortage of available substitute teachers in the District. Ms. Murphy will be assigned to Setauket Elementary School for the 2020-2021 school year. Ms. Murphy is currently working in the District and fingerprint clearance is on file.

Sanchez, Jennifer

One-year Leave Replacement Teaching Assistant Dowling College – BA Previous Tenure – No

Related to current employee – No Salary Step 2/Level III - \$30,999 Effective: 9/2/20 – 6/30/21

This is a one-year leave replacement appointment effective 9/2/20 - 6/30/21. This appointment is due to the leave of absence of Christine Liguori. Ms. Sanchez was excessed from her probationary position at the Board of Education Meeting held on July 8, 2020. Ms. Sanchez will be assigned to Arrowhead Elementary School for the 2020-2021 school year. Fingerprint clearance for employment is on file.

Schneider, Kerry

Part-time Permanent Substitute Teacher

80% Position

St. Joseph's College -- BA Previous Tenure - No

Related to current employee - No

Salary: Step 6 Level BA -  $$63,854 \times .8 = $51,083$ 

Effective - 9/2/20 - 6/25/21

This is a permanent part-time (not to exceed 4 days per week) appointment, effective 9/2/20 -6/25/21. This appointment is due to the shortage of available substitute teachers in the District. Ms. Schneider will be assigned to Arrowhead Elementary School for the 2020-2021 school year. Fingerprint clearance is on file.

Sheprow, Donna

Part-Time Permanent Substitute Teacher

80% Position

St. Joseph's College - BA Long Island University - MS Previous Tenure - No

Related to current employee - No

Salary: Step 2 Level BA - \$57,702 x .8 = \$46,162

Effective - 9/2/20 - 6/25/21

This is a permanent part-time (not to exceed 4 days per week) appointment, effective 9/2/20 -6/25/21. This appointment is due to the reassignment of Melanie Brendel. Ms. Sheprow will be assigned to Setauket Elementary School for the 2020-2021 school year. Ms. Sheprow is currently working in the District and fingerprint clearance is on file.

Solntzeff, Christine

One-year Leave Replacement English Teacher

St. Joseph's College -- BA Dowling College - MA

Previous Tenure – Yes Related to current employee - No Salary: Step/Level - 5/MA Effective: 9/2/20 – 6/30/21

This is a one-year leave replacement appointment effective 9/2/20-6/30/21. This appointment is due to the leave of absence of Cristina Cereola. Ms. Solntzeff was excessed from her probationary position at the Board of Education Meeting held on June 24, 2020. Ms. Solntzeff will be assigned to Murphy Junior High School for the 2020-21 school year. Fingerprint clearance for employment is on file.

Ullah, Nicole

Part-time Permanent Substitute Teacher

80% Position

Dowling College – BA, MS Previous Tenure – No

Related to current employee - No

Salary: Step 6 Level BA - \$63,854 x .8 = \$51,083

Effective - 9/2/20 - 6/25/21

This is a permanent part-time (not to exceed 4 days per week) appointment, effective 9/2/20 - 6/25/21. This appointment is due to the shortage of available substitute teachers in the District. Ms. Ullah will be assigned to Setauket Elementary School for the 2020-2021 school year. Fingerprint clearance is on file.

Volk, Daniel

School Psychologist SUNY Geneseo – BS University of Connecticut – MA Previous Tenure – No Related to current employee – No Salary: Step/Level 1/MA Effective: 9/2/20

This is a four-year probationary appointment with an anticipated tenure date of 9/2/24. This appointment is due to the resignation of Melanthi Parpas. Mr. Volk will be assigned to Gelinas Junior High School for the 2020-2021 school year. This appointment is pending issuance of Mr. Volk's NYS School Psychologist provisional certification. Fingerprint clearance for employment has been received.

New Probationary Teachers:

All probationary appointments made on or after July 1, 2015 are subject to the new four-year probationary period. In order to be eligible for tenure, an individual receiving a probationary appointment as a classroom teacher or building principal must receive annual composite or overall APPR rating of H or E in the last three of the four preceding years, and if the individual receives a rating of I in the final year of the probationary period, he or she will not be eligible for tenure at that time.

#### APPOINTMENTS TO SUBSTITUTE TEACHER/NURSE/PARAPROFESSIONAL/ TEACHING ASSISTANT POSITIONS

#### Gregory, Glenda

Ms. Gregory is retiring from her Social Worker position effective 6/30/2020 and has asked to be added to the substitute teacher list. This position is contingent on fingerprint clearance.

#### Hart, Loretta

Ms. Hart is retiring from her teaching position effective 6/30/2020 and has asked to be added to the substitute teacher list. This position is contingent on fingerprint clearance.

#### Lynch, Mary

Ms. Lynch is retiring from her School Psychologist position effective 6/30/2020 and has asked to be added to the substitute teacher list. This position is contingent on fingerprint clearance.

### Murolo, Nancy Ellen

Ms. Murolo is retiring from her teaching position effective 6/30/2020 and has asked to be added to the substitute teacher list. This position is contingent on fingerprint clearance

# APPOINTMENTS TO WINTER COACH POSITIONS

<u>Last</u>	First	<u>Buil-</u>	<u>Assign-</u>	Effec-	Step	Year		Stipend	Status	End
<u>Name</u>	<u>Name</u>	<u>ding</u>	ment	<u>tive</u>		<u>at</u>	<u>Year</u>			Date
						<u>Step</u>	<u>s</u>			

Junior High Coaches

Mc	Gries	Tyler	Murph y	Boys Soccer 7/8	Fall	l	1	1	\$4,998.00	In Dist- rict	9/8/20- 11/6/20
Namara	High Sch	ool Coaches	;								
White		Laura	WMHS	Hockey,	Fall	3	9	13	\$7,160.00	Dist-	
Roarty   Karen   Gelinas   Athletic   Sept   1   \$2,307.84   In   Sept   20/Oct   intot   20	Athletic C	Coordinators	<u>s</u>								
Roarty   Karen   Gelinas   Athletic   Sept   Coord-   Oct   Industry (2   Industry (2   Industry (3   Industry (2   Industry (3   Industry (		Tom	Gelinas	Coordina tor (8				4	\$11,539.20	Dist-	
*Oliver Vincent phy Coordina Jun S14,568.00 In Olist- or too Coordina Jun S14,568.00 In Olist- or too Coordina Jun S14,568.00 In Olist- or this assignment on 6/24/20. This is to correct his stipend.  Athletic Supervision  Last First Bidg Assign Year Supervision Supervision 20 In Olist- or this assignment on 6/24/20. This is to correct his stipend.  Supervision Rate: S28.75 /hr prior to 6:00 p.m.  S43.14 /hr after 6:00 p.m. and on days school is closed Scoreboard Timer: \$110.46 p.	Roarty	Karen	Gelinas	Athletic Coord- inator (2				1	\$2,307.84	Dist-	20/Oct
Mr. Oliver was BOE approved for this assignment on 6/24/20. This is to correct his stipend.  Athletic Supervision  Last First Bidg Assign Year tugs Exceed Rettig Rosem WMHS Super 2019- vision 20 In District  Supervision Rate: \$28.75 /hr prior to 6:00 p.m.  \$43.14 /hr after 6:00 p.m. and on days school is closed Scoreboard Timer: \$110.46 p.	*Oliver	Vincent		Athletic Coordina				4	\$14,568.00	Dist-	
Last         First Pirst         Bidg ment ment ment         Year ment tus Exceed         No to Exceed in Second in S	Mr. Olive	r was BOE	approved fo		ment on 6	/24/20.	This is to	correct l	nis stipend.		
Rettig Rosem arie WMHS Super 2019- In Super 2019- I	Athletic S	Supervision									
Rettig Rosen arie WMHS Supervision 2019- vision 20 District  Supervision Rate: \$28.75 /hr prior to 6:00 p.m.  \$43.14 /hr after 6:00 p.m. and on days school is closed Scoreboard Timer: \$110.46 p.	<u>Last</u>	<u>First</u>	Bidg		<u>Year</u>						
\$43.14 /hr after 6:00 p.m. and on days school is closed Scoreboard Timer: \$110.46 p.	Rettig		WMHS	Super-						In Dist-	
closed Scoreboard Timer: \$110.46 p.	Supervisi	on Rate:	\$28.75 /h	ır prior to 6:0	0 p.m.						
		rd Timer: \$	closed	nr after 6:00 p	o.m. and o	n đays s	school is				·

All other times/scorers receive supervision pay rate

# APPOINTMENTS OF ANNUAL EXTRA ASSIGNMENTS

Last Name	First Name	Building	Assignment	Effective	Stipend	Not to Exceed
Dornicik	Jim	WMHS	Greenhouse Manager	2020- 2021	\$1,545.00	\$1,545.00
Buys	Megan	WMHS	6th Class, Math .2, prorated	9/8/20- 9/30/20	\$1,103.00	\$1,103.00
Downer	Matthew	WMHS	6th Class, Math, .2, prorated	9/8/20- 9/30/20	\$504.08	\$504.08
Dillon	Christine	WMHS	6th Class, Math, .2, prorated	9/8/20- 9/30/20	\$2,401.60	\$2,401.60
McNamara	Laura	WMHS	6th Class, Math, .2, prorated	9/8/20- 9/30/20	\$2,011.42	\$2,011.42
Tam	Aaron	WMHS	6th Class, Math, .2, prorated	9/8/20- 9/30/20	\$1,997.62	\$1,977.62
Megara	Michelle	WMHS	ACT Special Education Testing Accommodations Coordinator	2020- 2021	\$3,500.00	\$3,500.00
Reyes	Maureen	N. Country	SAT Special Education Accommodations Coordinator	2020- 2021	\$7,500.00	\$7,500.00
Halter	Kim	District-wide	Lead Behavior Consultant	2020- 2021	\$1,749.00	\$1,749.00
*Alexander	Dawn	N. Country	District-wide PPS Mentor	2020- 2021	\$3,844.00	\$3,844.00
*Ms. Alexander	r was BOE app	roved for this assi	gnment on the 6/24/20 age	enda. This is	to correct her sti	pend.
Hughes	Jason	Minnesauke	Lead STEM Teacher	2020- 2021	\$1,749.00	\$1,749.00
*Zeidman	Stacey	Academy	Class Advisor	2020- 2021	\$3,575.00	\$3,575.00

2020-\$2,202.00 \$2,202.00 \*Zeidman Stacey Academy Yearbook Advisor 2021 Ms. Zeidman was approved for these assignments on the 6/24/20 BOE agenda. This is to correct her stipend, \$2,202.00 \$2,202.00 \*Kula Mamie WMHS InStar Coordinator 2020-2021

\*Ms. Kula was approved for this assignment at the 6/24/30 BOE agenda. This is to correct her stipend.

# APPOINTMENTS OF HOURLY EXTRA ASSIGNMENTS

					-		
<u>Last Name</u>	First Name	Building	Assignment	Effective	Rate	Hours	Not to Exceed
Stevens	Jennifer	Arrowhead	Speed Dial Training	2020- 2021	\$50.05/hr	2	\$100.10
Connolly	Janice	Arrowhead	Speed Dial Training	2020- 2021	\$50.05/hr	2	\$100.10
Guiffreda	Meredith	Arrowhead	Speed Dial Training	2020- 2021	\$50.05/hr	2	\$100.10
Peters	Michelle	Arrowhead	Speed Dial Training	2020- 2021	\$50.05/hr	2	\$100.10
Stravopoulos	Christina	Arrowhead	Speed Dial Training	2020- 2021	\$50.05/hr	2	\$100.10
Nickerson	Nicole	Nassakeag	Speed Dial Training	2020- 2021	\$50.05/hr	2	01.001
Curatola	Mona	Nassakeag	Speed Dial Training	2020- 2021	\$50.05/hr	2	\$100,10
Damiano	Kristin	Nassakeag	Speed Dial Training	2020- 2021	\$50.05/hr	2	\$100.10
Dagostino	Rebecca	Nassakeag	Speed Dial Training	2020- 2021	\$50.05/hr	2	\$100.10
Provenzano	Lynn	Nassakeag	Speed Dial Training	2020- 2021	\$50.05/hr	2	\$100.10
Murphy	Nina	Mount	Speed Dial Training	2020- 2021	\$50.05/hr	2	\$100.10
Kane	llene	Mount	Speed Dial Training	2020- 2021	\$50.05/hr	2	\$100.10
DelPrete	Kristine	Mount	Speed Dial Training	2020- 2021	\$50.05/hr	2	\$100.10
O'Leary	Abigail	Mount	Speed Dial Training	2020- 2021	\$50.05/hr	2	\$100.10
Assail	Sari	Mount	Speed Dial Training	2020- 2021	\$50.05/hr	2	\$100.10
Prinzevali	Rachel	Mount	Speed Dial Training	2020- 2021	\$50.05/hr	2	\$100.10
Heyman	Kimberly	Mount	Speed Dial Training	2020- 2021	\$50.05/hr	2	\$100.10
DeLorenzo	Heather	Mount	Speed Dial Training	2020- 2021	\$50.05/hr	2	\$100.10
Lambert	Michelle	Minnesauke	Speed Dial Training	2020- 2021	\$50.05/hr	2	\$100.10
Hawkins	Laura	Minnesauke	Speed Dial Training	2020- 2021	\$50.05/hr	2	\$100.10
Manfredi	Anita	Minnesauke	Speed Dial Training	2020- 2021	\$50.05/hr	2	\$100.10
Sheridan	Cassie	Minnesauke	Speed Dial Training	2020- 2021	\$50.05/hr	2	\$100.10
Caccavale	Jaclyn	Minnesauke	Speed Dial Training	2020- 2021	\$50.05/hr	2	\$100.10
Knipper	Nicole	Minnesauke	Speed Dial Training	2020- 2021	\$50.05/hr	2	\$100.10
Bemardo	Kristen	Minnesauke	Speed Dial Training	2020- 2021	\$50.05/hr	2	\$100.10

Murphy	Chris	Minnesauke	Speed Dial Training	2020- 2021	\$50.05/hr	2	\$100.10
Arasa	Teny	Minnesauke	Speed Dial Training	2020- 2021	\$50.05/hr	2	\$100.10
Nickerson	Nicole	Setauket	Speed Dial Training	2020- 2021	\$50.05/hr	2	\$100.10
Prinzo	Edie	Setauket	Speed Dial Training	2020- 2021	\$50.05/hr	2	\$100.10
Gunning	Michelle	Setauket	Speed Dial Training	2020- 2021	\$50.05/hr	2	\$100.10
Bard	Lori	Setauket	Speed Dia! Training	2020- 2021	\$50.05/hr	2	\$100.10
Freeman	Kelly	Setauket	Speed Dial Training	2020- 2021	\$50.05/hr	2	\$100.10
Gabriele	Ashley	Setauket	Speed Dial Training	2020- 2021	\$50.05/hr	2	\$100.10
Alu	Loree	Arrowhead	Math Pilot K -2 Training	2020- 2021	\$50.05/hr	1.5	\$75.08
Brown	Laura	Setauket	Math Pilot K -2 Training	2020- 2021	\$50.05/hr	1.5	\$75.08
Kane	Itene	Mount	Math Pilot K -2 Training	2020- 2021	\$50.05/hr	1.5	\$75.08
Lachler	Lisa	Mount	Math Pilot K -2 Training	2020- 2021	\$50.05/hr	1.5	\$75.08
Murphy	Jayne	Minnesauke	Math Pilot K -2 Training	2020- 2021	\$50.05/hr	1.5	\$75.08
Oppenheim	Jessica	Nassakeag	Math Pilot K -2 Training	2020- 2021	\$50.05/hr	1.5	\$75.08
Wall	Lisa	Setauket	Math Pilot K	2020-	\$50.05/hr	1.5	\$75.08
			-2 Training	2021			
Schwarz	Gina		-2 Training TC1 - Bring Science Alive Introductory Training	2021 2020- 2021	\$50.05/hr	1	\$50.05
Schwarz Schwarz	Gina Gina		TCI - Bring Science Alive Introductory	2020-	\$50.05/hr \$50.05/hr	2	\$50.05 \$100.10
		Academy	TCI - Bring Science Alive Introductory Training TCI - Bring Science Alive Training:	2020- 2021 2020-			
Schwarz	Gina Christo-	Academy	TCI - Bring Science Alive Introductory Training TCI - Bring Science Alive Training: Deeper Dive AIS Services - Social	2020- 2021 2020- 2021 2020-	\$50.05/hr	2	\$100.10
Schwarz Boltrek	Gina Christo- pher	·	TCI - Bring Science Alive Introductory Training  TCI - Bring Science Alive Training: Deeper Dive  AIS Services - Social Studies  AIS Services	2020- 2021 2020- 2021 2020- 2021 2020-	\$50.05/hr \$57.89/hr	2	\$100.10 \$578.90
Schwarz  Boltrek  Catalfamo	Gina Christo- pher Tammy	Academy	TCI - Bring Science Alive Introductory Training TCI - Bring Science Alive Training: Deeper Dive AIS Services - Social Studies AIS Services - English AIS Services	2020- 2021 2020- 2021 2020- 2021 2020- 2021 2020- 2021	\$50.05/hr \$57.89/hr \$57.89/hr	2 10 10	\$100.10 \$578.90 \$578.90
Schwarz  Boltrek  Catalfamo  Crispino	Gina Christo- pher Tammy Lisa	Academy Academy	TCI - Bring Science Alive Introductory Training TCI - Bring Science Alive Training: Deeper Dive AIS Services - Social Studies AIS Services - English AIS Services - English AIS Services	2020- 2021 2020- 2021 2020- 2021 2020- 2021 2020- 2021 2020- 2021	\$50.05/hr \$57.89/hr \$57.89/hr	2 10 10	\$100.10 \$578.90 \$578.90 \$578.90
Schwarz  Boltrek  Catalfamo  Crispino  DiFede	Gina Christopher Tammy Lisa Christine	Academy Academy Academy	TCI - Bring Science Alive Introductory Training TCI - Bring Science Alive Training: Deeper Dive AIS Services - Social Studies AIS Services - English AIS Services - English AIS Services - Science AIS Services	2020- 2021 2020- 2021 2020- 2021 2020- 2021 2020- 2021 2020- 2021 2020- 2021	\$50.05/hr \$57.89/hr \$57.89/hr \$57.89/hr	2 10 10 10	\$100.10 \$578.90 \$578.90 \$578.90
Schwarz  Boltrek  Catalfamo  Crispino  DiFede  Hartman	Gina Christopher Tammy Lisa Christine Bill	Academy Academy Academy Academy	TCI - Bring Science Alive Introductory Training TCI - Bring Science Alive Training: Deeper Dive AIS Services - Social Studies AIS Services - English AIS Services - English AIS Services - Science AIS Services - Social Studies AIS Services	2020- 2021 2020- 2021 2020- 2021 2020- 2021 2020- 2021 2020- 2021 2020- 2021 2020- 2021	\$50.05/hr \$57.89/hr \$57.89/hr \$57.89/hr \$57.89/hr	2 10 10 10 10	\$100.10 \$578.90 \$578.90 \$578.90 \$578.90
Schwarz  Boltrek  Catalfamo  Crispino  DiFede  Hartman  Petruzzi	Gina Christopher Tammy Lisa Christine Bill Jeanne	Academy Academy Academy Academy Academy	TCI - Bring Science Alive Introductory Training TCI - Bring Science Alive Training: Deeper Dive AIS Services - Social Studies AIS Services - English AIS Services - English AIS Services - Social Studies AIS Services - English AIS Services - Social Sudies AIS Services - Social Studies AIS Services - Social Studies AIS Services - Math AIS Services	2020- 2021 2020- 2021 2020- 2021 2020- 2021 2020- 2021 2020- 2021 2020- 2021 2020- 2021 2020- 2021	\$50.05/hr \$57.89/hr \$57.89/hr \$57.89/hr \$57.89/hr \$57.89/hr	2 10 10 10 10	\$100.10 \$578.90 \$578.90 \$578.90 \$578.90 \$578.90 \$1,157.8
Schwarz  Boltrek  Catalfamo  Crispino  DiFede  Hartman  Petruzzi  Zeidman	Gina Christopher Tammy Lisa Christine Bill Jeanne Stacey	Academy Academy Academy Academy Academy	TCI - Bring Science Alive Introductory Training TCI - Bring Science Alive Training: Deeper Dive AIS Services - Social Studies AIS Services - English AIS Services - English AIS Services - Science AIS Services - Science AIS Services - Social Studies AIS Services - Math AIS Services - Math AIS Services - Math	2020- 2021 2020- 2021 2020- 2021 2020- 2021 2020- 2021 2020- 2021 2020- 2021 2020- 2021 2020- 2021 2020- 2021	\$50.05/hr \$57.89/hr \$57.89/hr \$57.89/hr \$57.89/hr \$57.89/hr \$57.89/hr	2 10 10 10 10 10 10	\$100.10 \$578.90 \$578.90 \$578.90 \$578.90 \$578.90 \$1,157.8

Eve	Ann Marie		Literacy Professional Development	2020- 2021	\$50.05/hr	12	\$600.60		
Bostwick	Antoinette		Literacy Professional Development	2020- 2021	\$50.05/lir	12	\$600.60		
Costello	Ann Marie		Literacy Professional Development	2020- 2021	\$50.05/hr	12	\$600.60		
Curriculum W	riting Project:								
Doepp*	Sarah		8R Science	2020-	\$50.0 <b>\$</b> /hr	20	\$1,001.0		
••				2021			0		
*Ms. Doepp is replacing Jillian Visser on this project.									
Nickerson	Carol	WMHS	Community Based Special Education Vocational Training Teacher	2020- 2021	\$57.89/hr		\$10,200. 00		
LaScala	Rene	Arrowhead	SEIST/504 Meetings	2020- 2021	\$57.89/hr		\$1,500.0 0		
Lambert	Michelle	Minnesauke	504 Meetings	2020- 2021	\$57.89/hr		\$1,500.0 0		
DeLorenzo	Heather	Mount	504 Meetings	2020- 2021	\$57.89/hr		\$1,500.0 0		
Williams	Jill	Setauket	SEIST/504 Meetings	2020- 2021	\$57.89/hr		\$1,500.0 0		
Homenides	Eleni	Nassakeag	SEIST/504 Meetings	2020- 2021	\$57.89/hr		\$1,500.0 0		
Salas	Heather	WMHS	504 Meetings	2020- 2021	\$57.89/hr		\$1,800.0 0		
Murphy	Christo- pher	Gelinas	504 Meetings	2020- 2021	\$57.89/hr		\$1,500.0 0		
Portal-Pfeffer	Murphy	Murphy	504 Meetings	2020- 2021	\$57.89/hr		\$1,500.0 0		
			POINTMENT MER ASSIGNI						
Last Name	First Name	Building	Assign- ment	Effective	Rate	<u>Hours</u>	Not to Exceed		
*Trettner	Jennifer	District-wide	Summer Work - Art (at contractual	Summer 2020	\$832.85	5 days	\$4,164.25		
*Ms. Trettner	was BOE appro	ved for summer we	daily rate) ork on 6/24/20. Th	is is to corre	ct the # of days				
Liguori	Christine	Arrowhead	Summer ESY, TA	7/6/20- 8/14/20	\$19.00/hr.				
Salazar	Jose	Arrowhead	Summer ESY, Psychologist	7/6/20- 8/14/20	\$300/day				
Borak	Chris	Arrowhead	Summer ESY, Behavior	7/6/20- 8/14/20	\$300/day				
Halter	Kim	Arrowhead	Consultant Summer ESY, Behavior	7/8/20- 8/10/20	\$300/day				
*Cohen	Scott	Arrowhead	Consultant Summer, ESY, RR Teacher	7/6/20- 8/14/20	\$50.00/hr				
*Mr. Cohen wa Buzzanca	as previously ap Kathy	proved on 6/24/20 Arrowhead	as an ESY TA. T Summer ESY,	his is to chan 7/8/20-	ge his position. \$14.62/hr				
Dolan	Jennifer	Arrowhead	TA Sub Summer ESY,	8/14/20 7/8/20-	\$14.62/hr				
Stevens	Jennifer	Arrowhead	TA Sub Kindergarten	8/14/20 July	\$57.89/hr.	30	\$1,736.70		
•			Screening	2020					
Forgione	Judy	Arrowhead	Kindergarten Screening	July 2020	\$57.89/hr.	30	\$1,736.70		
Rennard	Gina	Arrowhead	Kindergarten Screening	July 2020	\$59,00/hr.	30	\$1,770.00		
Connolly	Janice	Arrowhead	Kindergarten Screening	July 2020	\$57.89/hr.	30	\$1,736.70		
Peters	Michelle	Arrowhead	Kindergarten Screening	July 2020	\$57.89/hr.	30	\$1,736.70		
Guiffreda	Meredith	Arrowhead	Kindergarten Screening	July 2020	\$57.89/hr.	30	\$1,736.70		

LaCasta	Dama	Arrowhead	Kindergarten	tulu	\$57.89/hr.	30	\$1,736.70
LaScala	Rene	Attowned	Screening	July 2020	\$37.07fili.	30	\$1,750.70
Stravo-	Christina	Arrowhead	Kindergarten	July	\$57.89/hr.	30	\$1,736.70
poulos Maaiki	Nancy	Arrowhead	Screening Kindergarten	2020 July	\$57.89/hr.	30	\$1,736.70
t tradici	runoy	Autowijena	Screening	2020	351.67111.	50	\$1,750.70
Cabral	Suzanne	Arrowhead	Kindergarten	July	\$57.89/hr.	30	\$1,736.70
Cohen	Jessica	Nassakeag	Screening Kindergarten	2020 July	\$57.89/hr.	30	\$1,736.70
			Screening	2020	057.005	20	E1 527 50
Curatola	Mona	Nassakeag	Kindergarten Screening	July 2020	\$57.89/hr.	30	\$1,736.70
Velasquez	Irene	Nassakeag	Kindergarten	July	\$57.89/hr.	30	\$1,736.70
Homenides	Eleni	Nassakeag	Screening Kindergarten	2020 July	\$57.89/lur.	30	\$1,736.70
Homeman	2.0	, tusountong	Screening	2020			
Murphy	Nina	Nassakeag	Kindergarten Screening	July 2020	\$57.89/hr.	30	\$1,736.70
Lennon	Sherri	Nassakeag	Kindergarten	July	\$57.89/hr.	30	\$1,736.70
e.u.	Ma	Nesselves	Screening	2020	\$92,30/hr.	30	\$2.760.00
Feldman	Nan	Nassakeag	Kindergarten Screening	July 2020	392,30/III.	30	\$2,769.00
Damiano	Kristin	Nassakeag	Kindergarten	July	\$57.89/hr.	30	\$1,736.70
Provenzano	Lynn	Nassakeag	Screening Kindergarten	2020 July	\$57.89/hr.	30	\$1,736.70
	•	_	Screening	2020		••	
Dagostino	Becky	Nassakeag	Kindergarten Screening	July 2020	\$57.89/hr.	30	\$1,736.70
Cascio	Marianne	Nassakeag	Kindergarten	July	\$57.89/hr.	30	\$1,736.70
Cooper	Allison	Nassakeag	Screening Kindergarten	2020 July	\$57,89/hr.	30	\$1,736.70
Сооры	AMBON	Manuera	Screening	2020	337.07111.		01,130.10
Higgins	Maureen	Mount	Kindergarten	July	\$65.12/hr.	30	\$1,953.60
Tauby	Maureen	Mount	Screening Kindergarten	2020 July	\$57.89/hr.	30	\$1,736.70
•			Screening	2020	257.001	••	
Lussa	Brenda	Mount	Kindergarten Screening	July 2020	\$57.89/hr.	30	\$1,736.70
Rickmers	Tinamarie	Mount	Kindergarten	July	\$57.89/hr.	30	\$1,736.70
DeLorenzo	Heather	Mount	Screening Kindergarten	2020 July	\$57.89/hr.	30	\$1,736.70
			Screening	2020			
Kane	llenc	Mount	Kindergarten Screening	July 2020	\$57.89/hr.	30	\$1,736.70
DelPrete	Kristine	Mount	Kindergarten	July	\$57.89/hr.	30	\$1,736.70
Oll som	Abigail	Mount	Screening Vindemaster	2020 July	\$57.89/lir.	30	\$1,736.70
O'Leary	Abigail	Mount	Kindergarten Screening	2020	J31.07/III.	30	31,730.70
Assail	Sari	Mount	Kindergarten	July	\$57.89/hr.	30	\$1,736.70
Prinzevali	Rachel	Mount	Screening Kindergarten	2020 July	\$57.89/hr.	30	\$1,736.70
			Screening	2020			
Heyman	Kimberly	Mount	Kindergarten Screening	July 2020	\$57.89/hr.	30	\$1,736.70
Murphy	Nina	Mount	Kindergarten	July	\$57.89/hr.	30	\$1,736.70
Gott	Dianna	Mount	Screening Kindergarten	2020 July	\$57.89/hr.	30	\$1,736.70
Con	Dimina		Screening	2020			
Hawkins	Laura	Minnesauke	Kindergarten Screening	July 2020	\$57.89/hr.	30	\$1,736.70
Manfredi	Anita	Minnesauke	Kindergarten	July	\$57.89/hr.	30	\$1,736.70
Chadden	Cassis	Minnosoules	Screening	2020	\$57.89/hr.	30	\$1,736.70
Sheridan	Cassic	Minnesauke	Kindergarten Screening	July 2020	\$37.65fill.	30	31,730.70
Murphy	Chris	Minnesauke	Kindergarten	July	\$57.89/hr.	30	\$1,736.70
Arasa	Тепту	Minnesauke	Screening Kindergarten	2020 July	\$57.89/hr.	30	\$1,736.70
	-		Screening	2020	ACT 004	70	61 727 70
Caccavale	Jaclyn	Minnesauke	Kindergarten Screening	July 2020	\$57.89/hr.	30	\$1,736.70
Knipper	Nicole	Minnesauke	Kindergarten	July	\$57.89/hr.	30	\$1,736.70
Lambert	Michelle	Minnesauke	Screening Kindergarten	2020 July	\$57.89/hr.	30	\$1,736.70
			Screening	2020			
Woodruff	Leia	Minnesauke	Kindergarten Screening	July 2020	\$57.89/hr.	30	\$1,736.70
Bernardo	Kristen	Minnesauke	Kindergarten	July	\$57.89/hr.	30	\$1,736.70
D	Tainin	Minnesauke	Screening	2020	\$88.95/hr.	30	\$2,668.50
Bove	Tricia	Minnesauke	Kindergarten Screening	July 2020	J00.73/III.	30	\$2,006.30
Мигтау	Jayne	Minnesauke	Kindergarten	July	\$68.61/hr	30	\$2,058.30
Lombardo	Jeanine	Setauket	Screening Kindergarten	2020 July	\$57.89/hr.	30	\$1,736.70
			Screening	2020			
Seligson	Lisa	Setauket	Kindergarten Screening	July 2020	\$57.89/hr.	30	\$1,736.70
Birbiglia	Karen	Setauket	Kindergarten	July	\$57.89/hr.	30	\$1,736.70
Prinzo	Edie	Setauket	Screening Kindergarten	2020 July	\$57.89/hr.	30	\$1,736.70
			Screening	2020			
Gunning	Michelle	Setauket	Kindergarten Screening	July 2020	\$57.89/hr.	30	\$1,736.70
Bard	Lori	Setauket	Kindergarten	July	\$57.89/hr.	30	\$1,736.70
			Screening	2020			

March	LeeAnn	Setauket	Kindergarten Screening	July 2020	\$57.89/hr.	30	\$1,736.70
Freeman	Kelly	Setauket	Kindergarten Screening	July 2020	\$57.89/hr.	30	\$1,736.70
Williams	Jill	Setauket	Kindergarten Screening	July 2020	\$57.89/hr.	30	\$1,736.70
Shaughnessy	Kim	Setauket	Kindergarten Screening	July 2020	\$57.89/hr.	30	\$1,736.70
Lennon	Sherri	Setauket	Kindergarten Screening	July 2020	\$57.89/hr.	30	\$1,736.70
Nickerson	Nicole	Setauket	Kindergarten Screening	July 2020	\$57.89/hr.	30	\$1,736.70
Gabriele	Ashley	Setauket	Kindergarten Screening	July 2020	\$57.89/hr.	30	\$1,736.70
Homer	Sama	Setauket	Kindergarten Screening	July 2020	\$63.84/hr,	30	\$1,915.20
Lombardo	Jeanine	North Country	Summer Work - IT (at contractual daily rate)	Summer 2020	\$764.49/ day	5 days	\$3,822.45
Səlazar	Jose	Academy	Intakes, planning, scheduling and transition (at contractual daily rate)	Summer 2020	\$513.32 /day	4 days	\$2,053.28

#### APPOINTMENT OF DEPARTMENT CHAIRS

School	Subject	<u>Name</u>
P.J. Gelinas	Science	Peter Schuchman
R.C. Murphy	English	Cathy Duffy
	Mathematics	Rocco Vetro
Ward Melville	English	Joanna Cadolino
	Mathematics	Laura McNamara
	Science Chairperson & IN STAR Coordinator	Dr. Maureen Kula
All Buildings	Interim Guidance Coordinating Chair	Linda Bergson
_	Coordinating Chair of Art	Jennifer Trettner
	Coordinating Chair of Special Education	Maureen Reyes
	Coordinating Chair of Health & Physical	Kerri Kilkenny
	Education - Elementary	•
	Coordinating Chair of Health & Physical Education – Secondary	Maureen Kost

On motion by Mr. Connors, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

### Non-Instructional

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Three Village Board of Education approve the non-instructional personnel items as described in the schedules listed below:

## CHANGES OF STATUS

#### Monitors/Special Education Aides

Antonio, Susan	From: Special Education Aide (Step 3/Level 10)
7 Millio, Gasan	Setauket Elementary School
	To: Special Education Aide (Step 3/Level 12)
	Murphy Junior High School
	Salary: \$15.41/hr.
	Stipend: \$700/yr. (prorated)
	Effective: July 1, 2020

From: Special Education Aide (Step 2/Level 11) Carpenter, Mary

Nassakeag Elementary School

To: Special Education Aide (Step 2/Level 13) Ward Melville High School

Salary: \$15.22/hr.

Stipend: \$700/yr. (prorated) Effective: July 1, 2020

From: Special Education Aide (Step 8/Level 12) Costigan, Frances

Gelinas Junior High School To: Special Education Aide (Step 8/Level 13)

Ward Melville High School Salary: \$16.87/hr.

Stipend: \$700/yr. (prorated) Effective: July 1, 2020

From: Special Education Aide (Step 3/Level 12) Curran, Jamie

Gelinas Junior High School

To: Special Education Aide (Step 3/Level 12)

Murphy Junior High School Salary: \$15.41/hr. Stipend: \$700/yr. (prorated) Effective: July 1, 2020

From: Special Education Aide (Step 3/Level 11) McDowell, Stephanie

Setauket Elementary School

To: Special Education Aide (Step 3/Level 12)

Murphy Junior High School Salary: \$15.41/hr.

Stipend: \$700/yr. (prorated) Effective: July 1, 2020

From: Special Education Aide (Step 4/Level 11) Reifenheiser, Jeaninne

Nassakeag Elementary School

To: Special Education Aide (Step 4/Level 11)

Minnesauke Elementary School

Salary: \$15.56/hr.

Stipend: \$700/yr. (prorated) Effective: July 1, 2020

From: Special Education Aide (Step 3/Level 10) Swiatocha, Teresa

Setauket Elementary School

To: Special Education Aide (Step 3/Level 13)

Ward Melville High School

Salary: \$15.41/hr.

Stipend: \$700/yr. (prorated) Effective: July 1, 2020

From: Special Education Aide (Step 3/Level 10) Zawada, Andrea

Setauket Elementary School

To: Special Education Aide (Step 3/Level 12)

Murphy Junior High School

Salary: \$15.41/hr.

Stipend: \$700/yr. (prorated) Effective: July 1, 2020

#### SUMMER RECREATION PROGRAM RETURNING STAFF

Last Name	First Name	Building	Effec- tive	Salary	Assign- Ment	<u>Position</u>	Fingerprints
New Staff							
*Beck	Mac- kenzie	Mount	7/6/20- 8/14/20	\$12.00	Half Day	Counselor	Fingerprinted
Budnick	Steven	Minnesauke	7/6/20- 8/14/20	\$12.00	Full Day	Counselor	WM HS Student
Catsoris	Fiona	Minnesauke	7/6/20- 8/14/20	\$12.00	Full Day	Counselor	WM HS Student
Corrado	Christina	Minnesauke	7/6/20- 8/14/20	\$12.00	Full Day	Counselor	WM HS Student
*Danon	Stncy	Minnesauke	7/6/20- 8/14/20	\$16.00	Full Day	Lead Counselor , Yoga	Fingerprinted
*DeRosa	Christina	Minnesauke	7/6/20- 8/14/20	\$13.00	Full Day	Counselor	Fingerprinted
Gennano	Gianna	Minnesauke	7/6/20- 8/14/20	\$12.00	Full Day	Counselor	WM HS Student
Gioffre	Kayla	Mount	7/6/20- 8/14/20	\$12.00	Half Day	Counselor	WM HS Student
*Kagiwada	Mark	Minnesauke	7/6/20- 8/14/20	\$13.00	Full Day	Counselor .	Fingerprinted
Mortilla	Kaitlyn	Minnesauke	7/6/20- 8/14/20	\$13.00	Full Day	Counselor	Fingerprinted

*Pirrung	Gabrielle	Minnesauke	7/6/20- 8/14/20	\$13.00	Full Day	Counselor	Fingerprinted
Riceardi	Jenna	Mount	7/6/20- 8/14/20	\$12.00	Half Day	Counselor	WM HS Student
Savicki	Danielle	Mount	7/6/20- 8/14/20	\$12.00	Half Day	Counselor	WM HS Student
Schneider	Anna	Mount	7/6/20- 8/14/20	\$12.00	Full Day	Counselor	WM HS Student
*Varacchi	Anthony	Mount	7/6/20- 8/14/20	\$13.00	Half Day	Counselor	Fingerprinted
*Varacchi	Michael	Mount	7/6/20- 8/14/20	\$12.00	Half Day	Counselor	Fingerprinted
Weinstein	Jake	Mount	7/6/20- 8/14/20	\$12.00	Half Day	Counselor	WM HS Student
*Williams	Connor	Minnesauke	7/6/20- 8/14/20	\$12.00	Full Day	Counselor	Fingerprinted
Wood	Megan	Mount	7/6/20- 8/14/20	\$12,00	Half Day	Counselor	Graduating Senior
*Pending fingerp	rint and backg	ground clearance.					
Returning Staff							
Beck	Jack	Minnesauke/ Mount	7/6/20- 8/14/20	\$12.50	Substitute	Substitute	Fingerprinted
Change in Status:	: Jack is no lo	nger working Re	creation, he	was approve	d on 6/24, pled	ise reniove	
Conie	Mark	Minnesauke	7/6/20- 8/14/20	\$13.50	Full Day	Counselor	Fingerprinted
Dargan	Kate	Minnesauke	7/6/20- 8/14/20	\$13.00	Full Day	Counselor	Fingerprinted
Grewal	Komal	Mount	7/6/20- 8/14/20	\$16.00	Half Day	Lead Counselor	Fingerprinted
Higgins	Jack	Mount	7/6/20- 8/14/20	\$12.00	Half Day	Counselor	Current WM Student
Lorenzen	Hannah	Mount	7/6/20- 8/14/20	\$13.50	Half Day	Counselor	Fingerprinted
Change in Status:	: Hannah is n	o longer working	Recreation,	she was app	roved on 6/24,	please remov	e
Marinus	Patricia	Міплезацке	7/6/20- 8/14/20	\$17.00	Full Day	Monitor	District Employee
Miller	Emily	Minnesauke/ Setauket	7/6/20- 8/14/20	\$16.00	Full Day	Lead Counselor	Fingerprinted
Change in Title: t counselor on 6/24		a lead counselor,	she was app	proved as a r	egular		
Mingrone	Ava	Mount	7/6/20- 8/14/20	\$12.00	Half Day	Counselor	Current WM Student
Change in Status.	: Ava is no lor	nger working Rec	creation, she	was approve	d on 6/24, ple	ase remove	
Morseman	Elizabeth	Minnesauke/ Mount	7/6/20- 8/14/20	\$13.50	Substitute	Substitute	Fingerprinted
Mortilla	Kaitiyn	Minnesauke	7/6/20- 8/14/20	\$13.00	Full Day	Counselor	Fingerprinted
Plate	Kyle	Minnesauke/ Mount	7/6/20- 8/14/20	\$13.00	Substitute	Substitute	Fingerprinted
Schriffen	Patrick	Minnesauke/ Mount	7/6/20- 8/14/20	\$13.00	Substitute	Substitute	Fingerprinted
Slack	Nathan	Minnesauke/ Setauket	7/6/20- 8/14/20	\$13.00	Substitute	Substitute	Graduating 2020
Change in Title:	Nathan will b	e a substitute, he	was approv	ed as a regul	ar counselor a	n 6/24	
Stack	Jake	Minnesauke/ Setauket	7/6/20- 8/14/20	\$12.00	Substitute	Substitute	Current WM Student
Change in Title:	Jake will be a	substitute, he wo	as approved	as a regular	counselor on t	5/24	
Smith	Nicholas	Mount	7/6/20- 8/14/20	\$13.50	Half Day	Counselor	Fingerprinted

Vilceus Gamaeel WMHS 7/8/19- 1/13/190 Full Day Counselor Fingerprinted

\*Hourly rate is subject to change at the 7/8/20 BOE Reorganization meeting.

# SUMMER ESY PROGRAM APPOINTMENTS

Last Name	First Name	Building	<u>Effective</u>	<u>Title</u>	Rate
*Pav	Mark	Arrowhead	7/6/20-8/14/20	SEA	\$17.00/hr
*Mr. Pav's appointment is conditional on background clearance.					
*Crepeau	Tara	Mount	7/6/20-8/14/20	SEA	\$17.00/hr
*Ms. Crepeau was previously approved on 6/24/20 as an ESY sub. This is to change her position.					
*Goode	Karen	Arrowhead	7/9/20-8/14/20	Sub SEA	\$13.00/hr

<sup>\*</sup>Ms. Good was previously approved on 6/24/20 as an ESY SEA. This is to change her position.

#### AMENDMENT/REVISION

#### Clerical

Koepplin, Margaret

Status: Principal Office Assistant (Confidential) Amendment/Revision: Retirement Effective Date Date of BOE Approval: June 24, 2020

Ms. Koepplin's retirement date was reported as June 29, 2020, but the correct date is June 30, 2020

#### Custodial

Charpin, Alex

Status: Custodial Substitute (IT intern)

Amendment/Revision: Relationship to employee

Date of BOE Approval: June 24, 2020

Mr. Charpin was incorrectly noted as being the son of Tammy Dalton. He is not related to any current employee.

Szczepaniak, Kevin

Status: Custodial Worker II (Step 12/Level 2)
Amendment/Revision: Retirement Effective Date

Date of BOE Approval: June 24, 2020

Mr. Szczepaniak's retirement date was reported as June 29, 2020, but the correct date is June 30, 2020.

On motion by Mr. Kornreich, seconded by Mrs. Gische, and carried by a 6-0-1 vote with Ms. Germano abstaining, the Board approved the resolution as presented.

Recommendations of Committee on Special Education, Sub-Committee and

Accommodation 504 Plan Meetings of: February 26, 28, March 25, April 16, 17, 21, 22, 23, 24, 28, May 1, 5, 6, 13, 14, 20, 27, 28, 29, June 4, 8, 10, 11, 12, and 15, 2020

Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education, through the administration, arrange for the provision of the appropriate special education programs and services for students enumerated in the report of the Committee on Special Education.

On motion by Mrs. Gische, seconded by Mr. Kornreich, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Recommendations of Committee on Preschool Special Education Meetings of June 16, 23 and 25, 2020 Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education, through the administration, arrange for the provision of the appropriate special education programs and services for students enumerated in the report of the Committee on Preschool Special Education.

On motion by Mrs. Gische, seconded by Mr. Komreich, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

<sup>\*</sup>Hourly rate is subject to change at the 7/8/20 BOE Reorganization meeting.

INFORMATIONAL ITEMS OF INTEREST PUBLIC PARTICIPATION

Mr. Kornreich spoke regarding the School Reopening Task Force.

Sharoui Li, David McKinnon, Claudia Reinhart, and Barbara Rosati spoke regarding the recent election of school board members.

Ms. Germano read public comment submitted by Valerie Briston, Melinda Seeley, and Daniel Koranyi.

ADJOURNMENT

There being no further business to be conducted, motion was made by Mr. Connors, seconded by Mrs. Gische, and carried by a 7-0-0 vote, to adjourn the meeting at 8:20 p.m.

Respectfully submitted,

Kathleen Sampogna District Clerk